} blue
< ascend
hydraulics

technical catalogue
teknik katalog

blueascend.com



} blue
< ascend
hydraulics

Every Machine Deserves High Efficiency
Her Makine Verimliligi Hak Eder



hydraulics



N .. o
\ \ Hydraulic Gear Pumps
Hidrolik Disli Pompalar




www.blueascend.com

1. GENEL BILGILER

Blue Ascend disli pompalar yiiksek mukavemetli aliminyum
alasimli gévde ekstrizyon/dokim ve U¢ ana parcadan meydana
gelmektedir.

Bu pompalar, yiiksek performansi ve uzun calisma 6mri ve disiik
satin almadan dolayr modern hidrolik sistemlerde genis bir sekil-
de kullanilmakta ve farkli iletim hacmi ve farkl disli genislikleri ile
standart pompa grubunda yer almaktadirlar. Daha fazla konfigi-
rasyon varyantlar icin farkli flans ve disliler ve coklu pompa kombi-
nasyonlari mimkin olacaktir.

2. KONSTRUKSIYON

Disli pompalar genel olarak aluminyum/dékim gévde, bir cift disli,
iki burg yatak, 6n kapak ve arka kapaktan olusur. Tahrik eden mil
on kapaktan gecerek saft kegesi ile kecelendirilmistir. Yatak kuv-
vetleri, 6zel yatak esnekligi ile temas hatti yerine, ylizey temasi
Uretmek icin burg tarafindan absorbe 6zelligi vardir. Ayrica disik

hizlarda mikemmel direng saslar. Debi pulsasyonu ve giriilti se-
viyesi minimuma indirilmistir.

Burg i¢ sizdirmazlik keceleri (izerinde basinca bagli olarak kuvvet-
ler elde edilir ve bu optimum verimliligi saglar.

Aksi belirtilmedikce, keceler yiiksek cekme mukavemetine ve si-
cakliga dayanikli nitril kaucuk (NBR) olacaktir. istenilmesi duru-
munda viton keceler kullanilacaktir.

% &\\\f

VN

\

i
N
i

Govde /Body

Tahrik Eden Digli /Drive Gear
Tahrik Edilen Disli /Driven Gear
Burc /Bushing

On Kapak /Front Cover

1.
2.
3.
4.
5.

blue
ascend
hydraulics

-
GENEL BILGILER @?l\
GENERAL INFORMATION

1. GENERAL INFORMATION

Blue Ascend external gear pumps are built in three main pieces
with an in high resistance aluminium alloy extruded /cast iron
body. These external gear pumps are widely used in modern hyd-
raulic systems due to their long service life and high performance.
Blue Ascend external gear pumps are available as standard gear
pump with different displacement and gear widths. Further confi-
guration variants are given by different flanges, shafts, and multip-
le pump combinations.

2. CONSTRUCTION

The external gear pump consists of an aluminium/cast iron body,
a pair of gears supported in bearing bushings and a front and a
rear cover. The drive shaft protrudes from the front cover where
it is sealed by the shaft seal ring. The bearing forces are absorbed
by special bearing bushings with sufficient elasticity to produce
surface contact instead of line contact. They also ensure excellent
resistance to galling especially at low speed. Flow pulsation and
noise emission decrease to a minimum level. The internal sealing is
achieved by forces which are proportional to delivery pressure. Un-
less otherwise specified, the seals are in nitrilic compound (NBR)
offering high mechanical strength and heat resistance. Viton seals
are available on request.

Arka Kapak /Rear Cover

Saft Kecesi /Shaft Seal

Takviye Kecesi /Back Up Seals

Bur¢ Kulak Kegesi /Bush Lobe Seals
. Gévde Kecesi / Body Seals

REV.AG 17 /09.15 | 7 I




g blue
<> ascend
hydraulics

TEKNIK BILGILER
TECHNICAL INFORMATION

3. POMPA DONUS YONU
Pompanin 6n tarafindan bakildiginda ve tahrik eden disli asagiya
gelecek sekilde pompa doniis yoni belirlenir.(sekillere bakiniz).

Sag donisli pompalarin(C) tahrik eden dislisi saga (saat yontnde)
donecek, emis deligi sagda ve basing deliSi solda olacaktir.

Sol déniislt pompalarin(A) tahrik eden dislisi sola (saat yéniniin
tersine) dénecek, emis deligi solda ve basing deligi sagda olacaktir.

Resimlerde gorildugu gibi yasg, emis deligi tarafindan alinarak dis-
liler vasitasi ile ¢ikis portuna transfer edilmektedir.

Sag Donusli Pompa
Clockwise Rotation

ORI

3. PUMP DIRECTION OF ROTATIONS

The direction of rotation of a gear pump is identified by looking at
the pump from the front coverside and with the drive gear turned
down (see figures below).

Pumps with clockwise rotation (C) have a drive gear which turns
clockwise, with the suction port on the right and the pressure port
on the left.

Pumps with counter-clockwise rotation (A) have a drive gear which
turns counter-clockwise, with the suction port on the left and the
pressure port on the right.

The figure also shows the pressure flow inside the pumps as the
oil is transferred from the suction port to the pressure port by the
gears.

Basing Davranis
| Pressure Behavior

Emis

Sol Dénusli Pompa
Counter-clockwise Rotation

I 8 | REV.AG 17/09.15

Basing '
Pressure 1 Suction

Basing Davranis
[ Pressure Behavior

Emis
Suction

=

' Basing
I Pressure




www.blueascend.com

4. POMPANIN BAGLANMASI

Pompalar, 2 veya 4 civata ve merkezleme capi ile basit olarak 6n
kapaktan baglanirlar. Merkezleme capinin oturacagi yuvanin kul-
lanici tarafindan yapilacak kisimda 1x450 pah kirilarak kaygan
gecme toleranslarinda islenmesi, pompanin yerine daha hassas
gecmesini saglar. En az titresim icin, rijit yapilan giris ¢ikis bas-
lamalari yerine, hidrolik hortumlarla yapilacak baglamalar tercih
edilmelidir.

5. POMPANIN EMISI

isletme sartlarinda basing diisiimiini énlemek icin uygun boyutta
filtre kullanilmasi tavsiye edilir. Emis basinci (absolute) 0,75 (bar)
dan kiguk olmalidir. Tavsiye edilen pompa yag emis hizi V= 0,6/1,2
m/s olmalidir.

6. POMPANIN CIKISI

Pompa cikis hatti calisma basincini sinirlayan bir emniyet valfi ile
korunmalidir. Cikis boru biylkligy, akis hizi, giriiltd, agir basing
diismeleri ve Isinmayi minimize edecek sekilde belirlenmelidir. Akis
hizi, normal olarak 5m/s 'in altinda kabul edilebilir.

M1 M

0. blue
TEKNIK BILGILER égb ascend

TECHNICAL INFORMATION | h ydraulics

4. PUMP MOUNTING

The pumps are easily mounted from the flange with the help 4 or
2 bolts and the spigot location. The counter bore to receive the
mounting flange spigot should have a 1 mm chamfer at 45 on the
pump side to ensure proper fitting. It is good practice to use flexib-
le hose adjacent to the pump in both the suction and pressure lines
to minimize vibration, which can be transmitted to the pump by
rigid pipe runs.

5. PUMP SUCTION

It is also advisable to choose a filter of a suitable size to minimize
any pressure drop and to take measures to prevent gradual clog-
ging over time. The suction port pressure must be lower than 0,75
bar. The diameter of the suction pipe should ensure that the oil
speed within the range from V= 0,6 to 1,2 m/s.

6. PUMP OUTLET

The pump outlet line should normally be protected by a relief valve
to limit the working pressure. The outlet pipe sizes should be cho-
sen so it's minimizing flow velocity, avoiding system noise, minimi-
zing excess pressure drops and overheating. The flow rate under 5
m/s is normally acceptable.

Sekil 1 - Figure 1

Bir disli pompanin émri yag icindeki yabanci maddelerin varligi-
na baglidir. Bu nedenle pompa ve sistemin dmrinid uzun kilmak
iyi bir filtreleme ile mimkinddr. Her durumda filtreleme sistemi
yag kirliligini asagidaki tabloda verilen degerlere esit veya altinda
tutmasini saglamalidir.

Kirlilik sinifi
Contamination class NAS 1638

A short service life of a gear pump is normally due to the presen-
ce of impurities in the oil. That is the reason an effective filter in
the system to carry out regular maintenance get the system life
longer. In any case,the filtering system must constantly ensure an
oil contamination class equal to or less than those shown in the
following table.

Calisma basinci
Operating pressure > 170 bar <170 bar

Kirlilik sinifi
Contamination class ISO 4406

Filtre
Obtain with filter—>

(Bx=75)

9 10
18/15 19/16
20 25

REV.AG17/09.15 | 9 I




@9 blue
<> ascend
hydraulics

TEKNIK BILGILER
TECHNICAL INFORMATION

7. TAVSIYE EDILEN YAG

Bitln hidrolik sistemlerde ISO/DIN ve SAE standartlarinda belirti-
len mineral esasli hidrolik yag kullanilmasi tavsiye edilir. Tavsiye
edilen viskozite araligi 20/120 (cSt) ve 700 (cSt)'ye kadar miisa-
ade edilebilir.

8. CALISMA SICAKLIGI

Bu pompalarda ¢alisma sicaklig;

* NBR keceler icin 0 C ile +80 C arasinda devamli ve

-20 Cile +100 C aralikli,

* Viton kegeler icin 0 C ile +100 C arasinda devamli ve -20 Cile +
120 C arasinda aralikli olarak calisirlar.

9. KAVITASYON

Modern hidrolik sistemlerde kullanilan yagin biiyiik ¢cogunlugunda
hacimsel olarak yaklasik %10 oraninda ¢éziinmiis halde hava var-
dir. Sistem icinde belirli vakum sartlarinda bu hava yagdan ayrisir
ve hava kabarciklari olusturur. Bu hava cepleri belirli basinglarda
parcalanarak temasta oldugu malzemeyi asindirarak zarar verir.
Yukaridaki aciklamalardan da anlasilacag Gzere yagdaki hava ora-
ni ne kadar biyiikse yapacag asinma da o derece biiyiik olacaktir.
Yagdaki asirt hava oraninin en biiyiik sebebi 6zellikle pompa giri-
sindeki hava emisini doguran kacaklar ve uygun olmayan boru bi-
yiklikleri, koseli baglantilar, ani kesit deSismeleri gibi hususlarin
olusturdugu akis hatti direncleridir

I 10 | REV.AG 17/09.15

ORI

7. RECOMMENDED FLUIDS

We recommend using only mineral oil based hydraulic fluids that
comply with the ISO/DIN or SAE standards. Recommended viscosity
range is 20/120 (cSt) and permitted up to 700 (cSt).

8. OPERATION TEMPERATURE

* Operation for NBR seals between 0 C and +80 C continuously, and
between -20 C and +100 C intermittent,

* For viton seals between 0 C and + 100 C continuously and betwe-
en -20 Cand + 120 C intermittent.

9. CAVITATION

Hydraulic oil used in the majority of systems contains about 10%
dissolved air by volume. This air under certain conditions of vacu-
um within the systems is released from the oil and will cause air
bubbles.

These air pockets collapse if then subjected to pressure and this
collapse creates erosion of the adjacent metal. It is obvious from
the above that the greater the air content within the oil is then the
more severe will be the resultant erosion created. The main causes
of over aeration of the oil are air leaks particularly on the inlet side
of the pump, and flow line restrictions such as inadequate pipe
size, elbow fittings and sudden changes in flow line cross sectional
area.



www.blueascend.com

10. TAHRIK §EK]LLERi

Elastik kaplinler radyal ve eksenel yiik tasimazlar. Eksenel ve rad-
yal yonde minimum 0,25 mm boslugu olan bir kaplin secilmelidir.
Uc parcali elastik kaplinler tavsiye edilir (sekil 2).

TEKNIK BILGILER
TECHNICAL INFORMATION

@Q blue
<> ascend
hydraulics

10. DRIVE ARRANGEMENTS

The flexible coupling does not transfer any radial or axial force to
the pump. A coupling with a minimum clearance of 0,25 mm in the
axial and radial direction should be chosen. A three pieces flexible
couplings are recommended see fig 2.

Sekil 2 - Figure 2

11. ON YATAKSIZ, KAYIS VE Di$Li ILE TAHRIK
V kayisi veya dis tahrik dislisi ile pompa tahriki 6nerildigi zaman 1
asagidaki uygulama detayina bakiniz (sekil 3).

11. V-BELTS AND GEAR WHEELS WITHOUT
OUTBOARD BEARING
When proposing to use V-belt or gear drive, please see fig 3.

Sekil 3 - Figure 3

12. ON YATAK

On yataksiz pompalar, V kayisi ve dis disli ile tahrik edildigi zaman,
cikabilecek muhtemel problemler karsisinda 6n yatak kullanilmak-
tadir.

12. OUTBOARD BEARING
Outboard bearings eliminate possible problems when the pumps
are driven by V-belts or gear wheels.

REV.AG 17/09.15 | 11 I



@Q blue -
> ascend | TEKNIK BILGILER
hydraulics TECHNICAL INFORMATION

13. COKLU TAHRIK EDEN DiSLI POMPALAR

Tahrik eden disli milleri uzatilarak disli pompalarin ikili veya tgli
pompa kombinasyonlarini yapmak mimkindir. Tahrik kaplini,
pompalarin iki disli arasina yerlestirilmektedir. Pompa emis portla-
r birbirinden ayri oldugu gibi, ortak emis yapmak da mumkindir.
Basing, tahrik eden disli saft mukavemetine gére sinirlandiriimistir.
Uygun degerler resimler Gzerinde verilmistir.ESer 6ndeki pompanin
tahrik eden dislisi kesikli saftli ise on yatak kullanilmalidir. Pompa-
larin basing sinirlamasi asagidaki formiile gore olacaktir.

VORADLIC

13. MULTIPLE GEAR PUMPS

Gear pumps are well-suited to tandem or triple combination of
pumps in which the drive shaft of the first pump is extended to dri-
ve a second pump and sometimes third pump in the same manner.
A coupling is fitted between each pair of pumps. The pressures are
restricted by the strength of the drive shaft. Appropriate data is
given in the dimensional drawings below. If the first stage of the
pumps driven gear is getting the power through a tang drive shaft
and outboard bearing must be used. The pressure limitations will
be according to the table below.

PV,

L0

P1.Vi

RV, RV,

P2.Vz2 P3Vs

Mmax=

2nnm 2.mnm 2.mnm

I 12 | REV.AG 17/09.15



www.blueascend.com

14. VALFLI POMPALAR

Hidrolik direksiyon veya diger uygulama sistemlerinde pompalarin
arka kapagina akis kontrol valfi, akis bélucu valf, yuk duyarli valf
veya emniyet valfini uygulamak mimkindur. Akis kontrol ve akis
bélici valflerde, pompanin her devrinde debi sabit olacaktir. Fazla
debi kapagin icinde tekrar emis tarafina ge¢gmekte veya baska bir
ekipmanda kullanilmak tzere valfin disina alinabilmektedir.

D|

- .. blue
TEKNIK BILGILER | % ascend

TECHNICAL INFORMATION | h ydraulics

14. GEAR PUMPS WITH INTEGRAL VALVES

It is possible to apply a flow control valve, flow divider valve, load
sensing valve or relief valve in the rear cover of the gear pump. On
the flow control valves and the flow divider valves, the flow rate
must be fixed at all speed of the pumps. The excess flow is either
returned internally to the suction port or distributed externally to
other items.

sabit sabit sabit

-— — =

cons cons cons

- —+4=

e I R S

Akis Kontrol Valfi Akis Bolicu Valf Emniyet Valfli Akis Kontrol Valfi
Flow Control Valve Flow Divider Valve Flow Control Valve With Relief Valve

Yk Duyarli Valf
Load Sensing Valve

I e

Emniyet Valfi
Relief Valve

REV.AG17/09.15 | 13 I



@Q blue -
> ascend | TEKNIK BILGILER
hydraulics TECHNICAL INFORMATION

15. POMPA HESAPLARI

Pompa dizayn hesaplarinda asagidaki parametreler esas alinir.

V(cm3/ dev) : lletim Hacmi

VORAVLC

15. CALCULATION THE SPECIFICATION OF A GEAR PUMP
The design calculation for pumps are based on the following
parameters.

V(cm3/ rev) : Displacement

Q(lt/dak) : Debi Q(I/min) : Flow Range
P(bar) : Basing P(bar) : Pressure
M(Nm) : Dondlrme Torku M(Nm) : Drive Torque
n(d/d) : Hiz n(rpm) : Speed
N(kw) : Glg N(kw) : Power
nv(%) : Volumetrik Verim nv(%) : Volumetric Efficiency
nm(%) : Mekanik Verim nm(%) : Mechanical Efficiency
nt(%) : Toplam Verim nt(%) : Total Efficiency
FORMULLER
FORMULAS
Q
P Q= Yoog ‘v N= ES(?O—[;‘C
N{;\]A v \_159.V.P o mm
nm

Tavsiye Edilen Verim
Recommended Efficiency

I 14 | REV.AG 17/09.15

v = %95
nm= %87 - %90
Nt = %82



0. blue
~%5 ascend
hydraulics

KODLAMA SISTEMI

www.blueascend.com ORDERING CODE

AP10 POMPALARIN KODLAMA SISTEMI
ORDERING CODE OF AP10 PUMPS

030/030/030

. N B @ BH

Tekli
Single
Tandem
Tandem

Aluminyum Gévdeli Duz Digli Pompa
Aluminium Body Gear Pump

Kege / Seal
N NBR
Vv Viton

lletim Hacmi / Displacement
cmdev (cm¥rev)
009 = 0,9 cm?®/dev (cm? /rev)
012 = 1,2 cm®/dev (cm? /rev)
017 =1,7 cm®/dev (cm? /rev)
023 = 2,3 cm?® /dev (cm? /rev)
027 = 2,7 cm® /dev (cm? /rev)
032 = 3,2 cm®/dev (cm? /rev)
)
)
)
)

Arka Kapak / Rear Cover

038 = 3,8 cm? /dev (cm? /rev
043 = 4,3 cm® /dev (cm? /rev
050 = 5,0 cm?® /dev (cm? /rev
059 = 5,9 cm? /dev (cm? /rev
063 =6,3 cm?® /dev (cm? /rev)
078 = 7,8 cm®/dev (cm? /rev)
095 = 9,5 cm? /dev (cm? /rev)

Standart
Standard

Donis Yonu / Rotation
A = Sol donus / Counter-clockwise

C = Sag donus / Clockwise

Tahrik Safti / Drive Shaft Giris - Cikis Delikleri / Inlet and Outlet Ports

On Kapak / Front Cover

- Kodlama Ornegi (Tekli) ; AP10.030.CABO1SN

Code Example (Single)

Dikdértgen kapak P Konik - Kamali 1:5 GI;H Kare tip
Square flange ©25,38 mm . Tapered key shaft " Rectangular
2 Civatali - Merkezleme @ | 9 Konik - Kamali 18 EE} [T T[ Metrik dis
2 Bolts - Centering @32 mm & Tapered key shaft ’ =||||| ISO 6149 thread
fg] 2 Civatall - Merkezieme ve Oringli N [E] Kesik saftl % Al Borudis
2 Bolts - Centering with Oring @32 mm Q@ Tang Drive Shaft =||||| Pipe thread
2 Civatali - Merkezleme Paralel saft ~ \=’
F 2 Bolts - Centering @32 mm g@ Parallel shaft \
Dikdortgen kapak |
Square flange @30 mm Eg
Dikdortgen kapak 7
Square flange 236,47 mm ,

- Kodlama Ornegi (Tandem) ; AP10.030/030/030.CABO1SN-T
Code Example (Tandem)

REV.AG 17/09.15 | 15




_. blue
> ascend
hydraulics

O‘/

ON KAPAKLAR

FRONT COVERS

GROUP 10

Y DRAULIGE

BIEAIR
UMIPS

o7 68,4
4 Eg:ﬁs\ 16 2xM8-10.9 16
Vs @9
7 2 Delik I
A Holes
=1
o 5
B g o 3 5 g
— B s 2 —P-.
[ — 3 g _H=R-<3
o w
o & 8 g g
2k : —
< 5
| 5 -0,
52,4
62 1.0
16
2xM8-10.9 o7
Pz 29 4 Delik 68,4
2 Delik Ho\es\ 16
Holes |
O-Ring 29x@2,00 \ [
4 : i
= 5 !
S| 88 P
— | & | 59 ~ o 2
Q o) o ] 8
N [ 2 S|
g & - =B
2
8
1,9
2,6 +0,2 :| 5,
75 7 20,1
E 16, m
16
2xM8-10.9 0 —
~
2 Delik
Holes 1
0-Ring 29x@2,00 N ‘+
)/ ' o
s = &
5 R
3l 5s o ? S
> 88
— -3l Y | < g — - J N i Q
(S Q ] o ©
Q Q # N 7 8
IO —
P
——— © ‘ g
] 1,9 ' —
40
2,6 +0,2 ] 45
62 110 5 -
7,5 7 £0,1

I 16 | REV.AG 17 /09.15



www.blueascend.com

GROUP 10

SAFT & DELIK TIPLERI
SHAFT & BODY HOLE TYPES

blue

-
éy«\ascend
hydraulics

GRUP 10 SAFT TIPLERI / GROUP 10 SHAFT TYPES

Sikma torku
Sikma torku Tighten torque
26 Tighten torque 29 7Nm
7Nm
8,0 8,85
N g /s
w» © < } b")
= ) * T
a 2,0 -0,025 J_' L5
2,41-0,025
Ay kama Ay kama
— Woodruff ke
M6x1 oodrult key Méx1 Woodruff key
! Ref. Cap : 9,35
| Ref. cap(dia):10 Ref. diameter
Ref. diameter
— Koniklik : 1/8
L_ Koniklik : 1/5 Taper
Taper
34
2
18 3
4,8 +0,1 -
ha
/ n o ] ‘2
2 S S
S 9 1202
ini A
A
z =K
P 1
g S Q 3,2 -0,02
S 2, i 2
Q . ol
Kaplin ha Diiz Kama
Coupling Square key

Ex16 Derinlik
Depth

Kare Tipi Flang

Rectangular Flange
N lletim Hacmi
3"’af'$ Gl Displacement
Ordering Code cm¥/dev (rev)

[ o]

0,9-9,56

Emis Tarafi Basing Tarafi
Suction Side Pressure Side
L c | ol E o [ d [ o |

6 | 12 | 30 | me |

lletim Hacmi
Displacement

03 Metrik dis / Metric Thread
1S0228/1
Sipari
Orderil

Emis Tarafi
Suction Side

cm?3/dev (rev) “—

lletim Hacmi

Basing Tarafi
Pressure Side

is Kodu
ng Code
3

180228/1

09-38

0,9-38 M18x1,5

0 13 0,9-95 13
43-95 M 22x1,5

Boru dis / Pipe Thread

Siparis Kodu lletim Hacmi Emis Tarafl
Orc‘ljerir? Code | Displacement Suction Side
il et e

M14x1,5
lletim Hacmi

Basing Tarafi
lacement | Pressure Side
1 e

G 3/8"

G 3/8"

05
43-95

13

G 1/2" G 1/2"

1,0-45 ‘ 13

REV.AG17/09.15 | 17 I



@Q blue
<> ascend
hydraulics

30

25

N
o

Debi (It/dk)
Flow range (I/min)
=
ul

—
o

TEKNIK

TECHNICAL DATA

OZELLIKLER

GROUP 10

AP10 TEKNIK OZELLIKLER / AP10 TECHNICAL DATA

Pompa Tipi
Pump Type

o |
s |
oo |
oo |

AP10.078
AP10.095

Maks. Basing / Max. Pressure

BEAIR

AV DRAULIGpuages

letimHacmi | Meke.Basmg /Max Pressure | waks, iz | Min. Hiz
el Max. Speed | Min. Speed
eSS | e | Gamn
0,9 220 240 250 4000 650
1,2 220 240 250 4000 650
1,7 220 240 250 4000 650
2,3 220 240 250 4000 650
2,7 220 240 250 4000 650
3,2 220 240 250 4000 650
338 220 240 250 3500 650
43 220 240 250 3500 650
5,0 220 240 250 3500 650
5,9 220 240 250 3500 650
6,3 220 240 250 3500 650
7.8 210 230 240 3500 650
9,5 200 220 230 3500 650
P2 : Aralikli calisma basinci P3 : Ani basing

P1: Surekli calisma basinct
Continuous pressure

Intermittent pressure

Peak pressure

AP10 POMPALARIN DEBI EGRILERI / FLOW CURVES OF AP10 PUMPS

9,5 cc

7,8 cc

6,3 cc
5,9 cc

5,0 cc

4,3 cc
3,8 cc

3,2 cc
2,7 cc
2,3 cc

/
————

|

/
—
—

1,7 cc

1,2 cc
0,9 cc

50

o

10

I 18 | REV.AG 17/09.15

00 15

00

2000

3000

Devir (d/d)
Speed (rpm)



WWW.blueascend.com

On Kapak
A Front Cover

A 04

blue
DiSLI POMPALAR y«b ascend

AP10 GEARPUMPS | hydraulics

Saft Tipi
Shaft Type

29 o7 68,4

16

73
|
I

36,5
amma

|
|
8,85 Sikma torku >—%|I-> - ! - Ei—)\
|
|
|
!

Tighten torque |
7Nm \

57

/

71,9
87,9

T

25,38 -0,05

Ex13 Derinlik
Depth

Pompa Tipi
Pump Type

AP10.009.A/CABO1SN 0,9

AP10.012.A/CABO1SN

AP10.017.A/CABO1SN

AP10.023.A/CABO1SN

AP10.027.A/CABO1SN

AP10.032.A/CABO1SN

AP10.038.A/CABO1SN

AP10.043.A/CABO1SN

AP10.050.A/CABO1SN

AP10.059.A/CABO1SN

AP10.063.A/CABO1SN

AP10.078.A/CABO1SN 7,8
AP10.095.A/CABO1SN 9,5

iletim Hacmi
Displacement

401

Max. Pressure | Max. Speed

— Koniklik : 1/8

34,2
26,2

|~M6x1

I-Ref. Cap : 9,35 &

Ref. diameter

Taper

Ay kama
Woodruff key

Maks. Basing Maks. Hiz n Giris — Inlet Cikis - Outlet
Axo4

e [alelefele]

cm¥dev(cmrev) (CED) d/d (rpm)
34,9 78,1
1.2 355 | 793
1,7 36,5 81,3
4000
23 37,5 83,3
2,7 38,5 85,3
3,2 220 39,3 86,8
3,8 40,5 89,3 12 30 M6 12 30 M6
43 41,5 91,3
5,0 43,0 94,3
5,9 3500 44,8 97,8
6,3 45,5 99,3
210 48,5 105,3
200 52,0 112,3

REV.AG17/09.15 | 19 I



égb gls%een DISLI POMPALAR @EAR
hydrauli ccz GEAR PUMPS AP10 Hﬂv@w &H P@MP%

On Kapak A Saft Tipi

Front Cover Shaft Type WY B |
K I
B
A 04 26
16
2xM8-10.9
& a9 '
8 Sikma torku 2 Delik
Tighten torque Holes
7Nm
E[ SR
T T 2
. ST B | e : .
L N % | S 3 %)
et | —Ht 5 i
[} 0 n
M6x1 —
LC_|
D 5-01
Ex13 DerinAik Ref. C 10
Dept -Ref. Cap :
P Ref. diameter %
<
— Koniklik : 1/5
Taper

Ay kama
Woodruff key

Pompa Tipi
Pump Type

iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
©

cm¥dev(cmrev) (CED) d/d (rpm)

AP10.012.A/CBAO1SN 1,2 355 | 793
AP10.017.A/CBAO1SN 1,7 365 | 813
—— 4000
AP10.023. A/CBAO1SN 2,3 375 | 833
AP10.027.A/CBAO1SN 2,7 385 | 853
AP10.032.A/CBAO1SN 3,2 220 393 | 868
AP10.038.A/CBAO1SN 3,8 405 | 893 | 12 | 30 M6 12 30 M6
AP10.043. A/CBAO1SN 43 415 | 913
AP10.050.A/CBAO1SN 5,0 430 | 943
AP10.059.A/CBAO1SN 59 3500 448 | 97,8
AP10.063.A/CBAO1SN 6,3 455 | 99,3

AP10.078.A/CBAO1SN 7,8 210 48,5 105,3
AP10.095.A/CBAO1SN 9,5 200 52,0 112,3

I 20 | REV.AG 17/09.15




blue
DiSLI POMPALAR y«b ascend

www.blueascend.com AP10 GEARPUMPS | hydraulics

C On Kapak = Saft Tipi |
Front Cover Shaft Type |
B
A z04
16
4,8 +0,1 ZXMB;PS @9
2 Delik
Holes
| n o O
- 283
- ' n S
gl |
AN o =
. 14 Ted o :
e 17 S o~ S °
V4 Q| o) o~ ]}
n (V] ™M o
< E Q Q U*;
(2] 2 g (.L%
o
L 9 O-Ring 29x@2,00 “ =
CxD
2,6 +0,2
7,5 7 0,1

Pompa Tipi
Pump Type

Displacement | Max. Pressure | Max. Speed Azos “--
@

cm¥dev(cmrev) (CED) d/d (rpm)

iletim Hacmi Maks. Basing Maks. Hiz n Giris — Inlet Cikis - Outlet
78,1

AP10.009.A/CCEO5SN 0,9 34,9 i
AP10.012.A/CCEO5SN 1,2 355 79,3
AP10.017.A/CCEO5SN 1,7 36,5 81,3
] 4000
AP10.023.A/CCEO5SN 2,3 37,5 83,3 G3/8" G3/8"
AP10.027.A/CCEO5SN 2,7 38,5 85,3
AP10.032.A/CCEO5SN 3,2 220 39,3 86,8
AP10.038.A/CCEO5SN 3,8 40,5 89,3 13 13
AP10.043.A/CCEO5SN 4,3 41,5 91,3
AP10.050.A/CCEO5SN 5,0 43,0 94,3
AP10.059.A/CCEO5SN 59 3500 44,8 97,8
G1/2" G1/2"
AP10.063.A/CCEO5SN 6,3 45,5 99,3

AP10.078.A/CCEO5SN 7,8 210 48,5 105,3
AP10.095.A/CCEO5SN 9,5 200 52,0 112,3

REV.AG 17 /09.15 | 21 I



égb gls%een DISLI POMPALAR @EAR
rpdrautics | ceraed | asto TYORAULIG pusirs

L On Kapak Saft Tipi
Front Cover Shaft Type

A 04 29 a7

16 Holes_\
8,85 Sikma torku ?g_)_

|
i
\
Tighten torque ! i !
|

7Nm

e:,)_
57

36,5
Amma (1
BoH
_®_ | -
]
|
!
-0,025
230 -0,050
24,5

—
=
I
<4
32

87,9

73

5-01
Ex13 Derinlik N}
Depth I-Ref. Cap : 9,35 o
P Ref. diameter p%
3
— Koniklik : 1/8 193]
Taper
2,41
Ay kama

Woodruff key

Displacement | Max. Pressure | Max. Speed

Pompa Tipi lletim Hacmi Maks. Basing Maks. Hiz

Pump Type cm/devicmirev) | (bar) d/d (rpm) ““
AP10.009.A/CLB0O3SN 0,9 34,9 78,1
AP10.012.A/CLBO3SN 1,2 355 79,3
AP10.017.A/CLBO3SN 1,7 36,5 81,3

] 4000
AP10.023.A/CLBO3SN 2,3 37,5 83,3 M18x1,5
AP10.027.A/CLBO3SN , 38,5 85,3
AP10.032.A/CLBO3SN 220 39,3 86,8
AP10.038.A/CLBO3SN 40,5 89,3 13 M14x1,5 13
AP10.043.A/CLBO3SN , 41,5 91,3
AP10.050.A/CLBO3SN 43,0 94,3
AP10.059.A/CLBO3SN 3500 44,8 97,8
M22x1,5

AP10.063.A/CLB0O3SN , 45,5 99,3
AP10.078.A/CLBO3SN 210 48,5 105,3
AP10.095.A/CLBO3SN 200 52,0 112,3

I 22 | REV.AG 17/09.15



WWW.blueascend.com

F

AP10

Pompa Tipi

Pump Type

AP10.009.A/CFEO5SN

AP10.012.A/CFEO5SN

AP10.017.A/CFEO05SN

AP10.023.A/CFE05SN

AP10.027.A/CFEO5SN

AP10.032.A/CFEO5SN

AP10.038.A/CFEO5SN

AP10.043.A/CFEO5SN

AP10.050.A/CFEO5SN

AP10.059.A/CFEO5SN

AP10.063.A/CFEO5SN

AP10.078.A/CFEO5SN

DISLI POMPALAR y«b

GEAR PUMPS

On Kapak E Saft Tipi
Front Cover Shaft Type
B
A 04
16
4,8 0,1 2xM8-10.9
] 589
- ? 3 g
- N
3 Y -
7 o o :
4 —-L-@-Al4 = B
e 17 Sl o~ 59 2
| Q| o] N 1]
n o ™ 9
i [ g & ]
|
&
1,9 0-Ring 29x@2,00
CxD
2,6 +0,2
7,5 7 £0,1

hydraulics

blue
ascend

29
2 Delik
Holes

40

10,35

Giris — Inlet Cikis - Outlet

lletim Hacmi Maks. Basing Maks. Hiz
Displacement | Max. Pressure | Max. Speed
cm3dev(cm3rev) (bar) d/d (rpm) c c
0,9 349 | 781
1.2 355 | 793
1,7 36,5 81,3
4000
2,3 37,5 83,3 G3/8" G3/8"
38,5 85,3
220 39,3 86,8
40,5 89,3 13
41,5 91,3
43,0 94,3
3500 44,8 97,8
G172" G1/2"
45,5 99,3
210 48,5 105,3
200 52,0 112,3

AP10.095.A/CFEO5SN

REV.AG 17/09.15 | 23 I



0. blue
~%5 ascend
hydraulics

KODLAMA SISTEMI
ORDERING CODE

W RAULIGR

BIEAIR
UMIPS

GRUP 20 POMPALARIN KODLAMA SISTEMI

Pompa Tipi / Pump Type

Aluminyum Gévdeli Dtz Digli Pompa
AP20 Aluminium Body Gear Pump

Aluminyum Gévdeli Helisel Disli Pompa
APH20 Aluminium Body Helical Gear Pump

Dokiim Gévdeli Duiz Digli Pompa
DKP20 fseyres Body Gear Pump

Dokiim Gévdeli Helisel Disli Pompa
DPH20 eyt Body Helical Gear Pump

Dénis Yonu / Rotation
A= Sol donlis / Counter-clockwise

115/115/115

lletim Hacmi / Displacement
cm’/dev (cm7rev)
040 = 3,9 cm?® /dev (cm? /rev)
060 = 5,9 cm?® /dev (cm® rev)
080 = 8,0 cm’/dev (cm¥rev)

095 = 9,4 cm%dev (cm®/rev)

115 = 11,4 cm%/dev (cm’/rev)
140 = 13,9 cm%dev (cm*/rev)
160 = 16,0 cm¥dev (cm¥rev)
190 = 19,2 cm%dev (cm*rev)
220 = 21,9 cm*dev (cm*rev)
250 = 24,8 cmdev (cm¥rev)
280 = 27,9 cm%dev (cm*rev)
320= 32,0 cm /dev (cm /rev)
340= 34,0 cm /dev (cm /rev)
380= 38,0 cm /dev (cm /rev)
400= 40,0 cm /dev (cm /rev)

C = Sag donls / Clockwise

R = Cift donus / Reversible

On Kapak / Front Cover

Dikdértgen kapak
Square flange

ORDERING CODE OF GROUP 20 PUMPS
N C| B O

On Yatak
Outboard Bearing T

| O |Var / Available
| |Yok s Absent

Tekli
Single
Tandem
Tandem
Modiiler
Modular

Kege / Seal

[ N[ NBR |

Arka Kapak / Rear Cover

Standart

Standard

Emniyet Valfi (10 - 90 Bar)
Relief Valve

Emniyet Valfi (70 - 140 Bar)
Relief Valve

Emniyet Valfi (120 - 190 Bar)
Relief Valve

m Akis Bolicl Valf

Flow Divider Valve

Emniyet Valfli Akis Kontrol Valfi
Flow Control Valve With Relief Valve

Yk Duyarl Valf
Load Sensing Valve
Cek Valf
Check Valve
E Arkadan Giris-Cikis
Rear Inlet-Outlet

Basing Kompansatorlii Akis Kontrol Valfi
Flow Control Valve Pressure Compensated

Tahrik safti / Drive Shaft
PR = : |

A Konik - Kamali
Tapered key shaft

2 Civatali - Merkezleme
2 Bolts - Centering

B Konik - Kamali
Tapered key shaft

18 0@

2 Civatall - Merkezleme ve oringli
2 Bolts - Centering with oring

2 Civatall SAE ' A'
2 Bolts SAE ' A' !

2 Civatall - Merkezleme
2 Bolts - Centering

Dikdortgen kapak
Square flange

cyy  stam
mm

E ?::;kds:\?e“shaﬂ E

F oot it EH7 B

G it piy  =C nEEE

H g:::ﬁelﬁsif;ﬂ ] D]

On yatakl
Outboard bearing

Girig - Cikis Delikleri / Inlet and Outlet Ports

Kare tip
Rectangular

Baklava tip
Diamond

Metrik disli
1SO 6149 oring boss

UNF dis
UNF thread

Boru dis
Pipe thread

Konik - Kamali
K

15 HE0m

K 2 Civatall SAE ' B'
2 Bolts SAE ' B'

Tapered key shaft

Konik - Kamali
L

M 2 Civatali - Merkezleme
2 Bolts - Centering

252,34 mm

15 HEHE

M SAE spline saft J498 10 dis

Tapered key shaft

SHa

N 4 Civatall - Merkezleme O-ringli
4 Bolts - Centering O-ring

@52 mm

SAE spline shaft 16/32 DP 10T

Konik - Kamali
N

18 E-0m

- Kodlama Ornegi (Tekli) ; AP20.115.CABO2SN
Code Example (Single)

24 | REV.AG 17/09.15

Tapered key shaft

Kesik safth
Tang drive shaft

=

Code Example (Tandem)

SAE Dikdértgen Flans Metrik dis
=10 SAE Square Flange Thread Metric

- Kodlama Ornegi (Tandem) ; AP20.115/115/115.CAB02SN-T

- Kodlama Ornegi (Moddler) ; AP20.115/115/115.CAB02SN-M

Code Example (Modular)




www.blueascend.com

Grup 20 pompalar 4 cc 3/dev. ‘den 40 cc 3/rev. ‘e kadar ki iletim
hacmine sahip pompalardir.

Kendi icinde AP20 , APH20 , DKP20 , DPH20 olarak 4 gruba ayrilir.
Asagidaki Tablo da bu 4 grubun birbirinden farkli olan teknik 6zel-
likleri belirtilmistir;

-AP20 (Aluminyum Gévdeli Duz Disli Pompalar)

-APH20 (Aluminyum Gévdeli Helisel Disli Pompalar)

-DKP20 (Dokum Gévdeli Diiz Digli Pompalar)

-DPH20 (Dékim Gévdeli Helisel Digli Pompalar)

GROUP 20

0. blue
GENEL BILGI égb ascend

GENERAL INFORMATION | h ydraulics

Group 20 pumps has a working capacity from 4 cc3/rev to 40 cc®/
rev.

It has 4 sub-groups in itself as AP20, APH20, DKP20 and DPH20.The
differences between the 4 sub-groups technical specifications can
be found on the below table.

-AP20 (Aluminium Body Gear Pumps)

-APH20 (Aluminium Body Helical Gear Pumps)

-DKP20 (Cast Iron Body Gear Pumps)

-DPH20 (Cast Iron Body Helical Gear Pumps)

AP20 TEKNIK OZELLIKLER / AP20 TECHNICAL DATA

Maks. Basing / Max. Pressure

Maks. Hiz

iletim Hacmi
Max. Speed

Displacement
cm?dev(cm?/rev)

Pompa Tipi
Pump Type

Min. Hiz
Min. Speed

d/d (rpm)

39 300 3500 650
59 250 280 300 3500 650
8,0 250 280 300 3500 650
9,4 250 280 300 3500 600
1.4 250 280 300 3000 600
13,9 250 280 300 3000 600
16,0 250 280 300 3000 600
19,2 250 280 300 3000 600
21,9 210 240 260 2500 600
24,8 190 220 240 2500 600
27,9 170 220 220 2200 600
32,0 160 190 210 2000 500
34,0 150 180 200 2000 500
38,0 140 170 190 1750 500
40,0 130 170 190 1750 500
P1: Surekli calisma basinci P2 : Aralikli calisma basinci P3 : Ani basing

Continuous pressure Intermittent pressure Peak pressure

APH20 TEKNIK OZELLIKLER / APH20 TECHNICAL DATA

Maks. Basing / Max. Pressure Maks. Hiz

Min. Hiz
Min. Speed

iletim Hacmi
Displacement
cm?dev(cm?/rev)

Pompa Tipi
Pump Type
d/d (rpm)

3,9 250 280 300 3500

59 250 280 300 3500 650
8,0 250 280 300 3500 650
94 250 280 300 3500 600
1,4 250 280 300 3000 600
13,9 250 280 300 3000 600
16,0 250 280 300 3000 600
19,2 250 280 300 3000 600
21,9 210 240 260 2500 600
248 190 220 240 2500 600
27,9 170 220 220 2200 600
32,0 160 190 210 2000 500
34,0 150 180 200 2000 500
38,0 140 170 190 1750 500
40,0 130 170 190 1750 500

P1: Strekli calisma basinci P2 : Aralikll calisma basinci P3 : Ani basing
Continuous pressure Intermittent pressure Peak pressure

REV.AG 17 /09.15 | 25 I



@Q blue -
> ascend | GENEL BILC
hydraulics | GENERAL INFORMATION

Pompa Tipi
Pump Type

DKP20.040
DKP20.060
DKP20.080
DKP20.095
DKP20.115
DKP20.140
DKP20.160
DKP20.190
DKP20.220
DKP20.250
DKP20.280

iletim Hacmi
Displacement
cm?dev(cm®/rev)
3,9
6,8
8,0
9,4
11,4
13,9
16,0
19,2
21,9
24,8
27,9

BIEAIR

srourzo - [IIVIIRAILIGRULPS

DKP20 TEKNIK OZELLIKLER / DKP20 TECHNICAL DATA

Maks. Basing / Max. Pressure

bar

280
280
280
280
280
280
280
280
240
220
200

300
300
300
300
300
300
300
300
260
240
240

320
320
320
320
320
320
320
320
280
260
260

Maks. Hiz Min. Hiz

3500
3500
3500
3500
3000
3000
3000
3000
2500
2500
2200

650
650
650
600
600
600
600
600
600
600
600

P1: Siirekli calisma basinct
Continuous pressure

P2 : Aralikl calisma basinci
Intermittent pressure

DPH20 TEKNIK OZELLIKLER / DPH20 TECHNICAL DATA

Pompa Tipi
Pump Type

DPH20.040

iletim Hacmi
Displacement
cm¥dev(cmrev)

Maks. Basing / Max. Pressure

bar

P3 : Ani basing
Peak pressure

Maks. Hiz Min. Hiz

P1: Siirekli calisma basinct
Continuous pressure

I 26 | REV.AG 17/09.15

3,9 350 370 650
59 320 350 370 3500 650
8,0 320 350 370 3500 650
9,4 320 350 370 3500 600
11,4 320 350 370 3000 600
13,9 300 330 350 3000 600
16,0 300 330 350 3000 600
19,2 280 310 330 3000 600
21,9 250 280 300 2500 600
24,8 230 260 280 2500 600
27,9 210 240 260 2200 600
P2 : Aralikl calisma basinci P3 : Ani basing
Intermittent pressure Peak pressure



www.blueascend.com

Debi (It/dk)
Flow range (I/min)

100 -

GENEL BILGI &Q.S

GROUP 20 | GENERAL INFORMATION

hydraulics

95 -
90 -

85 -

80 -
75 -

70 -
65 -

60 -

55 -
50 -

45 -
40 -

35 -

30 -
25 -

20 -
15 -

10 -

500

blue
ascend

GRUP 20 POMPALARIN DEBIi EGRILERI / FLOW CURVES OF GROUP 20 PUMPS

34 cc
32 cc

28 cc

25 cc

22 cc

19 cc

16 cc

14 cc

11,5 cc

9,5cc
8 cc

6 cc

4 cc

3000
Devir (d/d)
Speed (rpm)

REV.AG 17/09.15 | 27 I



. blue
~%5 ascend
hydraulics

ON KAPAKLAR

FRONT COVERS

GROUP 20

BIEAIR

AV DRAULIGpuages

71,4 102
| /} 2xM10-10.9
- —
i 7
b o
H wn
ﬂ 2 g -
3 1A 3 s
a9 5 - il —
+§ =l gl © A L
o . 1 IT " - =
) 3 2 :
E ] - [—
i Ll 3
ol L |
[l 7,2 04
— D11 1027
\ 4,8 201 18,5 02
@9 0,11
19401
19,05 0,25 E
3,2102 17,5
2xM10-10.9 2,5 s02 |
~ =
 —
3 2 e
3 S5 o4 Yag = 1A
@ - A I S & | = 13
\ i § 5 ¢ VN 0] i &
a T x S ~ 754N M B
N ¥ :§ N N/ Pww [
30 w01 7.2 01 / L 62
17,5 201
; + S 12,05 o,
60 =02 @11 40,27 185 42 IS 1064 200 05
130,4
2xM10-10.9 19,05 -025
- —
— a i
o
I L
a
8 3 -
© b ER kK
— T 1T - (=] -~
N 2 o -
5| Q e I g g
3 ] 2
B3 I |8
1 5 i o
7,2 s01 o i a
@11 4027 18,5 02 | H
7,2 501
12,5 04
19,05 025
7[ @ +0,11 —
il
[ @
~N
5
N 0
| o < g
] 9| = 11 <+
e = 3 s A
- - - N o @
| = 173 I "
o J| s Ll 3 § oy oo il
" j | &
| / < . — 4,5
¢ / iR 1
G& B 18,4 02
7.2 01
T2 N
90 s15 12,5 04

I 28 | REV.AG 17/09.15



www.blueascend.com

SAFT TIPLERI
GROUP 20 | SHAFT TYPES

0. blue
~%5 ascend
hydraulics

— Koniklik 1:5
Basic Taper

—Ref. Capi 17
Ref. Diameter

e
- Sikma torku  50Nm
Tighten Torque

300

\M12x1,5

Ay Kama
Woodruff Key

Maks. Tork 110 Nm

40

28

12,1

]
| Sikma torku 50Nm
Tighten Torque

\M12x1,5

]

— — Koniklik 1:8
Basic Taper

—Ref. Cap! 16,66

3,200 .

Ay Kama
Woodruff Key

Maks. Tork 110 Nm

215,875 0,025

Mak. Tork 55 Nm
Max. torque

Max. Torque Ref. Diameter Max. Torque
315 6,5 102 E
8 27 w05
3 12 02
- SAE 16-4 (A) 5/8" Spline
al Evolvent Spline
Dis Dibi Diiz, Yanaktan Alistirmali
= 9 Dis, 16/32 DP
Involute Spline _ l N [ S R
Flat Root Side Fit - g 8
9 Teeth, 16/32 DP
g g Kaplin
" ol Coupling
o o 90 N Mak. Tork 65 Nm
) Max. torque
22 E
31,5
Dis kalinligi
] Tooth Thickness
L SW=3,2 00
g )
< S
3| SAE 1498 Spline S Evolvent Spline
g Evolvent Spline DIN_ 5482 B17x14
Dis Dibi Diiz, Yanaktan Alistirmali 9 Dig
11 Dis, 16/32 DP 1 .
- — Involute Spline
T Involute spline DIN 5482 B17x14
Flat root side fit 9 Teeth
11 Teeth, 16/32 DP
Maks. Tork 115 Nm
Maks. Tork 150 Nm Max. Torque
Max. Torque
354
32 05 m m
-8 ]
/ Diz kama  4x18
Key DIN 6885
23 Tam Dis Boyu
Min. full thread SAE J498 A Evolvent Spline
Dis Dibi Dliz, Yanaktan Alistirmali
— o 10 Dis, 16/32 DP
o | _ © i —— SAE J498 A Involute Spline
IS N — Flat Root Side Fit
- 10 Teeth, 16/32 DP

Maks. Tork 115 Nm
Max. Torque

REV.AG 17 /09.15 | 29




.. blue 4. .
7S ascend | COVDE DELIK TIPLERI
hydraulics | BODY HOLE TYPES GROUP

Kare Tipi Flans
Rectangular Flange

lletim Hacm

20

i Emis Tarafi Basing Tarafi
Displacement Suction Side Pressure Side

Os;l?:r?r?gKgg;e cm¥/dev (rev)
.c [ D [ E ' c | d | e |
4 12 12
6 13,5 13,5 35
Ex13 Derinlik o1 8-25 40 Me 15 Me
Depth 28 - 40 20 20 40

Baklava Tipi Flans
Diamond Flange

02

Y DRAULIGE

BIEAIR

UMIPS

e iletim Hacmi Emis Tarafi Basing Tarafi
Siparis Kodu Displacement Suction Side Pressure Side
4 12 12
30,2 M6
6-8 13,5 30,2 M6
02 13,5
9,5-25
20 40 M8
28 -40 20 40 M8
03 Metrik dis / Thread, Oring Boss
B Metric ISO 6149 With Seal Ring
A O e iletim Hacmi Emig Taraf Basing Tarafi
| Siparis Kodu Displ t Suction Side Pressure Side
i I Ordering Code Isplacemen
= ewviiio) 5 1 olol A lslolo]
[a 4-6 M18x1,5 30 16 M18x1,5 30 16
‘ ! W 03 8-16 M27x2 40 105 19 0,5
( [ ] M22x1,5 35 19
| 19-40 M33x2 45 22
04 Dis / Thread
5 (UNF-2B) SAE Oring Boss
A e iletim Hacmi Emig Tarafi Basing Tarafl
9 Osljpa'f@ KCOdg Displacement Suction Side Pressure Side
| rdering Code
| i = ° - omdevien | a8 ]clol A ls]clo]
1 0O
‘ ‘ _] 4-6 9/16-18 UNF-2B 25 13 | 9/16-18 UNF-2B | 25 13
| 8 7/8-14 UNF-2B 35 16
i i X 04 95_28 0,5 7/8-14 UNF-2B 35 | 05| 16
’ 11/16-12UN-2B | 45 19
32-40 11/16-12 UN-2B | 45 19
05 Boru dis / Pipe Thread
A 1SO228/1

iletim Hacmi

Siparis Kodu
Ordering Code

Displacement
cmd/dev (rev)

Emis Taraf Basing Tarafi
Suction Side Pressure Side

LA LD A D

/ | 4-16 G% | 16 | G%
I | 05 16
§ i / 19-40 G1 19 G%
06 SAE Dikdoértgen Flans Metrik Dis
@ ‘ ’@)7 SAE Square Flange Metric Thread
_' iletim Hacmi Emig Tarafi Basing Tarafi
Siparis Kodu : Suction Side Pressure Side
— O o Ordering Code Displacement
eriev (e | [0 | & [ ¥ [ | o o] e [n]
Depth
. . 12 38,1 | M8 17,5 | 13
,@, ‘ @7 419 2 | 476 12 | 381 | M8 |17,5| 13
06 - O | w0 222 46
F 22-40 26 52,4 26,2 20 47,6 | M10 | 222 | 16

I 30 | REV.AG 17/09.15



blue
DiSLI POMPALAR égb ascend

www.blueascend.com AP20| GEARPUMPS| hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
B 40
A 04 28 88
@9
19
4.8

T
Sikma torku 50Nm
[ Tighten torque

/ \ 74* /)

~
9
@36,47 0,05

.
15

100
112

96,18

S

&
N«
|
]
|

50

s

40,1
32,53

— L1

—

M12x1,5

j el L 121
Ex13 Derinlik D —Ref. Cap : 16,66
Depth Ref. diameter
— Koniklik : 1/8
Taper 3,2 -0,02

Ay Kama
Woodruff key

iletim Hacmi | Maks. Basing Maks. Hiz GIFI§ Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed Y
cm®/dev(cm?rev) (bar) d/d (rpm) E c
AP20.040.A/CAB02SN 3,9 42,2 5.3 12 12
AP20.060.A/CAB02SN 5,9 3500 43,8 88,4 30,2 M6
13,5

Pompa Tipi
Pump Type

AP20.080.A/CAB02SN 8,0 45,4 91,6
AP20.095.A/CAB02SN 9,4 46,5 93,9
250
AP20.115.A/CAB02SN 11,4 48,2 97,0
30,2 M6
AP20.140.A/CAB02SN 13,9 50,0 101,0 13,5
3000
AP20.160.A/CAB02SN 16,0 51,7 104,1
AP20.190.A/CAB02SN 19,2 60,2 1211

AP20.220.A/CAB02SN 21,9 210 62,3 125,5

2500 20 40 M8
AP20.250.A/CAB02SN 24,8 190 64,8 130,4
AP20.280.A/CAB02SN 27,9 170 2200 67,0 134,9
AP20.320.A/CAB02SN 32,0 160 70,0 141,0

2000
AP20.340.A/CAB02SN 34,0 150 71,5 1445 20 40 M8
AP20.380.A/CAB02SN 38,0 140 74,8 150,5

1750

REV.AG 17/09.15 | 31 I

AP20.400.A/CAB02SN 40,0 130 76,5 154,0




b BEIR
égb ascend | DisLi POMPALAR
hydraulics | GEARPUMPS AP20 P MP%
A On Kapak G Saft Tipi
Front Cover Shaft Type
B
A 04 22 +04 88
@9
19 4 Delik
/ Holes
= R
L <
EE L)
/ bl 2
8 | /\ | S g &
i (o)} =3 i O
N p Lﬁt kK <
o | = < - e
o e}
. , \ g 4 3
/ S R
/ 14,8 min. faydali dis boyu
j C - Usable shaft length
. 4,8 DIN 5482 B17x14
Ex13 ?)Z”?rl:k D Dis kalinligi (SW) : 3,2 -005
P Tooth thickness
Pompa Tioi lletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed A 04
&L cm®/dev(cmrev) (bar) d/d (rpm) c D E c
AP20.040.A/CAG02SN 39 853
AP20.060.A/CAG02SN 5,9 3500 43,8 88,4 30,2 M6
13,5
AP20.080.A/CAG02SN 8,0 454 | 91,6
AP20.095.A/CAG02SN 9,4 46,5 | 93,9
250
AP20.115.A/CAG02SN 11,4 482 | 97,0
30,2 M6
AP20.140.A/CAGO02SN 13,9 50,0 | 101,0 135
3000
AP20.160.A/CAG02SN 16,0 51,7 | 104,1
AP20.190.A/CAGO02SN 19,2 60,2 | 121,1
AP20.220.A/CAG02SN 21,9 210 62,3 | 1255
2500 20 40 M8
AP20.250.A/CAG02SN 24,8 190 64,8 | 1304
AP20.280.A/CAG02SN 27,9 170 2200 67,0 | 1349
AP20.320.A/CAGO02SN 32,0 160 70,0 | 141,0
2000
AP20.340.A/CAGO02SN 34,0 150 71,5 | 1445 20 40 M8
AP20.380.A/CAG02SN 38,0 74,8 | 150,5
1750
AP20.400.A/CAG02SN 40,0 130 76,5 | 154,0

I 32 | REV.AG 17/09.15



www.blueascend.com

@Q blue
<> ascend
hydraulics

DISLI POMPALAR

AP20 GEAR PUMPS

On Kapak A Saft Tipi
Front Cover Shaft Type
B 40,5
A 04 27,5 Sikma torku  50Nm
10,5 Tighten torque 22—
! 2xM10-10.9 ==
] T
I— Sikma torku 50Nm
— G 950 Tighten torque
(-
| ‘ /\@\/
§ 7\#7 o) / §
% }@ & |5 | = 53
o ‘ % ‘ I — 3
| H <+ (S —
= T s 2
'—L ™M
N <
Y L M12x1,5 -
C 7,2 ?11 _ 30
Ex13 Derinlik 2 Delik
De h —Ref. Gap : 17 Holes 60
ep D Ref. diameter
84
— Koniklik : 1/5
Taper
Ay Kama
Woodruff key
Pompa Tipi iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pump T F; Displacement | Max. Pressure | Max. Speed A 04
REVE cm®/dev(cm?rev) (bar) d/d (rpm) c D E c
AP20.040.A/CBAO01SN 3,9 41,6 84,7 12 12
AP20.060.A/CBA01SN 59 3500 43,2 87,8 13,5 13,5
AP20.080.A/CBA01SN 8,0 44,8 91,0
AP20.095.A/CBA01SN 9,4 45,9 93,3
250
AP20.115.A/CBA01SN 11,4 47,6 96,4 -
AP20.140.A/CBA01SN 13,9 49,4 100,4 15
3000
AP20.160.A/CBA01SN 16,0 51,1 103,5
AP20.190.A/CBA01SN 19,2 59,6 120,5 40 M6 M6
AP20.220.A/CBA01SN 21,9 210 61,7 124,9 20
2500
AP20.250.A/CBA01SN 24,8 190 64,2 129,8
AP20.280.A/CBA01SN 27,9 170 2200 66,4 134,3
AP20.320.A/CBA01SN 32,0 160 69,4 140,4
2000
AP20.340.A/CBA01SN 34,0 150 70,9 143,9 20 40
AP20.380.A/CBAO1SN 38,0 140 74,2 149,9
1750
AP20.400.A/CBAO1SN 40,0 130 75,9 153,4

REV.AG 17 /09.15 | 33 I



@Q blue -
< ascend | DiSLi POMPALAR
hydraulics | GEARPUMPS

AP20

ORI

On Kapak Saft Tipi
Front Cover Shaft Type
B
A 04 26 Sikma torku  50Nm
Tighten torque 2~
‘ 2xM10-10.9 ==
I |
o %50 s
n
/‘\-\ Ld
' | ~—
o Q
(=) L /7‘ (=)
= DT T 5 =
; [ . n s 3
=
a S -
| 3
— ™
X <
\é\ —
@11
C| 7,2 . 30
o r . . 2 Delik
Ex13 Derinlik 14,8 min. faydal dis boyu
Holes 60
Depth D Usable shaft length
DIN 5482 B17x14 84
Dis kalinligi (SW) : 3,2 -0,03
Tooth thickness
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
PumpT F; Displacement | Max. Pressure | Max. Speed
ol cm®/dev(cm?rev) (bar) d/d (rpm) C D E c
AP20.040.A/CBGO1SN 3,9 416 847 12 12
AP20.060.A/CBG01SN 59 3500 432 | 87,8 | 135 13,5
AP20.080.A/CBG01SN 8,0 44,8 91,0
AP20.095.A/CBG01SN 9,4 459 93,3
250
AP20.115.A/CBG01SN 1,4 47,6 96,4 -
AP20.140.A/CBGO1SN 13,9 49,4 100,4 15
3000
AP20.160.A/CBG01SN 16,0 51,1 103,5
AP20.190.A/CBG01SN 19,2 59,6 120,5 40 M6 M6
AP20.220.A/CBG01SN 21,9 210 61,7 124,9 20
2500
AP20.250.A/CBG01SN 24,8 190 64,2 129,8
AP20.280.A/CBG01SN 27,9 170 2200 66,4 134,3
AP20.320.A/CBG01SN 32,0 160 69,4 140,4
2000
AP20.340.A/CBGO1SN 34,0 150 70,9 143,9 20 40
AP20.380.A/CBG01SN 38,0 140 74,2 149,9
1750
AP20.400.A/CBG0O1SN 40,0 130 75,9 153,4

I 34 | REV.AG 17/09.15



www.blueascend.com

C On Kapak
Front Cover

100

50
T 11
%wtjw =

Ex13 DerinIiJ

Depth

Pompa Tipi
Pump Type

AP20.040.A/CCEO1SN

AP20.060.A/CCEO1SN )

AP20.080.A/CCEO1SN

AP20.095.A/CCEO1SN

AP20.115.A/CCEO1SN

AP20.140.A/CCEO1SN

AP20.160.A/CCEO01SN

AP20.190.A/CCEO1SN

- @Q blue
DISLI POMPALAR > ascend
AP20| GEARPUMPS| hydraulics

AP20.220.A/CCE01SN

AP20.250.A/CCEO1SN

AP20.280.A/CCEO01SN

AP20.320.A/CCEO1SN

AP20.340.A/CCEO1SN

AP20.380.A/CCEO1SN

AP20.400.A/CCEO1SN

=l Saft Tipi
Shaft Type
B
A s04 &—C Sikma torku 50Nm
’ 6,5 +02 Tighten torque
27 “==~ 2xM10-10.9
./ +05
47,5 x @2,5 Oring
®
. S 8
= a S e 79 _
(SN 3
g 8 ;
4 8
=
< 2z 30 o11
12102 €0 2 Delik
7,2 Holes
~ 8 min. 84
0‘; Kege
= L Seal
12 02
& 3 — &—
s >
) §§
Kavrama R
Coupling 0,5x30
2,505
iletim Hacmi | Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed Aos
cm®/dev(cm>rev) (bar) d/d (rpm) C D E c
3,9 41,6 84,7 12 12
5,9 3500 43,2 87,8 13,5 13,5
8,0 44,8 91,0
9,4 45,9 93,3
250
11,4 47,6 96,4
35
13,9 49,4 100,4 15
3000
16,0 51,1 103,5
19,2 59,6 120,5 40 M6 M6
21,9 210 61,7 124,9 20
2500
24,8 190 64,2 129,8
27,9 170 2200 66,4 134,3
32,0 160 69,4 140,4
2000
34,0 150 70,9 143,9 20 40
38,0 140 74,2 149,9
1750
40,0 130 75,9 153,4

REV.AG 17 /09.15 | 35 I



@Q blue -
> ascend | DisSLi POMPALAR

hydraulics GEAR PUMPS

On Kapak
Front Cover

31,5

A 0,4

6,2

100

50

[T

|
©82,55 -0,05

i
(

C (UNF-2B)xD

Pompa Tipi
Pump Type

AP20.040.A/CDCO04SN

AP20.060.A/CDC04SN )

AP20.080.A/CDC04SN

AP20.095.A/CDC04SN

AP20.115.A/CDCO04SN

AP20.140.A/CDC04SN

AP20.160.A/CDCO04SN

AP20.190.A/CDCO04SN

12

AP20

Saft Tipi
Shaft Type

iletim Hacmi
Displacement

SAE 16-4 (A) 5/8" Spline
Evolvent Spline

Dis Dibi Diiz, Yanaktan Alistirmali
9 Dis, 16/32 DP

Involute spline
Flat root side fit
9 Teeth, 16/32 DP

Maks. Basing Maks. Hiz
Max. Pressure | Max. Speed Azo4

W RAULIGR

106,4 0,15

BIEAIR
UMIPS

1304

Girig — Inlet Cikis - Outlet
o ol o | |

AP20.220.A/CDC04SN

AP20.250.A/CDC04SN
AP20.280.A/CDC04SN

AP20.340.A/CDCO04SN

AP20.320.A/CDC04SN
AP20.380.A/CDCO04SN

AP20.400.A/CDC04SN

cm®/dev(cmdrev) (bar) d/d (rpm)
3,9 422 | 853
9/16-18 UNF 13 9/16-18 UNF 13
59 3500 43,8 88,4
8,0 454 91,6 7/8-14 UNF 16
9,4 465 | 93,9
250
11,4 482 | 97,0
13,9 50,0 101,0
3000
16,0 51,7 104,1 7/8-14 UNF 16
19,2 60,2 1211
21,9 210 62,3 125,5
2500 11/16-12 UNF 19
24,8 190 64,8 130,4
27,9 170 2200 67,0 134,9
32,0 160 70,0 141,0
2000
34,0 150 71,5 1445
11/16-12 UNF 19
38,0 140 74,8 150,5
1750
40,0 130 76,5 154,0

I 36 | REV.AG 17/09.15



blue

o

DISLI POMPALAR ascend
www.blueascend.com AP20| GEARPUMPS| hydraulics
A
On Kapak F Saft Tipi =
Front Cover Shaft Type ""/\
yp & (5\ &
S\Syye
B 31,5
84
A 04 8
6,2 5
- -
I — [Fo)
ﬁl 1T £
>7 S— [
< oL I o
} | | — Lg
o T @’ ’@’ [
8 ol
% D- ‘ ’@’ 1 ﬂj Il
S R — .
— 3 @11
M 2 Delik
o
- 0l Holes
Ex13 Derinlik — a
Depth 12
—SAE 1498 Spline
Evolvent Spline
Dis Dibi Diiz, Yanaktan Alistirmali
11 Dis, 16/32 DP 130,4
Involute Spline
Flat Root Side Fit
11 Teeth,16/32 DP
-~ iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pompa Tipi )
Pump Type Displacement | Max. Pressure | Max. Speed L . F - -
cm®/dev(cmrev) (bar) d/d (rpm)
AP20.040.A/CDF06SN 3,9 42,2 87,3
AP20.060.A/CDF06SN 59 3500 43,8 90,4
AP20.080.A/CDF06SN 8,0 45,4 93,6 12 38,1 | 17,5 | M8
AP20.095.A/CDF06SN 9,4 46,5 95,9
250 12 | 38,1 17,5 | M8
AP20.115.A/CDF06SN 11,4 48,2 99,0
AP20.140.A/CDFO6SN 13,9 50,0 103,0
3000
AP20.160.A/CDF06SN 16,0 51,7 106,1 20 | 476 | 22,2
AP20.190.A/CDF06SN 19,2 60,2 1211
AP20.220.A/CDF06SN 21,9 210 62,3 125,5
2500
AP20.250.A/CDF06SN 24,8 190 64,8 130,4
M10
AP20.280.A/CDF06SN 27,9 170 2200 67,0 134,9
AP20.320.A/CDF06SN 32,0 160 70,0 141,0 26 | 52,4 | 26,2 20 | 47,6 | 22,2 | M10
2000
AP20.340.A/CDF06SN 34,0 150 71,5 1445
AP20.380.A/CDF06SN 38,0 140 74,8 150,5
1750
AP20.400.A/CDFO6SN 40,0 130 76,5 154,0

REV.AG 17 /09.15 | 37 I



@Q blue -
< ascend | DiSLi POMPALAR
hydraulics | GEARPUMPS

AP20

Y DRAULIGE

BIEAIR
UMIPS

On Kapak $aft Tipi
Front Cover Shaft Type
B 32
84
A 04 8
6,2
I Diiz kama
e — Square key
4x18 boy
DIN 6885
I o
— "'Lg
3 o) — /
= Ja L £
— — —
o iy
LN| | R N
- g S @11
0 ‘,'\1 2 Delik
[ Q| N Holes
3
CxD ] g
12 g
g S 106,4 0,15
Q
130,4
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed A 04
AP20.040.A/CDHO5SN 3,9 42,2 85,3
AP20.060.A/CDHO05SN 5,9 3500 43,8 88,4
AP20.080.A/CDHO5SN 8,0 45,4 91,6
AP20.095.A/CDHO5SN 9,4 46,5 93,9 G 3/4" 16 G 1/2" 16
250
AP20.115.A/CDHO5SN 11,4 48,2 97,0
AP20.140.A/CDHO5SN 13,9 50,0 101,0
3000
AP20.160.A/CDHO5SN 16,0 51,7 104,1
AP20.190.A/CDHO5SN 19,2 60,2 121,1
AP20.220.A/CDHO5SN 21,9 210 62,3 125,5
2500
AP20.250.A/CDHO5SN 24,8 190 64,8 130,4
AP20.280.A/CDHO5SN 27,9 170 2200 67,0 134,9
G1" 19 G3/4" 16
AP20.320.A/CDHO5SN 32,0 160 70,0 141,0
2000
AP20.340.A/CDHO5SN 34,0 150 71,5 144,5
AP20.380.A/CDHO5SN 38,0 140 74,8 150,5
1750
AP20.400.A/CDH05SN 40,0 130 76,5 154,0

I 38 | REV.AG 17/09.15



blue
DiSLI POMPALAR y«b ascend

www.blueascend.com AP20| GEARPUMPS| hydraulics

E On Kapak A Saft Tipi
Front Cover Shaft Type
B 40,5
A x04 27,5
10,5
5= Sikma torku  50Nm
a_ — Sikma torku 50Nm Tighten torque 2—>

Al 1 Tighten torque 2xM10-10.9 ==>
H

Trﬁ %f\ %

1= /§ 2\ o
) b 3 39 =
AR T ) e N
o /- % ‘ | — 3
N il < Q -
T o - &
ﬂ:
LM12X1,5 —
/ C 7,2 30 @11
Ex13 Derinlik . 2 Delik
—Ref. Cap : 17 60
Depth D Ref. diameter Holes
84
— Koniklik : 1/5
Taper
3 0,02

Ay Kama
Woodruff key

- iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pompa Tipi .
Pump Type Displacement | Max. Pressure | Max. Speed 10,
cm¥dev(cm3rev) (bar) d/d (rpm)
AP20.040.A/CEA01SN ) , 84,7
AP20.060.A/CEA01SN 87,8 13,5 13,5

AP20.080.A/CEA01SN , , 91,0

AP20.095.A/CEA01SN , 93,3

AP20.115.A/CEA01SN 96,4 -
AP20.140.A/CEA01SN 100,4 15
AP20.160.A/CEA01SN , , 103,5

AP20.190.A/CEA01SN , , 120,5 40 M6 M6

REV.AG 17/09.15 | 39 I

AP20.400.A/CEA01SN , 153,4



@9 blue -
> ascend | DisSLi POMPALAR

hydraulics GEAR PUMPS

E On Kapak
Front Cover

26

A z04

11

AP20

G Saft Tipi
Shaft Type

16,5 -0.27

100

15,9

-0,03

@50 -0,06

50
el |
@‘tjﬂ\u ‘

-
Ex13 Derinlik
D

Depth

Pompa Tipi
Pump Type

AP20.040.A/CEGO1SN

AP20.060.A/CEGO01SN

AP20.080.A/CEG01SN

AP20.095.A/CEG01SN

AP20.115.A/CEGO1SN

AP20.140.A/CEGO01SN

AP20.160.A/CEG01SN

AP20.190.A/CEGO01SN

iletim Hacmi
Displacement
cm®dev(cmrev)

14,8 min. faydali dis boyu
Usable shaft length

DIN 5482 B17x14

Dig kalinligi (SW) : 3,2 -0,03
Tooth thickness

Maks. Basing Maks. Hiz

Max. Pressure | Max. Speed

(bar)

d/d (rpm)

W RAULIGRY

100

BIEAIR
MIPS

Sikma torku  50Nm

Tighten torque 2—>

\f 2xM10-10.9 ==
—
- &
E\
30 @11
2 Delik
60 Holes
84
G|r|§ Inlet Cikis - Outlet

AP20.220.A/CEG01SN

AP20.250.A/CEGO01SN

AP20.280.A/CEG01SN

AP20.320.A/CEG01SN

AP20.340.A/CEGO1SN

AP20.380.A/CEGO01SN

AP20.400.A/CEG01SN

I 40 | REV.AG 17/09.15

3.9 84,7
59 3500 432 | 87,8 | 135
8,0 448 | 910
459 | 933
250
476 | 964
49,4 | 1004
3000
511 | 1035
596 | 120,5
210 617 | 1249 | 20
2500
190 64,2 | 1298
170 2200 66,4 | 1343
160 694 | 1404
2000
150 709 | 1439
140 742 | 1499
1750
130 759 | 1534

40

M6

M6

13,5

35
15
20 40




blue
DiSLI POMPALAR égb ascend

www.blueascend.com AP20| GEARPUMPS| hydraulics

G On Kapak G Saft Tipi
Front Cover Shaft Type
B
A 04 23,5 @9
7,2 4 Delik
— Holes

ni -
<

] S

[e») 0| o
= °1| g5 = S
| 59
fi‘l)gi 8
s L] S & L]
1 N
2 =/ |°
C I
Ex13 Derinlik b 10 36
Depth 14,8 min. faydal dis boyu 72
L Usable shaft length 90

DIN 5482 B17x14
Dis kalinhigr (SW) : 3,2 -0,03
Tooth thickness

iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed 10,

(¢} D E c
12 12

cmdev(cmrev) (bar) d/d (rpm)
AP20.060.A/CGG01SN 5,9 3500 43,8 88,4 13,5 13,5

Pompa Tipi
Pump Type

AP20.040.A/CGG01SN 3,9 42,2 85,3

AP20.080.A/CGGO01SN 8,0 45,4 91,6
AP20.095.A/CGGO01SN 9,4 46,5 93,9

250
AP20.115.A/CGGO01SN 1.4 48,2 97,0 35
AP20.140.A/CGG0O1SN 13,9 50,0 101,0 15

3000

AP20.160.A/CGG01SN 16,0 51,7 1041
AP20.190.A/CGG01SN 19,2 60,2 1211 40 M6 M6

AP20.220.A/CGGO01SN 21,9 210 62,3 125,5 20
2500
AP20.250.A/CGG01SN 24,8 190 64,8 130,4
AP20.280.A/CGG01SN 27,9 170 2200 67,0 134,9
AP20.320.A/CGG01SN 32,0 160 70,0 141,0
2000
AP20.340.A/CGGO01SN 34,0 150 71,5 144,5 20 40
AP20.380.A/CGG01SN 38,0 140 74,8 150,5
1750
AP20.400.A/CGG01SN 40,0 130 76,5 154,0

REV.AG 17/09.15 | 41 I



égb gls%eend DISLI POMPALAR @EAR

hydraulics | GEARPUMPS | AP20 MW@M&H@P@MP%

G On Kapak $aft Tipi

Front Cover Shaft Type

B 38
A o4 24,8
@9
72 4 Delik
[ 7/7 Holes
a4 Ap
— Sikma torku  50Nm
L Tighten torque
S 28 X o
= ] 33 = S
S 2
o 4 - Q|
LN h/ o "
LU o
™M
c. ] L
Ex13 DerinliJ o -8 —M12x1,5 %
Depth o L2 Ref. Cap : 17 72
Ref. diamete
i r %
— Koniklik : 1/5
Taper

Pompa Tipi
Pump Type

iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed +0,
C E ©
AP20.040.A/CGLO1SN 3,9 42,2 85,3 12 12

cm®dev(cmrev) (bar) d/d (rpm)
AP20.060.A/CGLO1SN 5,9 3500 43,8 88,4 13,5 13,5

AP20.080.A/CGLO1SN 8,0 45,4 91,6
AP20.095.A/CGLO1SN 9,4 46,5 93,9

250
AP20.115.A/CGLO1SN 11,4 48,2 97,0 25
AP20.140.A/CGLO1SN 13,9 50,0 101,0 15

3000

AP20.160.A/CGLO1SN 16,0 51,7 104,1
AP20.190.A/CGLO1SN 19,2 60,2 1211 40 M6 M6

AP20.220.A/CGLO1SN 21,9 210 62,3 125,5 20
2500
AP20.250.A/CGLO1SN 24,8 190 64,8 130,4
AP20.280.A/CGLO1SN 27,9 170 2200 67,0 134,9
AP20.320.A/CGLO1SN 32,0 160 69,4 141,0
2000
AP20.340.A/CGLO1SN 34,0 150 70,9 1445 20 40
AP20.380.A/CGLO1SN 38,0 140 74,2 150,5
1750
AP20.400.A/CGLO1SN 40,0 130 75,9 154,0

I 42 | REV.AG 17/09.15




- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com AP20| GEARPUMPS| hydraulics

M On Kapak N Saft Tipi
Front Cover Shaft Type
B 40,5
Azos 28 84
17,2 19
45 ‘
==
2D ———=—950 T
Sikma torku  50Nm @ @
-[ S®/\ | Tighten torque ! leﬁ B
r w1 T ~
= N a ©
s TR Y7
~ L \ ‘ 7: i g (‘v_)
N [ @ AN — 3 7 ‘ /
z il N ey g = e
oy o
(R . o N ¢
o
L ™
6,3 :
: M12x1,5
C 145 o »\9° \’&) M10x1,5 -6H
- o 2 Delik
o —Ref. Cap : 17,46 49,2 50,4 Hol
Ex13 Derinlik D Ref. diameter oles
Depth 122,6
— Koniklik : 1/8 0y
N
Taper
3 002
Pompa Tipi iletim Hacmi Maks. Basing Maks. Hiz
PumpT pe Displacement | Max. Pressure | Max. Speed
P1yp cm®dev(cm?rev) (bar) d/d (rpm)

AP20.040.A/CMNO1SN 3,9 41,6 84,7 12 12
AP20.060.A/CMNO1SN 59 3500 43,2 87,8 13,5 13,5

AP20.080.A/CMNO1SN 8,0 44,8 91,0
AP20.095.A/CMNO1SN 9,4 45,9 93,3

250
AP20.115.A/CMNO1SN 11,4 47,6 96,4 25
AP20.140.A/CMNO1SN 13,9 49,4 100,4 15

3000

AP20.160.A/CMNO1SN 16,0 51,1 103,5
AP20.190.A/CMNO1SN 19,2 59,6 120,5 40 M6 M6

AP20.220.A/CMNO1SN 21,9 210 61,7 1249 20

2500
AP20.250.A/CMNO1SN 24,8 190 64,2 129,8
AP20.280.A/CMNO1SN 27,9 170 2200 66,4 134,3
AP20.320.A/CMNO1SN 32,0 160 69,4 140,4

2000
AP20.340.A/CMNO1SN 34,0 150 70,9 143,9 20 40
AP20.380.A/CMNO1SN 38,0 140 74,2 149,9

1750

REV.AG 17 /09.15 | 43 I

AP20.400.A/CMNO1SN 40,0 130 75,9 153,4




Sz BIEAR
égb ascend | DiSLi POMPALAR
hydraulics | GEARPUMPS AP20 P@MP%
A
H On Kapak K Saft Tipi
Front Cover Shaft Type
B 45
A 04 28,5 @9
4 Delik
12,5 7.2 / Holes
— p
L Sikma Torku 60 Nm
M Tighten Torque
g o I AR o o 2 S
&) o 53
|; qr
7 ™M
/ ] M14x1,5
C L
D 9,5
Ex13 Derinlik
Depth |_Ref. Gap : 20
Ref Dia.
| Koniklik : 1/5 dom .
Taper
Ay Kama
Woodruff key
Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed A4
2 cm®dev(cm?rev) (bar) d/d (rpm) c D E c
AP20.040.A/CHK01SON 3,9 89,7 136,7 12 12
AP20.060.A/CHKO1SON 5,9 3500 91,2 139,8 | 13,5 13,56
AP20.080.A/CHK01SON 8,0 92,8 142,9
250
AP20.095.A/CHK01SON 9,4 94,0 145,2
AP20.115.A/CHK01SON 1,4 95,5 148,4 3
5
AP20.140.A/CHKO1SON 13,9 97,5 152,3 15
3000
AP20.160.A/CHK01SON 16,0 230 99,0 155,4
AP20.190.A/CHKO01SON 19,2 190 107,5 | 1724 40 M6 M6
AP20.220.A/CHKO1SON 21,9 160 109,7 | 176,8 | 20
2500
AP20.250.A/CHK01SON 24,8 112,3 | 1819
AP20.280.A/CHK01SON 27,9 130 2200 114,5 | 186,2
AP20.320.A/CHK01SON 32,0 17,5 | 192,4
2000
AP20.340.A/CHKO1SON 34,0 119,0 | 195,9 20 40
AP20.380.A/CHK01SON 38,0 110 122,3 | 201,9
— ] 1750
AP20.400.A/CHKO01SON 40,0 124,0 | 2054

I 44 | REV.AG 17 /09.15



- } blue
DISLI POMPALAR - ascend
www.blueascend.com AP20 - AP10| GEARPUMPS| hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
H
B 08 40
A o, 88
0,4 28 29
19 4 Delik
p q 4,8 / Holes
VAR ki 5=
q $ [ Sikma torku  50Nm
~ T Isa) Tighten torque
- ! Q
T ran L H e L
=R - *@* Ny LN R = ' s
@ fe | A ,,,,;,,,J (W) |
f\B\ L % /®\\ T - 2) )|
g H ST« QA
= L o |
(3o}
— M12x1,5
C I
Ex13 Derinlik < | Ex13 Deriniik - 12,1
Depth D Depth D —Ref. Cap : 16,66
Ref. diameter
— Koniklik : 1/8
Taper
3,2 -0,02
* 012-032 arka pompalar icin / For 012-032 rear pumps y
C=12; D=30; E=M6 =
Ay Kama O
Woodruff key

* 085-095 arka pompalar icin / For 035-095 rear pumps
C=15; D=35 E=M6

lletim Hacmi Maks. Basing
Displacement Max. Pressure Maks. Hiz

Girig — Inlet Cikis - Outlet
cm¥dev(cm?rev) (bar) Max. Speed

d/d (rpm) 7. C E ©
AP20.060/AP10.012.AAB01SN
5,9 1,2 43,8 128,5 172,5 |13,5 13,5
AP20.060/AP10.012.CAB01SN
AP20.080/AP10.017.AAB01SN
8,0 1,7 3500 454 132,7 177,7
AP20.080/AP10.017.CABO1SN
AP20.095/AP10.023.AAB01SN
9,4 2,3 46,5
AP20.095/AP10.023.CAB01SN
AP20.115/AP10.032.AAB01SN
11,4 3,2 250 48,2 140,9 188,7
AP20.115/AP10.032.CABO1SN 220
AP20.140/AP10.038.AAB01SN
13,9 3,8 50,0 146,1 195,1
AP20.140/AP10.038.CABO01SN
3000 20*| 40* M6 * 15 35 M6
AP20.160/AP10.043.AAB01SN
16,0 4,3 51,7 150,2 200,3
AP20.160/AP10.043.CAB01SN
AP20.190/AP10.050.AAB01SN
19,2 5,0 60,2 168,7 220,3
AP20.190/AP10.050.CAB01SN
AP20.220/AP10.063.AAB01SN
21,9 6,3 210 62,3 175,6 229,6
AP20.220/AP10.063.CABO01SN 2500
AP20.250/AP10.078.AAB01SN
24,8 7,8 190 210 64,8 183,6 240,6
AP20.250/AP10.078.CAB01SN
AP20.280/AP10.095.AAB01SN
27,9 9,5 170 200 2200 67 191,5 252 20 40
AP20.280/AP10.095.CABO1SN
REV.AG 17 /09.15 | 45 I

Pompa Tipi
Pump Type

136 182




AP20 - AP20 Hﬂy

5—=

Sikma torku 50 Nm

Tighten torque
A

@9 blue o
> ascend | TANDEM DiSLi POMPALAR
h y draulics TANDEM GEAR PUMPS
A On Kapak Saft Tipi
Front Cover Shaft Type
H 40
B 08 12,1
Aos 4,8
@\ @\ 28
. . [ ]
PN =N TQ §
g i - - D |11 e >
= i 5 \ib W, t =t j
o G- - T %
s Sl =
| M12x1,5
- . o —
Ex13|l33:;:2|lk Ex13§:;:%/ 19 | Ref. Cap : 16,66

* 060 ve 080 arka pompalar icin / For 060 and 080 pumps

C=135: D=302; E=M6

Pompa Tipi
Pump Type

iletim Hacmi
Displacement
cmdev(cm3rev)

11,4

Maks. Basing
Max. Pressure

AP20.140/115.A/CAB02SN

AP20.140/140.A/CABO2SN-T

250

AP20.160/080.A/CABO2SN-T

AP20.160/115.A/CAB02SN-T

T
T
T

AP20.160/160.A/CABO2SN-T
AP20.190/060.A/CABO2SN-T

AP20.160/060.A/CABO2SN-T

AP20.160/140.A/CAB02SN

AP20.190/080.A/CABO2SN-T

AP20.190/115.A/CABO2SN-T

11,4 8,0
1,4 1,4
13,9 5,9
13,9 8,0
13,9 11,4
13,9 13,9
16,0 16,0
16,0 8,0
16,0 11,4
16,0 13,9
16,0 16,0
19,2 59
19,2 8,0
19,2 1,4

(bar)

250

Ref.

diameter

— Koniklik : 1/8

Taper

Maks. Hiz
Max. Speed | A 04
d/d (rpm)

3000

3,2 0,02

Ay Kama
Woodruff key

DRAULIGe

BIEAIR

183,6
48 | 140,6 | 186,7
143,1 | 192,2
142,8 | 187,5
144,3 | 190,6
50
147,0) 196,1
149,0| 200,0
145,9 | 1906 | 20~
1474 | 193,8
51,5 | 150,1 | 199,2
152,1 | 2031
153,7 | 206,3
162,9 | 208,1
60,0 | 164,5 | 211,2
167,2 | 216,3

6,35

40~

M8 *

13,5

96,18

32,53

30,2

UMIPS

29
4 Delik
Holes

Giris — Inlet - Cikis - Outlet -

M6

I 46 | REV.AG 17/09.15



o @Q blue
TANDEM DISLI POMPALAR - ascend

www.blueascend.com AP20 - AP20| TANDEMGEARPUMPS| hydraulics

lletim Hacmi Maks. Basing Gikis - Outlet
__ Displacement Max. Pressure Maks. Hiz
Pompa Tipi cm®dev(cm?rev) (bar) Max. Speed | Azos | B:os
Pump Type d/d (rpm) E c

19,2 13,9 250 169,2 | 220,2
19,2 16,0 250 230 3000 60,2 | 170,7 | 2233
19,2 19,2 190 179,2 | 240,3
21,9 59 166,9 | 211,9
21,9 8,0 168,8 | 2151
21,9 11,4 20 171,5 | 220,6
21,9 13,9 210 62,3 | 173,5 | 224,5
21,9 16,0 230 175,0 | 227,6
21,9 19,2 190 183,5 | 244,7
21,9 21,9 170 185,7 | 2491
24,8 5,9 2500 172,4 | 217,0
24,8 8,0 173,9 | 220,2
24,8 11,4 =0 176,6 | 2257
24,8 13,9 178,6 | 229,6
190 64,8
24,8 16,0 230 180,1 | 232,7
20*| 40* | M8*| 13,5| 30,2 | M6
24,8 19,2 190 188,6 | 249,7
24,8 21,9 170 190,9 | 2541
24,8 24,8 150 195,6 | 259,2
27,9 13,9 67,0 182,9 | 2339
27,9 16,0 170 230 2200 184,4 | 2371
27,9 19,2 190 192,9 | 2541
27,9 21,9 170 1952 | 258,4
27,9 24,8 150 197,7 | 263,5
27,9 27,9 140 199,9 | 267,8
32,0 8,0 184,4 | 230,7
160 2000 70,0
32,0 13,9 189,1 | 2401
32,0 16,0 230 190,6 | 243,3

REV.AG 17 /09.15 | 47 I



blue

é%ascend
hydraulics

MODULER DISLI POMPALAR
MODULAR GEAR PUMPS

AP20 - AP20 Hﬂv@

BIEAIR
PUMIPS

A On Kapak Saft Tipi
Front Cover Shaft Type
H 40
B :08 12,1
48 %
Aoa s 29
714 4 Delik
Q 28 35,7 / Holes
®\ T x
T ' — = © ==&
g Sikma torku 50 Nm ‘ ‘ ‘
,;‘ Tighten torque H A
/R I N A TQ S .
8 I N — R | N Y d‘ o il
R T = T 2
4 A | T G e
e ]
E ] / { 3 5
/ — M12x1,5
» c c —
Ex13 Derinlik Ex13 Derinligk/ 19
Depth D Depth D —Ref. Cap : 16,66

* 060 ve 080 arka pompalar i¢in / For 060 and 080 pumps
C=135; D=230.2;

Pompa Tipi
Pump Type

AP20.115/060.AAB02SN-M

E = M6

iletim Hacmi
Displacement
cm®dev(cm3rev)

AP20.115/060.CAB02SN-M
AP20.115/080.AAB02SN-M

AP20.115/115.CAB02SN-M

AP20.115/115.AAB02SN-M

AP20.140/060.AAB02SN-M
AP20.140/060.CAB02SN-M

AP20.140/080.AAB02SN-M
AP20.140/080.CAB02SN-M

AP20.140/115.CAB02SN-M
AP20.140/140.CAB02SN-M

AP20.160/060.CAB02SN-M

AP20.160/080.AAB02SN-M
AP20.160/080.CAB02SN-M

AP20.140/115.AAB02SN-M

AP20.160/115.AAB02SN-M

AP20.115/080.CAB02SN-M
AP20.160/115.CAB02SN-M

Maks. Basing
Max. Pressure

Ref. diameter

— Koniklik : 1/8
Taper

Maks. Hiz
Max. Speed
d/d (rpm)

3,2 0,02

Ay Kama

6,35

Woodruff key

Girig — Inlet - Cikis - Outlet -
H
C E @

A
144,8 | 189,6
48 | 146,6 | 192,7
149,1 | 198,2
148,8 | 193,56
150,3 | 196,6
50 20*| 40* | M8* | 13,5 | 30,2 | M6
153 202,1
155 206
151,9 | 196,6
51,5 | 153,4 | 199,8
156,1 | 205,2

I 48 | REV.AG 17 /09.15



4 - 59 blue
HELISEL DISLI POMPALAR - ascend
www.blueascend.com APH20 HELICAL GEARPUMPS | hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
B 40
A z04 28 88
@9
19 4 Delik
4,8 / Holes
'\‘?‘ 5=
< Sikma torku  50Nm
D= A [ Tighten torque
/ ‘ S ©
= N / | o == =
i =l | o i / \ 8
& el o (I -
o \? BN \ ))
B T - @
i Lm 5 g
/ M12x1,5
j C - 12,1
Ex13 Derinlik D +—Ref. Cap : 16,66
Depth Ref. diameter
— Koniklik : 1/8
Taper 3,2 -0,02
n
Ay Kama $~
Woodruff key
- iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pompa Tipi .
Pump Type Displacement | Max. Pressure | Max. Speed Azos - -
cm¥/dev(cm’rev) (bar) d/d (rpm) s
APH20.040.A/CAB02SN 3,9 422 85,3 12 12
APH20.060.A/CAB02SN 5,9 3500 43,8 88,4 30,2 M6
13,5
APH20.080.A/CAB02SN 8,0 454 91,6
APH20.095.A/CAB02SN 9,4 46,5 93,9
250
APH20.115.A/CAB02SN 11,4 48,2 97,0
30,2 M6
APH20.140.A/CAB0O2SN 13,9 50,0 101,0 13,5
3000
APH20.160.A/CAB0O2SN 16,0 51,7 104,1
APH20.190.A/CAB02SN 19,2 60,2 1211

APH20.220.A/CAB02SN 21,9 210 62,3 125,5

2500 20 40 M8
APH20.250.A/CAB02SN 24,8 190 64,8 130,4
APH20.280.A/CAB02SN 27,9 170 2200 67,0 134,9
APH20.320.A/CAB02SN 32,0 160 70,0 141,0

2000
APH20.340.A/CAB02SN 34,0 150 71,5 1445 20 40 M8
APH20.380.A/CAB02SN 38,0 140 74,8 150,5

1750

REV.AG 17/09.15 | 49 I

APH20.400.A/CAB0O2SN 40,0 130 76,5 154,0




@Q blue _ o
> ascend | HELISEL DiSLi POMPALAR

BIEAIR

nydreutics |necaicesmrame | apbzo  [r]{{ IRAUILIGPUMPS
On Kapak G Saft Tipi
Front Cover Shaft Type
B
A 104 26 Sikma torku 50Nm
Tighten torque 22—
| 2xM10-10.9 =
|| \
o %50 o
n
)
I —
,/‘ S
o PN o
= RN EEE 2 g =
R [ ] =H N e
i \r 2
3 NI S -
] \ -+ &
W s
o11
30
. ¢ 7,2 , , 2 Delik
Ex13 Derinlik 14,8 min. faydali dis boyu
Holes 60
Depth D Usable shaft length
DIN 5482 B17x14 84
Dis kalinhdi (SW) : 3,2 0,03
Tooth thickness
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed Aos
P hyp cm®/dev(cmrev) (bar) d/d (rpm)
APH20.040.A/CBG01SN 39 M6
APH20.060.A/CBG01SN 59 3500 43,2 87,8 13,5 13,5
APH20.080.A/CBG01SN 8,0 44,8 91,0
APH20.095.A/CBG01SN 9,4 45,9 93,3
250
APH20.115.A/CBG01SN 11,4 47,6 96,4 25
APH20.140.A/CBG01SN 13,9 49,4 100,4 15
3000
APH20.160.A/CBG01SN 16,0 51,1 103,5
APH20.190.A/CBG01SN 19,2 59,6 120,5 40 M6 M6
APH20.220.A/CBG01SN 21,9 210 61,7 124,9 20
2500
APH20.250.A/CBG01SN 24,8 190 64,2 129,8
APH20.280.A/CBG01SN 27,9 170 2200 66,4 134,3
APH20.320.A/CBG01SN 32,0 160 69,4 140,4
2000
APH20.340.A/CBG01SN 34,0 150 70,9 143,9 20 40
APH20.380.A/CBG01SN 38,0 140 74,2 149,9
1750
APH20.400.A/CBG01SN 40,0 130 75,9 153,4

I 50 | REV.AG 17/09.15




www.blueascend.com

C On Kapak
Front Cover

E

APH20

Saft Tipi
Shaft Type

100

Pompa Tipi
Pump Type

APH20.060.A/CCE01SN
APH20.080.A/CCE01SN
APH20.095.A/CCE01SN
APH20.115.A/CCEO01SN
APH20.140.A/CCEO01SN
APH20.160.A/CCE01SN

APH20.190.A/CCE01SN

4 o @Q blue
HELISEL DISLI POMPALAR - ascend
HELICAL GEAR PUMPS hydraulics

APH20.220.A/CCE01SN

APH20.250.A/CCE01SN

APH20.280.A/CCE01SN

APH20.320.A/CCE01SN

APH20.340.A/CCE01SN

APH20.380.A/CCE01SN

A 04 ©—C Sikma torku 50Nm
’ 6,5 102 Tighten torque
27 w0 ==~ 2xM10-10.9
L 47,5 x @2,5 Oring
Al s | ||
4B i‘—}i{ @u ©
ﬁ ‘,\/@\/ ‘,7 < S o
y Y \_‘/ R 3 g8 = /
ﬁk | ;@ n v 3 [ S 3 I
T ' N i S s N N N
\J
C. 2 30 @11
Ex13 Derinlik 3,2 +02 2 Delik
Depth D 7,2 &0 Holes
~ 8 min. 84
c:'; Kege
s |/ Seal
12 02
& g — P *—
S — 3 v
) Q'§
Kavrama 5
Coupling 0,5x30
2,505
iletim Hacmi | Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed Azo4
cm®/dev(cm3rev) (bar) d/d (rpm) C D = c
APH20.040.A/CCEOQ1SN 3,9 416 84,7 12 12
5,9 3500 43,2 87,8 13,5 13,5
8,0 44,8 91,0
9,4 45,9 93,3
250
11,4 47,6 96,4
35
13,9 49,4 100,4 15
3000
16,0 51,1 103,5
19,2 59,6 120,5 40 M6 M6
21,9 210 61,7 | 124,9 20
2500
24,8 190 64,2 129,8
27,9 170 2200 66,4 134,3
32,0 160 69,4 140,4
2000
34,0 150 70,9 143,9 20 40
38,0 140 74,2 149,9
1750
40,0 130 75,9 153,4

APH20.400.A/CCE01SN

REV.AG 17/09.15 | 51 I



é@b gls%eend HELISEL DISLI POMPALAR @EAR

hydraulics | HELICALGEARPUMPS | APH20 Hﬂv@w &H P@MP%

On Kapak $aft Tipi
Front Cover Shaft Type
B 31,5 84
A 204 6,2

65,9

100

50

|\
| ﬁg
| ]
i
|
©82,55 -0,05

o211
2 Delik
Holes

i
| &

C (UNF-2B)xD — -
12 SAE 16-4 (A) 5/8" Spline

|| Evolvent Spline

Dis Dibi Diiz, Yanaktan Alistirmali 106,4 =015

9 Dis, 16/32 DP 130,4

Involute spline
— Flat root side fit
9 Teeth, 16/32 DP

Pompa Tioi lletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump T Z Displacement | Max. Pressure | Max. Speed A z04
P 1yp cm®dev(cm?rev) (bar) d/d (rpm) c c
APH20.040.A/CDC04SN 3,9 42,2 85,3
] 9/16-18 UNF 13 9/16-18 UNF 13
APH20.060.A/CDC04SN 59 3500 43,8 88,4
APH20.080.A/CDC04SN 8,0 45,4 91,6 7/8-14 UNF 16
APH20.095.A/CDC04SN 9,4 46,5 93,9
250
APH20.115.A/CDCO04SN 1,4 48,2 97,0
APH20.140.A/CDC04SN 13,9 50,0 101,0
3000
APH20.160.A/CDC04SN 16,0 51,7 104,1 7/8-14 UNF 16
APH20.190.A/CDC04SN 19,2 60,2 1211
APH20.220.A/CDC04SN 21,9 210 62,3 125,5
2500 11/16-12 UNF 19
APH20.250.A/CDC04SN 24,8 190 64,8 130,4
APH20.280.A/CDC04SN 27,9 170 2200 67,0 134,9
APH20.320.A/CDC04SN 32,0 160 70,0 141,0
2000
APH20.340.A/CDC04SN 34,0 150 71,5 144,5
11/16-12 UNF 19
APH20.380.A/CDC04SN 38,0 140 74,8 150,5
1750
APH20.400.A/CDC04SN 40,0 130 76,5 154,0

I 52 | REV.AG 17/09.15



4 o @Q blue
HELISEL DISLI TANDEM POMPALAR - ascend

www.blueascendcomn APH20 - APH20 | HELICAL GEAR TANDEMPUMPS | hydraulics

A On Kapak B$aft Tipi

Front Cover Shaft Type
H 40
B s08 12,1
88
Aos 4,8 29
4 Delik
% % 28 / Holes
\ < . [ p—)
g Sikma torku 50 Nm
~ Tighten torque
<
=5 %] Q b
s _NldC B ?) == 5
N Il \ \ \\‘/ :j t H - /‘3 A\ &
§ \ \ ,,::,,,4‘ (NN -
H - - W)
8 ¢ ¢ s o/ 7
A 11 { 3 - &
/ M12x1,5
- ¢ c
Ex13 Derinlik Ex13 Derinlik 19
Depth D Depth D —Ref. Cap : 16,66
Ref. diameter
3,2 -002
— Koniklik : 1/8
Taper
3
* 060 ve 080 arka pompalar icin / For 060 and 080 pumps Ay Kama S
C=135; D=302; E=M6 Woodruff key

Girig — Inlet - Cikis - Outlet -

iletim Hacmi Maks. Basing
Displacement Max. Pressure
cm®/dev(cmrev) (bar)

Maks. Hiz
Max. Speed | A z0.4
d/d (rpm)

Pompa Tipi
Pump Type

REV.AG 17 /09.15 | 53 I



égb gls%eend THAENL EEpEﬁlﬁgﬂ PALAR @EAR

hydraulics | HELICAL GEAR TANDEM PUMPS | APH20 Hﬂy@w& @ P@MP%

Pompa Tipi
Pump Type

cm¥dev(cm’rev) (bar) Max. Speed | A:os | B:og
d/d (rpm)
19,2 13,9 250 169,2 | 220,2
19,2 16,0 250 230 3000 602 | 170,7 | 2233
19,2 19,2 190 179,2 | 240,3
21,9 5,9 166,9 | 211,9
21,9 8,0 168,8 | 2151
21,9 13,9 210 62,3 | 173,5 | 224,5
21,9 16,0 230 175,0 | 227,6
21,9 19,2 190 183,5 | 2447
21,9 21,9 170 185,7 | 2491
248 5,9 2500 172,4 | 217,0
24,8 11,4 20 176,6 | 2257
24,8 13,9 178,6 | 229,6
190 64,8

24,8 16,0 230 180,1 | 232,7

20* 40* | M8*| 13,5 | 30,2 | M6
24,8 19,2 190 188,6 | 249,7
24,8 21,9 170 190,9 | 2541
24,8 24,8 150 1956 | 259,2
27,9 5,9 176,7 | 221,4
279 | ma - 1809 | 2200
27,9 13,9 670 | 1829 | 2339
27,9 16,0 170 230 2200 184,4 | 2371
27,9 19,2 190 192,9 | 254,1
27,9 21,9 170 1952 | 258,4
27,9 24,8 150 197,7 | 263,5
27,9 27,9 140 199,9 | 267,8
32,0 5,9 182,9 | 227,6
> 167, | 2002

160 2000 70,0

32,0 13,9 189,1 | 2401
32,0 16,0 230 190,6 | 2433

I 54 | REV.AG 17/09.15

lletim Hacmi Maks. Basing Girig — Inlet Cikis - Outlet
H

Displacement Max. Pressure Maks. Hiz
C E @




blue
DiSLI POMPALAR égb ascend

www.blueascend.com DKP20| GEARPUMPS| hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
B 40
A 5o, ) 88
0,4 8 @9
19 4 Delik
4,8 / Holes
’\Cf [
< Sikma torku  50Nm
- 5 [ Tighten torque
o Wy s ~ 2
S Cb o / ‘ = <
/ uf1 S g J @
o | I — —
° R
@ T ‘t‘ - o
j | = g s
/ M12x1,5
j C | T 12,1
Ex13 Derinlik D t—Ref. Cap : 16,66
Depth Ref. diameter
— Koniklik : 1/8
Taper 3,2 -0,02
n
Ay Kama $~
Woodruff key

Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed Axo4
P 1yp cm¥/dev(cm?rev) (bar) d/d (rpm)

DKP20.040.A/CABO2SN : 422 53
DKP20.060.A/CABO2SN 438 | 884 302 | wme

13,5
DKP20.080.A/CAB02SN , 454 | 91,6
DKP20.095.A/CABO2SN : 46,5 | 93,9
DKP20.115.A/CAB0O2SN 482 | 97,0

302 | M6

DKP20.140.A/CAB02SN 50,0 | 101,0 135
DKP20.160.A/CAB02SN , 51,7 | 1041

20 40 M8
DKP20.190.A/CAB02SN , 60,2 | 1211
DKP20.220.A/CAB02SN , 62,3 | 1255
DKP20.250.A/CAB02SN , 64,8 | 1304
DKP20.280.A/CAB02SN : 67,0 | 134,9 20 40 M8

REV.AG 17 /09.15 | 55 I



@9 blue
<> ascend
hydraulics

DiSLI POMPALAR
GEAR PUMPS

On Kapak
Front Cover

A 04

DKP20

i

]

T T

]
N

100
=

i

‘15,9

50
T
i

G Saft Tipi
Shaft Type
26
=
\ 2

W

Ex13 Derinlik
Depth

Pompa Tipi

Pump Type

DKP20.040.A/CBG01SN

DKP20.060.A/CBG01SN

DKP20.080.A/CBG01SN

DKP20.095.A/CBG01SN

DKP20.115.A/CBG01SN

DKP20.140.A/CBG01SN

DKP20.160.A/CBG01SN

DKP20.190.A/CBG01SN

DKP20.220.A/CBG01SN

DKP20.250.A/CBG01SN

DKP20.280.A/CBG01SN

I 56 | REV.AG 17/09.15

7,2

14,8 min. faydali dis boyu

Usable shaft length
DIN 5482 B17x14
Dis kalinligi (SW) : 3,2 -0,03

Tooth thickness

ORI

Sikma torku 50Nm
Tighten torque 2—>
2xM10-10.9 =

100

!
- ™
3
711
2 Delik 30
Holes 60

iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Displacement | Max. Pressure | Max. Speed
cm¥/dev(cm¥rev) (bar) d/d (rpm) c D = ©
3.9 416 | 847 12 12
5,9 3500 43,2 87,8 13,5 13,5
44,8 91,0
45,9 93,3
280
47,6 96,4
35
49,4 100,4 40 M6 15 M6
3000
51,1 103,5 20
59,6 120,5
240 61,7 124,9
2500
220 64,2 129,8
200 2200 66,4 134,3 20 40




- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com DKP20| GEARPUMPS| hydraulics

C On Kapak Saft Tipi
Front Cover Shaft Type
B
A so4 ©—C Sikma torku 50Nm
' 6,5 +0,2 Tighten torque
37 s = 2xM10-10.9

47,5 x @2,5 Oring

L LAY

T
\
|

dl | _[ £
(S g T
(=] < o
= L N e - S 3
ﬁk‘@ﬂ 7777733009‘:‘5 B
I ‘ T ‘ \U s 5 3
o Y s ©
s ; 30 g11
Ex13 Derinlik 3,2 +02 o
60 e
et > 72 Holes
8 min. 84
0‘_5. Kege
al Seal
12 02
Q 1 E ' — %
s N
- §
Kavrama .
Coupling 0,5x30
2,5 05

Displacement | Max. Pressure | Max. Speed

RN ES cm¥dev(cmrev) (bar) d/d (rpm)

Pompa Tipi lletim Hacmi Maks. Basing Maks. Hiz s H Giris — Inlet Cikis - Outlet

e e e =ale]
12 12

DKP20.040.A/CCEO1SN 416 | 847
DKP20.060.A/CCE01SN 3500 432 | 878 | 135 13,5
DKP20.080.A/CCE01SN 448 | 91,0
DKP20.095.A/CCE01SN 459 | 933
280
DKP20.115.A/CCE01SN 476 | 964 .
DKP20.140.A/CCE01SN 494 | 1004 40 M6 15 M6
3000
DKP20.160.A/CCE01SN 511 | 1035 | 20
DKP20.190.A/CCE01SN 596 | 120,5
DKP20.220.A/CCE01SN 240 617 | 124,9
2500
DKP20.250.A/CCE01SN 220 64,2 | 1298
DKP20.280.A/CCE01SN 200 2200 66,4 | 1343 20 40

REV.AG 17 /09.15 | 57 I



DKP20

@Q blue o

> ascend | DisLi POMPALAR

hydraulics | GEARPUMPS
On Kapak

Front Cover

Saft Tipi
Shaft Type

A 04

100

[T
|

50

g\éﬂ

W RAULIGR

&

S|,

BIEAIR
UMIPS

31,5
6,2
n
———— 0
— N
2]
Q
211
2 Delik
Holes

C (UNF-2B)xD

12

SAE 16-4 (A) 5/8" Spline
Evolvent Spline

Dis Dibi Diiz, Yanaktan Alistirmali
9 Dis, 16/32 DP

106,4 0,15

130,4

Pompa Tipi

Pump Type

DKP20.040.A/CDC04SN 3,9

DKP20.060.A/CDC04SN

DKP20.080.A/CDC04SN

DKP20.095.A/CDC04SN

DKP20.115.A/CDC04SN

DKP20.140.A/CDC04SN

DKP20.160.A/CDC04SN

DKP20.190.A/CDC04SN

DKP20.220.A/CDC04SN

DKP20.250.A/CDC04SN

DKP20.280.A/CDC04SN

I 58 | REV.AG 17/09.15

lletim Hacmi

Maks. Basing

Involute spline
Flat root side fit
9 Teeth, 16/32 DP

Maks. Hiz

Giris — Inlet Cikis - Outlet

Displacement | Max. Pressure | Max. Speed A 04
42,2 85,3
9/16-18 UNF 13 9/16-18 UNF 13
5,9 3500 43,8 88,4
8,0 454 91,6 7/8-14 UNF 16
46,5 93,9
280
48,2 97,0
50,0 101,0
3000
51,7 104,1 7/8-14 UNF 16
11/16-12 UNF 19
60,2 1211
240 62,3 125,5
2500
220 64,8 130,4
200 2200 67,0 134,9




- @Q blue
TANDEM DiSLI POMPALAR - ascend

www.blueascend.com DKP20| TANDEMGEARPUMPS| hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
H 40
B :08 12,1
88
Azos 4,8 29
4 Delik
% ®\ 28 / Holes
Y < E— 55—
8 Sikma torku 50 Nm
,:; Tighten torque
. AN O Tz g .
S D N N Y I 2
— é \ \\ \ \\‘/ :j t T — 4‘ &
8 \Ga’ \63’ 7’/’_,5—4 m
/ | g
/ | M12x1,5
- ~C. .C.
Ex13 Derinlik Ex13 Derinlik 19
Depth D Depth D —Ref. Cap : 16,66
Ref. diameter
3,2 0,02
— Koniklik : 1/8
Taper
* 060 ve 080 arka pompalar igin / For 060 and 080 pumps Ay Kama
C=135; D=302; E=M6 Woodruff key

Girig — Inlet - Cikis - Outlet -

iletim Hacmi Maks. Basing
Displacement Max. Pressure
cm®dev(cmrev) ((ED)

Maks. Hiz
Max. Speed | A 0.4
d/d (rpm)

Pompa Tipi
Pump Type

DKP20.115/060.A/CABO2SN-T
DKP20.115/080.A/CAB02SN-

T
DKP20.140/060.A/CABO2SN-T]
DKP20.140/080.A/CABO2SN-T|

T

DKP20.115/115.A/CABO2SN-T

DKP20.140/115.A/CABO2SN-
DKP20.140/140.A/CABO2SN-T|
DKP20.160/060.A/CABO2SN-T|

DKP20.160/080.A/CABO2SN-T

DKP20.160/115.A/CABO2SN-T

DKP20.160/140.A/CABO2SN-T|
DKP20.160/160.A/CABO2SN-T]

DKP20.190/060.A/CABO2SN-T|
DKP20.190/080.A/CABO2SN-T|
DKP20.190/115.A/CAB02SN-T

REV.AG 17 /09.15 | 59 I



é@b gls%eend TANDEM DISLI POMPALAR @EAR

hydraulics | TANDEM GEAR PUMPS DKP20 Hﬂy@w& @ P@MP%

e e A e T I!ll'!
d/d (rpm) C E ©
19,2 13,9 280 169,2 | 220,2
19,2 16,0 250 280 3000 60,2 | 170,7 | 2233
19,2 19,2 280 179,2 | 240,3
21,9 5,9 166,9 | 211,9
21,9 8,0 168,8 | 215,1
21,9 1,4 171,5 | 220,6
21,9 13,9 240 260 62,3 173,5 | 224,5
21,9 16,0 175,0 | 227,6
21,9 19,2 183,56 | 2447
21,9 21,9 240 185,7 | 249,1
24.8 5,9 2500 172,4 | 217,0
24.8 1,4 176,6 | 225,7
220 64,8
24,8 16,0 180,1 232,7
20*| 40* | M8*| 13,5| 30,2 | M6
24,8 19,2 188,6 | 249,7
24,8 21,9 240 190,9 | 254,1
24,8 24,8 220 195,6 | 259,2
DKP20.280/060.A/CABO2SN-T VAAS] 5,9 176,7 | 221,4
DKP20.280/080.A/CABO2SN-T VAA:] 8,0 178,2 | 2245
27,9 1,4 180,9 | 230,0
27,9 16,0 200 2200 184,4 | 2371
27,9 19,2 192,9 | 254,1
27,9 21,9 240 195,2 | 258,4
27,9 24,8 220 197,7 | 263,5
27,9 27,9 200 199,9 | 267,8

I 60 | REV.AG 17/09.15



. - @Q blue
HELISEL DISLI POMPALAR - ascend
www.blueascend.com DPH20 HELICAL GEARPUMPS | hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
B 40
A =o, 2
0,4 8 29
19 4 Delik
4,8 / Holes
1: Sikma torku  50Nm
, %@X ] [ Tighten torque .
8 ()¢ /| s 3
= Ny = 9
i 7T ”
bR T N
O (I A
A T ‘t‘ A
] L < 8
/ M12x1,5
j T 12,1
Ex13 Derinlik D —Ref. Cap : 16,66
Depth Ref. diameter
— Koniklik : 1/8
Taper 3,2 -0,02 .

Ay Kama
Woodruff key

Displacement | Max. Pressure | Max. Speed
cm®¥/dev(cm?rev) (bar) d/d (rpm)

[elale e elo]
DPH20.040.A/CABO2SN 48,2 101,3 12 12
DPH20.060.A/CABO2SN , 49,8 104,4 30,2 M6
] 13,5

DPH20.080.A/CABO2SN , 51,4 107,6

Pump Type

Pompa Tipi lletim Hacmi Maks. Basing Maks. Hiz s n Giris — Inlet Cikis - Outlet

DPH20.095.A/CABO2SN , 52,5 109,9

DPH20.115.A/CAB02SN ; 54,2 113,0
30,2 M6

DPH20.140.A/CABO2SN , 56,0 117,0 13,5

DPH20.160.A/CABO2SN , 57,7 120,1

73,0 150,9 20 40 M8

20 40 M8

REV.AG 17/09.15 | 61 I



blue BEAR
égb qscend HELISEL DISLI POMPALAR
hydraulics |HELICALGEAR PUMPS DPH20 P@MPS
On Kapak G Saft Tipi
Front Cover Shaft Type
B
A <04 26 Sikma torku  50Nm
Tighten torque 2—>
2xM10-10.9 ==
— o 95 E
- g o
' — | —
L[ R S
i ﬁ\@/ |
o (e
(e - - (e
— U \ \/ ) S 3 g A
O oEe 8 IS !
o T 2 |
LN Ef’* (S B —
_ IR
W s
?11
~C 7.2 ' 30
. L . . 2 Delik
Ex13 Derinlik 14,8 min. faydali dis boyu
Holes 60
Depth D Usable shaft length
DIN 5482 B17x14 84
Dis kalinligi (SW) : 3,2 0,03
Tooth thickness
Pompa Tipi iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed
pyp cm¥dev(cmrev) (bar) d/d (rpm) c D E c
DPH20.060.A/CBG01SN 59 49,2 103,8 13,5 13,5
3500
DPH20.080.A/CBG01SN 320 50,8 107,0
DPH20.095.A/CBG0O1SN 51,9 109,3
DPH20.115.A/CBG01SN 53,6 112,6 25
DPH20.140.A/CBG01SN 55,4 116,4 40 M6 15 M6
300 3000
DPH20.160.A/CBG01SN 57,1 119,5 20
2500

I 62 | REV.AG 17/09.15




4 - @Q blue
HELISEL DISLI POMPALAR - ascend
www.blueascend.com DPH20 HELICAL GEARPUMPS | hydraulics

C On Kapak $aft Tipi

Front Cover Shaft Type
B
A s04 &—C Sikma torku 50Nm
/ 6,5 +02 Tighten torque
27 105 == 2xM10-10.9 N |

47,5 x 2,5 Oring \

-0,03

@52 -0,06

AR

@32

50
47,8 0,2

100
2
|
=N
=
e
4 0,025
8 0,083
100
60

2

b
o
S
lw
S
NS
ge
-

Ex13 Derinlik 3,2 +02
pepth > 7.2 Holes
o 8 min. 84
; Kege
a - Seal
12 02
a 3 M X\,
S — 3 4
) i§
Kavrama .,
Coupling 0,5x30
2,505

- iletim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet

Pompa Tipi )

Pump Type Displacement | Max. Pressure | Max. Speed A4 G 5 =

cm®/dev(cm’rev) (bar) d/d (rpm) c
DPH20.040.A/CCE01SN 3,9 47,6 100,7 12 12

DPH20.060.A/CCE01SN 59 49,2 103,8 13,5 13,5
] 3500
DPH20.080.A/CCE01SN 320 50,8 107,0
DPH20.095.A/CCE01SN 51,9 109,3
DPH20.115.A/CCEO1SN 53,6 12,6 25
DPH20.140.A/CCEO1SN 55,4 116,4 40 M6 15 M6
300 3000
DPH20.160.A/CCE01SN 57,1 119,5 20

DPH20.190.A/CCE01SN 280 65,6 136,5
DPH20.220.A/CCE01SN 250 67,7 140,9
2500
DPH20.250.A/CCEO01SN 230 70,2 145,8
DPH20.280.A/CCEO01SN 210 2200 73,0 150,3 20 40

REV.AG 17 /09.15 | 63 I




@9 blue _ -
> ascend | HELISEL DiSLi POMPALAR
hydraulics | HELICAL GEAR PUMPS DPH20

On Kap

ak

Front Cover

31,5

A 0,4

6,2

Saft Tipi
Shaft Type

100

50

]
|

i
%&

C (UNF-2B)xD

Pompa Tipi
Pump Type

DPH20.040.A/CDC04SN 3,9

DPH20.060.A/CDC04SN )

DPH20.080.A/CDC04SN

DPH20.095.A/CDC04SN

DPH20.115.A/CDC04SN

iletim Hacmi
Displacement

?82,55 -0,05

12

cm®/dev(cm>rev)

Maks. Basing
Max. Pressure

(bar)

SAE 16-4 (A) 5/8" Spline
Evolvent Spline

Dig Dibi Diiz, Yanaktan Alistirmali
9 Dis, 16/32 DP

Involute spline
Flat root side fit
9 Teeth, 16/32 DP

Maks. Hiz
Max. Speed A 04
d/d (rpm)

ORI,

f ;//\ \ \
b (@ =
a2
i,

65,9

106,4 0,15

130,4

211
2 Delik
Holes

Giris — Inlet Cikis - Outlet
o ol o | ¢ |

DPH20.140.A/CDC04SN

DPH20.160.A/CDC04SN

I 64 | REV.AG 17/09.15

48,2 101,3
9/16-18 UNF 13 9/16-18 UNF 13
5,9 3500 49,8 104,4
320 51,4 107,6 | 7/8-14 UNF 16
52,5 109,9
54,2 113,0
56,0 117,0
300 3000
57,7 120,1 7/8-14 UNF 16
11/16-12 UNF 19
280 66,2 137,1
250 68,3 141,5
2500
230 70,8 146,4
210 2200 73,0 150,9




. - @Q blue
HELISEL DISLI TANDEM POMPALAR - ascend

www.blueascendcorn  DPH20 - DPH20 | HELICAL GEAR TANDEMPUMPS | hydraulics

A On Kapak Saft Tipi
Front Cover Shaft Type
H 40
B 08 12,1
Asos 4,8 @29
4 Delik
% <D\ 28 / Holes
\ < T 5=
8 Sikma torku 50 Nm
[ Tighten torque
N o Tm @
= o) Q ha
I RV IR VeI TR .
—| i \ \\/ \ \\‘ :j t T~ — 4‘ gl \ g
. 6 & T -
[ | - )
I M12x1,5
. C
Ex13 Derinlik Ex13 Derinlik 19
Depth D Depth D —Ref. Cap : 16,66
Ref. diameter
3,2 0,02
— Koniklik : 1/8
Taper
A
* 060 ve 080 arka pompalar icin / For 060 and 080 pumps Ay Kama ©
C=135; D=302; E=M6 Woodruff key

Girig—Inlet | | Gikis-Outiet | |

iletim Hacmi Maks. Basing
Displacement Max. Pressure
cm®dev(cm?rev) (bar)

Maks. Hiz
Max. Speed | A 04
d/d (rpm)

Pompa Tipi
Pump Type

REV.AG 17 /09.15 | 65 I



égfb gls%eend THAEI\LJ ggb%@ﬂ PALAR @EAR

hydraulics | HELICAL GEAR TANDEM PUMPS | DPH20 Hﬂv@w& @ P@MP%

PompaThl | ooy | | NS | Aws | B Inll.l
d/d (rpm) C E c
19,2 13,9 300 187,2 | 2483
19,2 16,0 280 300 3000 66,1 | 1888 | 2514
19,2 19,2 280 197,3 | 268,4
21,9 5,9 185,3 | 240,1
21,9 8,0 320 186,9 | 243,2
21,9 1.4 189,6 | 248,7
21,9 13,9 250 68,2 | 191,6 | 252,6
21,9 19,2 280 201,7 | 272,8
21,9 21,9 250 203,8 | 2771
24,8 5,9 2500 190,3 | 245,1
24,8 8,0 320 191,9 | 2483
24,8 1.4 194,6 | 253,8
24,8 13,9 196,6 | 257,7
230 300 70,8
24,8 16,0 198,2 | 260,8
20" 40* | M8*| 13,5| 30,2 | M6
24,8 19,2 280 206,7 | 277,8
24,8 21,9 250 208,8 | 282,2
24,8 24,8 230 213,6 | 2916
DPH20.280/060.A/CAB0O2SN- TS 59 194,7 | 249,5
DPH20.280/080.A/CAB0O2SN- T Y] 8,0 320 196,3 | 252,6
27,9 1.4 199,0 | 258,1
27,9 13,9 201,0 | 262,0
27,9 19,2 280 2111 | 2822
27,9 21,9 250 213,2 | 286,5
27,9 24,8 230 215,8 | 291,6
27,9 27,9 210 218,0 | 295,9

I 66 | REV.AG 17/09.15



0. blue
~%5 ascend
hydraulics

KODLAMA SISTEMI

www.blueascend.com ORDERING CODE

GRUP 30 POMPALARIN KODLAMA SISTEMI
ORDERING CODE OF GROUP 30 PUMPS

Pompa Tipi / Pump Type
Aluminyum Gévdeli Duz Digli Pompa
LGEI A uminium Body Gear Pump
Aluminyum Govdeli Helisel Digli Pompa
APH30 Aluminium Body Helical Gear Pump
Dokum Gévdeli Dz Disli Pompa
DKP30 Cast Iron Body Gear Pump

Dokum Goévdeli Helisel Disli Pompa
DPH30 sy Body Helical Gear Pump

Donls Yonu / Rotation

A = Sol dénus / Counter-clockwise

340/340/340

lletim chmi / Displacement
cm’dev (cm¥rev)
170 = 17 cm’/dev (cm’/rev)

220 = 22 cm’/dev (cm®/rev)

270 = 27 cm®/dev (cm’/rev)

320 = 32 cni /dev (cni/rev)

340 = 34 cm’/dev (cm/rev)

380 = 38 cm’/dev (cm®/rev)

430 = 43 cm’/dev (cm*/rev)

470 = 47 cm’/dev (cm®/rev)

510 = 51 cm’/dev (cm®/rev)

610 = 61 cm’/dev (cm/rev)

730 = 73 cm®/dev (cm®/rev)

(
(
(
(
560 = 56 cm’/dev (cm*/rev)
(
(
(

820 = 82 cm’/dev (cm’rev)

900 = 90 cm’/dev (cm®/rev)

1000 = 100 cm?® /dev (cm? /rev)

C = Sag donus / Clockwise

R = Cift donus / Reversible

On Kapak / Front Cover

N CI /A I 5 I 02 I S|

On Yatak
Outboard Bearing

| O |Var / Available
| |Yok /Absent

Arka Kapak / Rear Cover

Kege / Seal

Standart

Standard

Emniyet Valfi (10 - 90 Bar)
Relief Valve

Emniyet Valfi (70 - 140 Bar)
Relief Valve

Emniyet Valfi (120 - 190 Bar)

Relief Valve

Akis Bélicu Valf
Flow Divider Valve

Emniyet Valfli Akis Kontrol Valfi
Flow Control Valve With Relief Valve

Ytk Duyarli Valf
Load Sensing Valve

Cek Valf
Check Valve

Arkadan Giris-Cikis
Rear Inlet-Outlet

@ E S EER

Basing Kompansatorli Akis Kontrol Valfi
Flow Control Valve Pressure Compensated

Tahrik safti / Drive Shaft Girig - Cikis Delikleri / Inlet and Outlet Ports
I|E.§III
e

Kare tip
Rectangular

@ fief

Baklava tip
Diamond

03 oo SAE Dikdortgen Flans Metrik dis
?% || SAE Square Flange Thread Metric

Al UN-2B dis
@ UN-2B thread

Boru dis
Q " Pipe thread

SAE Dikdortgen Flang UNC dis

LI
m 4?: " SAE Square Flange Thread UNC

S oo fg] . =
om0 oo (| | Bl 0 T
g e [ || CIemOy SO D
HISmEsy msm fg)| | DEINESY &0
IS owem B | RN =1/ ma
el - N e C R =)
SN o [ Tt — =
[ Skcortoen kapak 260 mm Blrorieronat
MU o e R

- Kodlama Ornegi (Tekli) ; AP30.340.CAB02SN

- Kodlama Ornegi (Tandem) ; AP30.340/340/340.CAB02SN

Code Example (Single) Code Example (Tandem)

REV.AG 17 /09.15 | 67




} blue -
> ascend | GENEL BILC
hydraulics | GENERAL INFORMATION

Grup 30 pompalar 17 cc3/dev.'den 100 cc¥/rev.'e kadar ki iletim
hacmine sahip pompalardir.

Kendi icinde AP30, APH30 , DKP30 , DPH30 olarak 4 gruba ayrilir.
asagidaki tablo da bu 4 grubun birbirinden farkli olan teknik 6zel-
likleri belirtilmistir;

-AP30 (Aluminyum Gévdeli Duz Disli Pompalar)
-APH30(Aluminyum Gévdeli Helisel Disli Pompalar)

-DKP30 (Dokum Gévdeli Diiz Digli Pompalar)

-DPH30 (Dékum Gévdeli Helisel Disli Pompalar)

BIEAIR

srour 3o [V IRAILIGRULPS

Group 30 pumps has a working capacity from 17 cc®/rev to 100
cc’/rev.

It has 4 sub-groups in itself as AP30, APH30, DKP30 and DPH30.The
differences between the 4 sub-groups technical specifications can
be found on the below table.

-AP30 (Aluminium Body Gear Pumps)

-APH30 (Aluminium Body Helical Gear Pumps)

-DKP30 (Cast Iron Body Gear Pumps)

-DPH30 (Cast Iron Body Helical Gear Pumps)

AP30 TEKNIK OZELLIKLER / AP30 TECHNICAL DATA

iletim Hacmi
Displacement
cmdev(cm®/rev)

Pompa Tipi

Pump Type

Maks. Basing / Max. Pressure

bar

Maks. Hiz Min. Hiz

Min. Speed

d/d (rpm)

17,0 250 270 290 3000 400
22,0 250 270 290 3000 400
27,0 250 270 290 3000 400
32,0 240 260 280 3000 400
34,0 240 260 280 3000 400
38,0 240 260 280 3000 400
43,0 230 250 270 3000 400
47,0 230 250 270 2500 400
51,0 210 230 250 2500 400
56,0 200 220 240 2500 400
AP30.610 61,0 180 200 220 2500 400
AP30.730 73,0 170 190 210 2500 400
82,0 160 180 200 2500 400
AP30.900 90,0 150 170 190 2000 400
100,0 140 160 180 2000 400
P1: Surekli calisma basinci P2 : Aralikli calisma basinci P3 : Ani basing
Continuous pressure Intermittent pressure Peak pressure
APH30 TEKNIK OZELLIKLER / APH30 TECHNICAL DATA
R ilgtim [T — Maks. Basing / Max. Pressure M'\gikz sz
Pump Type Désplacemaent - £ I, S
cm’/dev(cm’/rev) - d/d (rpm)
17,0 250 270 290 3000 400
22,0 250 270 290 3000 400
27,0 250 270 290 3000 400
32,0 240 260 280 3000 400
34,0 240 260 280 3000 400
38,0 240 260 280 3000 400
43,0 230 250 270 3000 400
47,0 230 250 270 2500 400
51,0 210 230 250 2500 400
56,0 200 220 240 2500 400
61,0 180 200 220 2500 400
APH30.730 73,0 170 190 210 2500 400
82,0 160 180 200 2000 400
APH30.900 90,0 150 170 190 2000 400
100,0 140 160 180 2000 400

P1: Strekli calisma basinci
Continuous pressure

I 68 | REV.AG 17/09.15

P2 : Aralikli calisma basinci
Intermittent pressure

P3 : Ani basing
Peak pressure



- @Q blue
GENEL BILGI > ascend
www.blueascend.com GROUP 30 | GENERAL INFORMATION | hydraulics

DKP30 TEKNIK OZELLIKLER / DKP30 TECHNICAL DATA

iletim Hacmi Maks. Basing / Max. Pressure Maks. Hiz Min. Hiz
Pump Type Displacement P1 P2 P3

cm?dev(cm®/rev)

17,0 280 300 320 3000 400
22,0 280 300 320 3000 400
27,0 280 300 320 3000 400
32,0 260 280 300 3000 400
34,0 260 280 300 3000 400
38,0 260 280 300 3000 400
43,0 260 280 300 3000 400

d/d (rpm)

47,0 250 270 290 2500 400
51,0 240 260 280 2500 400
56,0 230 250 270 2500 400
61,0 220 240 260 2500 400
73,0 200 220 240 2500 400
82,0 190 210 230 2000 400
90,0 180 200 220 2000 400
100,0 180 200 220 2000 400

P1: StrekKli calisma basinci P2 : Aralikli calisma basinci P3 : Ani basing
Continuous pressure Intermittent pressure Peak pressure

DPH30 TEKNIK OZELLIKLER / DPH30 TECHNICAL DATA

tssitin (St Maks. Basing / Max. Pressure Maks. Hiz Min. Hiz

EngaTTg;l Displacement eed Min. Speed
Y cm?dev(cm®/rev)

17,0 320 340 400
22,0 300 320 340 3000 400
27,0 300 320 340 3000 400
32,0 280 300 320 3000 400

d/d (rpm)

34,0 280 300 320 3000 400
38,0 280 300 320 3000 400
43,0 280 300 320 3000 400
47,0 260 280 290 2500 400
51,0 260 280 300 2500 400
56,0 250 270 290 2500 400
61,0 240 260 280 2500 400
73,0 220 240 260 2500 400
82,0 210 230 250 2000 400
90,0 200 220 240 2000 400
100,0 200 220 240 2000 400

P1: SurekKli calisma basinci P2 : Aralikl calisma basinct P3 : Ani basing
Continuous pressure Intermittent pressure Peak pressure

REV.AG 17 /09.15 | 69 I




GROUP 30 Hﬂv@uﬂ M@ @@%%%%

GRUP 30 POMPALARIN DEBI EGRILERI / FLOW CURVES OF GROUP 30 PUMPS

@Q blue -
> ascend | CENEL BILGI
hydraulics | GENERAL INFORMATION

150 100 cc 90 cc 82 cc 73 cc 61 cc 56 cc
51 cc
140
47 cc
130 43
120 cC
110 38 cc
- 100 34 cc
~E 90 32 cc
S=
=g 80 27 cc
S § 70
o _% 60 22 cc
T8
50 17 cc
40
30
20
10
0 . . . . .
500 1000 1500 2000 2500 3000
Devir (d/d)

Speed (rpm)

I 70 | REV.AG 17/09.15



4 , 0. blue
KAPAK TIPLERI | 75 gscend

www.blueascend.com GROUP 30 | FRONTCOVERS | hydraulics

u 118418 E

118,5:18

98,4202 o1t 22

4 Delik
‘ Holes -
O— 4
SRR

214,5

2 Delik ]
/ Holes — "
] s
1| of —f — [ e
g g — s
~HE £ o
= o O
n b o
5 o S} -
x| N L
) T, . 9,5
4,8
174 21,5
57
211
10202 4 Delik 22
Holes ]
|
7 B — g
n . — —-—At——t—-—-
g 5 55 H—g
%‘F 8 @13,5 1 | Q
ol B 8 2 Delik — |
ki b Holes —H
= X L U= |
]
1 5,5
8
122 118
131 418
54
o211
— 4 Delik 22
Holes ™~
—
n 3 ~
N S| ® g
| 2 I — 9] 3 )
g Q 2 g8
14,5 S - - ] se
2 Delik 3 g
Holes n — S
|
<+
A8, 1.
146 202
175 +18

68

151 s18
114,5 <02

I

|

|

T

T

@127 0,05

%ﬂ

I
0,076

60 0,03

148
1494
175

48
14 9.7,
?Dell?k 114,5102
Holes

147 18
REV.AG 17 /09.15 | 71 I




oS

blue

ascend
hydraulics

SAFT TIPLERI
SHAFT TYPES

GROUP 30

VDRADLC, o

51 47
36
5 32 o]
Sikma torku  100Nm Sl_kma torku  100Nm
29,75 Tighten torque 11 Tighten torque
/
5-003 ( \H S 4 -0,03
I T i il
L Vg
Q o )|
Ay Kama ~ M14x1,5 Ay Kama ~
M16x1,5 Woodruff key ! Woodruff key
{Ref. Cap : 21,25 t—Ref. Cap : 21,59
Ref. diameter Ref. diameter
—Koniklik : 1/5 — Koniklik : 1/8 .
Taper Maks. Tork 240 Nm Taper Maks. Tork 240 Nm
Max. Torque Max. Torque
41 E m
41
Diiz Kama
Square Key
6,35%25,4

SAE J498B Spline
Evolvent Spline

13 Dis, 16/32 DP

Involute spline
Flat root side fit
13 Teeth, 16/32 DP

Dis Dibi Dz, Yanaktan Alistirmali

Maks. Tork 280 Nm

|
222,22 0,025 _‘J
25 015

Maks. Tork 200 Nm
Max. Torque

Max. Torque
60
41
42 >
Sikma torku  100Nm Bl
Tighten torque Y
16 f 333 {g
& I
— T 4 A
— - 4,75 002
% SAE J498B Spline
Evolvent Spline

M16x1,5

 Ref. Cap : 24,64
Ref. diameter

Ay Kama
Woodruff key

Dis Dibi Diiz, Yanaktan Aligstirmall
13 Dis, 16/32 DP

Involute spline
Flat root side fit
13 Teeth, 16/32 DP

— Koniklik : 1/8
Taper Maks. Tork 350 Nm Maks. Tork 330 Nm
Max. Torque Max. Torque
E 5.5 m
Diiz Kama
55 Square Key [ 15

ABx7x32-DIN6885

1/4"-28 UNF Civata
Bolt

28 02

@25 -0,05

Maks. Tork 340 Nm
Max. Torque

‘
i )
2255

@52 0.2

Shaft-Mil
DIN5463
6x21x25

Usable Tooth Lenght- Faydali Dis boyu
Min.
Maks. Tork 280 Nm
Max. Torque

72 | REV.AG 17 /09.15



) o , blue
GOVDE DELIK TIPLERI 775 ascend

www.blueascend.com GROUP 30 | BODYHOLETYPES | hydraulics

Kare Tipi Flang
Rectangular Flange

Siparis Kod lletim Hacmi Emig Tarafi
parls ffodu Displacement uction Side
Ordering Code I

cmd/dev (rev)

Basing Tarafi
Pressure Side
o ] d |

01 17-100 27 55 |M8x16| 19 55 M8x16

ExDerinlik
Depth

Baklava Tipi Flans
Diamond Flange

- lletim Hacmi Emis Tarafi Basing Tarafi
SiparisiKodl Displacement Suction Side Pressure Side
Ordering Code &
o o R R AR

17-61 27 51 | M10x19| 19 40 M8x16

02

ExDerinlik

73-100 33 62 | M12x19| 27 51 | M10x19
Depth

03 SAE Dikdoértgen Flans Metrik Dis
SAE Square Flange Metric Thread

o iletim Hacmi Emig Tarafi Basing Tarafi
S'paf@ GGl Displacement Suction Side Pressure Side

Ordering Code cm¥/dev (rev)

Ex19 Derinlik
Depth

90 - 100 51 77,8 429 | 393 | 69,8 | M12 | 357

04 Dis /Thread
(UN-2B) SAE Oring Boss

_ fletim Hacmi Emis Tarafi Basing Tarafi
E Siparis Kodu | b ) coment Suction Side Pressure Side

Ordering Code g
‘ | G N R S I RN

|

i ‘ 17-34 30,5 15/16"-12 UN-2B | 24,8 11/16"-12 UN-2B
rJ ! = \ 04 38-51 39,1 58 15/8"-12 UN-2B | 30,5 | 49 | 15/16"-12 UN-2B

i 56 - 100 45 65 17/8"-12 UN-2B | 39,1| 58 | 15/8"-12 UN-2B

Boru dis / Pipe Thread
E 1S0228/1

e fletim Hacmi Em|§ Tarafi Basing Tarafi
K Siparis Kodu Displacement n Side Pressure Side

|

|

\ Ordering Code 8

‘ cmd/dev (rev) --
Z ! S

i

17 - 51 30,5 G1
30,5 G1
05 56 -73 39 G11/4
= 82-100 45 G112 39 |G11/4

SAE Dikdértgen Flang UNC Dis
, ‘ ) SAE Square Flange UNC Thread

Siparis Kodu iletim Hacmi Emis Tarafi Basing Tarafi
N w Fetd Displacement Suction Side Pressure Side

17-22 47,6 222 | 125 | 381 | 5/16-18 UNC-2B | 17,5
3/8-16 UNC-2B
27-34 254 | 524 262 | 19 47,6 22,2
3/8-16 UNC-2B
Ex19 Derinlik
Depth 06 38-51 30,5 | 58,7 | 7/16-14 UNC-2B | 30,2 | 254 | 524 26,2
56 - 82 39,3 | 69,8 357 | 305 | 587 | 7/16-14 UNC-2B | 302
1/2-13 UNC-2B
90 - 100 51 | 778 429 | 393 | 69,8 | 1/2-13UNC-2B | 357

REV.AG 17/09.15 | 73




éQb gls%een DISLI POMPALAR @EAR
hydrauli f,,' GEAR PUMPS AP30 Hﬂv@w &H PMMP%

C A
A On Kapak Saft Tipi =
Front Cover Shaft Type
i W i
1 1
B 47 120
211
Azo4 32 4 Delik 98,4
22 Holes
— |
B0
41__].— 55—
Sikma torku  100Nm @ ! @
Tighten torque ‘
|
3 ? &
/| g - =
i <
[ee]
I | R
L N Q
Q o
o
L <
M14x1,5
c 4,8
. D L Ref. Cap : 21,59
Ex19 Derinlik Ref. diameter —_
Depth 4 -0,03
— Koniklik : 1/8 ,L,, .
Taper
1
Ay Kama ~
Woodruff key
Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pumg T pe Displacement | Max. Pressure | Max. Speed A 04
yp cmdev(cmrev) (bar) d/d (rpm) c E c
AP30.170.A/CAB02SN 17,0 59,5 1241
AP30.220.A/CAB02SN 22,0 250 61,5 128,1
AP30.270.A/CAB02SN 27,0 63,0 131,1
AP30.320.A/CAB02SN 32,0 3000 64,5 134,1
AP30.340.A/CAB02SN 34,0 240 65,0 135,1
AP30.380.A/CAB02SN 38,0 66,5 138,1 27 51 M10x19 19 40 M8x16
AP30.430.A/CAB02SN 43,0 68,0 141,1
230
AP30.470.A/CAB02SN 47,0 69,5 1441
AP30.510.A/CAB02SN 51,0 210 70,5 146,1
AP30.560.A/CAB02SN 56,0 200 2500 71,5 148,1
AP30.610.A/CAB02SN 61,0 180 74,0 153,1
AP30.730.A/CAB02SN 73,0 170 77,0 160,1
AP30.820.A/CAB02SN 82,0 160 80,0 166,1
33 62 |[M12x19| 27 51 M10x19
AP30.900.A/CAB02SN 90,0 150 2000 83,0 172,1
AP30.1000.A/CAB02SN 100,0 140 86,0 178,1

I 74 | REV.AG 17 /09.15



- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com AP30 GEARPUMPS | hydraulics

A On Kapak $aft Tipi
Front Cover Shaft Type
T T
B 41 120
o011 98,4
A04 4 Delik
22 Holes
Diiz Kama
Square Key
6,35x25,4
5 - 7 . 5 8
0 I T— g =
< ©
T T ) N
o~ o
n
o o
(oo} o
™ <
g n
N‘\ T
c 48 N |
S
D
Ex19 Derinlik
Depth

Pompa Tipi

iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pump Tyoe Displacement | Max. Pressure | Max. Speed A 04
PTyp cm¥dev(cm3rev) (bar) d/d (rpm)
AP30.170.A/CAHO2SN 17,0 59,5 124,1
AP30.220.A/CAHO02SN 22,0 250 61,5 128,1
AP30.270.A/CAHO2SN 27,0 63,0 131,1
AP30.320.A/CAHO2SN 32,0 3000 64,5 134,1
AP30.340.A/CAHO2SN 240 65,0 135,1
AP30.380.A/CAHO2SN 66,5 138,1 27 51 M10x19 19 40 M8x16
AP30.430.A/CAHO2SN 68,0 141,1
230

AP30.470.A/CAHO2SN 69,5 1441
AP30.510.A/CAHO2SN 51,0 210 70,5 146,1
AP30.560.A/CAHO2SN 56,0 200 2500 71,5 148,1
AP30.610.A/CAHO2SN 61,0 180 74,0 153,1
AP30.730.A/CAHO2SN 73,0 170 77,0 160,1
AP30.820.A/CAHO02SN 82,0 160 80,0 166,1

33 62 |M12x19 27 51 M10x19
AP30.900.A/CAHO2SN 90,0 150 2000 83,0 1721
AP30.1000.A/CAH02SN 100,0 140 86,0 178,1

REV.AG 17 /09.15 | 75 I



éQb gls%een DISLI POMPALAR @EAR
hydrauli f,,' GEAR PUMPS AP30 Hﬂv@w &H PMMP%

E(")n Kapak fod Saft Tiri

Front Cover Shaft Type

A 04 41 120
22

25 Faydall Dis Boyu
Full Thread

— @14,5

2 Delik
Holes AN

144

@101,6 -005

72

60

021,802

9,5 SAE J498B Spline
Evolvent Spline

Dis Dibi Diiz, Yanaktan Alistirmali 146
oD 13 Dis, 16/32 DP

C(UN-2B)xE

Involute spline
Flat root side fit 174
13 Teeth, 16/32 DP

Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pump T F; Displacement | Max. Pressure | Max. Speed A 04
p1yp cm®/dev(cmrev) (bar) d/d (rpm) c E c

AP30.170.A/CDC04SN 17,0 59,5 1241
AP30.220.A/CDC04SN 22,0 250 61,5 128,1

15/16"-12 11/16"-12

AP30.270.A/CDC04SN 27,0 63,0 131,1 30,5 49 UNF-2B 24,8 42 UNF-2B
AP30.320.A/CDC04SN 32,0 3000 64,5 134,1
AP30.340.A/CDC04SN 34,0 240 65,0 135,1
AP30.380.A/CDC04SN 38,0 66,5 138,1

AP30.430.A/CDC04SN 43,0 68,0 141,1 N "

w1 | s R w05 | a0 12
AP30.470.A/CDC04SN 47,0 69,5 1441
AP30.510.A/CDC04SN 51,0 210 70,5 146,1
AP30.560.A/CDC04SN 56,0 200 2500 71,5 148,1
AP30.610.A/CDC04SN 61,0 180 74,0 153,1

AP30.730.A/CDC04SN 73,0 170 77,0 160,1 . .

I P
AP30.820.A/CDC04SN 82,0 160 80,0 166,1
AP30.900.A/CDC04SN 90,0 150 2000 83,0 1721
AP30.1000.A/CDCO04SN 100,0 140 86,0 178,1

I 76 | REV.AG 17/09.15



WWW.blueascend.com

AP30

On Kapak ESaﬁ Tipi
Front Cover Shaft Type
B
A 04 46
22
° 950 — 30 Faydali Dis Boyu
- Full Thread
Q@ﬁ h 22 0145
N . 1 A 2 Delik
§ L 7 — é HoIesX

\\@K

TA
@ _
23,5

72

o

gj
g

Ex16 Derinlik/ C

©101,6 -0,05

DiSLI POMPALAR
GEAR PUMPS

blue

égéascend
hydraulics

60

120

174

Giris — Inlet Cikis - Outlet
e ol el o] |

9,5 SAE J498B Spline
Evolvent Spline
Depth Dig Dibi Diiz, Yanaktan Alistirmali
D 15 Dis, 16/32 DP

Involute spline

Flat root side fit

15 Teeth, 16/32 DP

Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pumg T p‘; Displacement | Max. Pressure | Max. Speed A 04
J cm¥dev(cm’rev) (bar) d/d (rpm)
AP30.170.A/CDD0O1SN 17,0 59,5 1241
AP30.220.A/CDD01SN 22,0 250 61,5 128,1
AP30.270.A/CDD0O1SN 27,0 63,0 131,1
AP30.320.A/CDD01SN 3000 64,5 134,1
AP30.340.A/CDD0O1SN 240 65,0 135,1
AP30.380.A/CDD0O1SN 66,5 138,1
AP30.430.A/CDD01SN 68,0 1411
230

AP30.470.A/CDD0O1SN 69,5 1441
AP30.510.A/CDD0O1SN 51,0 210 70,5 146,1
AP30.560.A/CDD01SN 56,0 200 2500 71,5 148,1
AP30.610.A/CDD0O1SN 61,0 180 74,0 153,1
AP30.730.A/CDD01SN 73,0 170 77,0 160,1
AP30.820.A/CDD0O1SN 82,0 160 80,0 166,1
AP30.900.A/CDD01SN 90,0 150 2000 83,0 1721
AP30.1000.A/CDDO1SN 100,0 140 86,0 178,1

27

55

M8x16

19 55 M8x16

REV.AG 17 /09.15 | 77 I



@Q blue o

5 ascend | DisLi POMPALAR

hydraulics | GEARPUMPS AP30
On Kapak

Front Cover

$aft Tipi
Shaft Type

144

W RAULIGR

BEAIR
UMIPS

A 04 41 120
22
Diiz Kama
H — Square Key
Hl 6,35x25,4
lﬂ § ?14,5
1 1 2 Delik
I / Holes\
N 8
o H— T =
o~ ot )
- & B
8 8
/
| S}
9,5
CXE 146
174
- iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
ES::?I’TSZ Displacement | Max. Pressure | Max. Speed A 04
v cm¥dev(cm?rev) (bar) d/d (rpm) c E c e
AP30.170.A/CDHO5SN 17,0 59,5 1241
AP30.220.A/CDHO5SN 22,0 250 61,5 128,1
AP30.270.A/CDHO5SN 27,0 63,0 131,1
AP30.320.A/CDHO5SN 32,0 3000 64,5 134,1
AP30.340.A/CDHO5SN 34,0 240 65,0 135,1 30,5 G1"
AP30.380.A/CDHO5SN 38,0 66,5 138,1
30,5 G1"
AP30.430.A/CDHO5SN 43,0 68,0 1411
230
AP30.470.A/CDHO5SN 47,0 69,5 1441
AP30.510.A/CDHO5SN 51,0 210 70,5 146,1
AP30.560.A/CDHO5SN 56,0 200 2500 71,5 148,1
AP30.610.A/CDHO5SN 61,0 180 74,0 153,1 39 G11/4"
AP30.730.A/CDHO5SN 73,0 170 77,0 160,1
AP30.820.A/CDHO5SN 82,0 160 80,0 166,1
AP30.900.A/CDHO5SN 90,0 150 2000 83,0 1721 45 G11/2" 39 G11/4"
AP30.1000.A/CDHO5SN 100,0 140 86,0 178,1

I 78 | REV.AG 17/09.15




WWW.blueascend.com

blue

égéascend
hydraulics

DiSLI POMPALAR
GEAR PUMPS

AP30

144

fe] On Kapak Saft Tipi
Front Cover Shaft Type
B
A 204 51
102 o211
22 29,75 4 Delik
N | Holes
‘P
Sikma torku 100Nm
7@) Tighten torque
o / 0 o
e} <
= ! g8 . -
Q E S
H = — - n
=1
& S
= . :
wn
M16x1,5
. o | Ref. Cap : 21,59
Ex16 Derinlik <C.| 8 Ref. diameter
Depth
D L Koniklik : 1/5 122
Taper
5 -0,03
Ay Kama ]
Woodruff key ™
Pompa Tipi Il_etim Hacmi Maks. Basing Maks. Hiz Giris — Inlet Cikis - Outlet
Pump Type Displacement | Max. Pressure | Max. Speed Axo04 5 =
cm®/dev(cmrev) (bar) d/d (rpm) c c
AP30.170.A/CGAO01SN 17,0 59,5 1241
AP30.220.A/CGA01SN 22,0 250 61,5 128,1
AP30.270.A/CGA01SN 27,0 63,0 131,1
AP30.320.A/CGAO01SN 32,0 3000 64,5 134,1
AP30.340.A/CGAO01SN 34,0 240 65,0 135,1
AP30.380.A/CGA01SN 38,0 66,5 138,1
AP30.430.A/CGAO01SN 43,0 68,0 1411
230
AP30.470.A/CGAO01SN 47,0 69,5 1441 27 55 M8x16 19 55 M8x16
AP30.510.A/CGAO01SN 51,0 210 70,5 146,1
AP30.560.A/CGAO01SN 56,0 200 2500 71,5 148,1
AP30.610.A/CGA01SN 61,0 180 74,0 153,1
AP30.730.A/CGAO01SN 73,0 170 77,0 160,1
AP30.820.A/CGAO01SN 82,0 160 80,0 166,1
AP30.900.A/CGAO01SN 90,0 150 2000 83,0 1721
AP30.1000.A/CGA01SN 100,0 140 86,0 178,1

REV.AG 17 /09.15 | 79 I



éQb gls%een DISLI POMPALAR @EAR
hydrautics | i | arso TORAVLIC pusips

H On Kapak Saft Tipi
Front Cover Shaft Type
B
A 04
25 Diiz Kama
Square Key
3\ ABx7x32-DIN6885
A
E n [ / n $
J - 4 ¢
B e it | e 3 w @
(o N\
M ©
N (S
[ o
- @13,5 <
- 2 Delik
= g Holes
i
57 5,5 a
CxE
131

Pompa Tipi ilgtim Hacmi Maks. Basing Maks. Hiz n
Pump Type Dlgplacerr;ent Max. Pressure | Max. Speed A 04 _
cm?dev(cmrev) (bar) d/d (rpm)
AP30.170.A/CHPO5SN 17,0 94,5 159,1
AP30.220.A/CHPO5SN 22,0 250 96,5 163,1
AP30.270.A/CHPO5SN 27,0 98,0 166,1
AP30.320.A/CHPO5SN 32,0 3000 99,5 169,1
AP30.340.A/CHPO5SN 34,0 240 100,0 | 170,1 30,5 G1"
AP30.380.A/CHPO5SN 38,0 101,5 | 1731
30,5 G1"
AP30.430.A/CHPO5SN 43,0 103,0 | 176,1
AP30.470.A/CHPO5SN 47,0 20 104,5 | 1791
AP30.510.A/CHPO5SN 51,0 210 105,5 | 181,1
AP30.560.A/CHP0O5SN 56,0 200 2500 106,5 | 183,1
AP30.610.A/CHPO5SN 61,0 180 109,0 | 188,1 39 G11/4"
AP30.730.A/CHPO5SN 73,0 170 112,0 | 1951
AP30.820.A/CHPO5SN 82,0 160 115,0 | 2011
AP30.900.A/CHPO5SN 90,0 150 2000 118,0 | 2071 45 G11/2" 39 G11/4"
AP30.1000.A/CHPO5SN 100,0 140 121,0 | 2131

I 80 | REV.AG 17/09.15



- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com AP30 GEARPUMPS | hydraulics

K On Kapak $aft Tipi

Front Cover Shaft Type
B 120
A 04 41
Cf 33,3 _| Faydal Dis Boyu
N Full Thread
-
|- _—
~ ?14,5
N S 2 Delik
- . oo Holes
: D=
v R b
N S
N| Q
/ n
2
/ ©
95 | SAE 4988 Spline
Evolvent Spline
Dis Dibi Diiz, Yanaktan Alistirmali
C(UN-2B)XE 13 Dis, 16/32 DP
2D 54 146
Involute spline

Flat root side fit

13 Teeth, 16/32 DP 175
Pompa Tipi Ilgtim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pump Type Displacement | Max. Pressure | Max. Speed Axo04
cm’/dev(cmrev) (CED) d/d (rpm) C E c

AP30.170.A/CKM04SN 17,0 91,5 156,1
AP30.220.A/CKMO04SN 22,0 250 93,5 160,1

15/16"-12 11/16"-12
AP30.270.A/CKMO04SN 27,0 95,0 163,1 | 30,5 49 UNF-2B 24,8 42 UNF-2B
AP30.320.A/CKMO04SN 32,0 3000 96,5 166,1
AP30.340.A/CKM04SN 34,0 240 97,0 167,1
AP30.380.A/CKM04SN 38,0 98,5 170,1
AP30.430.A/CKMO4SN 43,0 100,0 | 173,1 15/8" "

230 301 | 88 | \812) 305 | a9 |'516-12

AP30.470.A/CKMO4SN 47,0 101,5 | 176,1 )
AP30.510.A/CKMO04SN 51,0 210 102,5 | 178,1
AP30.560.A/CKM04SN 56,0 200 2500 103,5 | 180,1
AP30.610.A/CKMO04SN 61,0 180 106,0 | 185,1
AP30.730.A/CKMO4SN 73,0 170 109,0 | 192,1

17/8"-12 15/8"-12

4 185 | ynpa | 391 | %8 | ynFoB

AP30.820.A/CKMO04SN 82,0 160 112,0 | 198,1
AP30.900.A/CKMO04SN 90,0 150 1500 115,0 | 2041
AP30.1000.A/CKM04SN 100,0 140 118,0 | 210,1

REV.AG 17/09.15 | 81 I



@Q blue o
5 ascend | DisLi POMPALAR
hydraulics | GEARPUMPS AP30

W RAULIGR

BEAIR

UMIPS

149,5

M8x16

L On Kapak K Saft Tipi
Front Cover Shaft Type
B
140
A ou 114,3
4 Delik .
2 60 Holes "\ | ‘
¥ | 0
. | ©
“ i N
Sikma torku 100Nm
— Tighten torque @ i @
< n
= il / 58 .
Q [ T E# e
R | S (a2}
o
o [ A O
~ S}
\_F i
LM16x1,5 o
Ex16 Derinlik C ——Ref. Gap : 24,64
Depth e 4,8 Ref. diameter n,
D WY
—— Koniklik : 1/8 Py
Taper 4,75 -0,02 (
Ay Kama
Woodruff key
= . iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
ompa Tipi )
Pump Type Displacement | Max. Pressure | Max. Speed
cmdev(cm’rev) (bar) d/d (rpm) C D E c
AP30.170.A/CLKO1SN 17,0 59,5 124,1
AP30.220.A/CLKO1SN 22,0 250 61,5 128,1
AP30.270.A/CLKO1SN 27,0 63,0 131,1
AP30.320.A/CLKO1SN 32,0 3000 64,5 134,1
AP30.340.A/CLKO1SN 34,0 240 65,0 135,1
AP30.380.A/CLKO1SN 38,0 66,5 138,1
AP30.430.A/CLKO1SN 43,0 68,0 141,1
230
AP30.470.A/CLKO1SN 47,0 69,5 1441 27 55 M8x16 19 55
AP30.510.A/CLKO1SN 51,0 210 70,5 146,1
AP30.560.A/CLKO1SN 56,0 200 2500 71,5 148,1
AP30.610.A/CLKO1SN 61,0 180 74,0 153,1
AP30.730.A/CLKO1SN 73,0 170 77,0 160,1
AP30.820.A/CLKO1SN 82,0 160 80,0 166,1
AP30.900.A/CLKO1SN 90,0 150 2000 83,0 172,1
AP30.1000.A/CLKO1SN 100,0 140 86,0 178,1

I 82 | REV.AG 17/09.15



- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com AP30 GEARPUMPS | hydraulics

S On Kapak U Saft Tipi
Front Cover Shaft Type
B
A £0,4 120
= 15
T o @12
P a3 3 Delik
§ K I r"Q Holes
M || Q
= I I S I
- || | y oA oo —
1 8 82
—— 2
N il = || S
F: / @
/ Shaft-Mil
— DIN5463
6x21x25
Usable Tooth Lenght
56,5 3 Faydali Dig boyu
CxD 16 Min.

- iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet 1kis - Outlet
Pompa Tipi )
Pump Tyoe Displacement | Max. Pressure | Max. Speed A 04
2 cm®/dev(cm3rev) (bar) d/d (rpm) c E c

AP30.170.A/CSUO5SN 17,0 94,0 158,6

AP30.220.A/CSUO05SN 22,0 250 96,0 162,6

AP30.270.A/CSUO5SN 27,0 97,5 165,6
AP30.320.A/CSUO5SN 32,0 3000 99,0 168,6

AP30.340.A/CSUO5SN 34,0 240 99,5 169,6 30,5 G1”
AP30.380.A/CSUO5SN 38,0 101,0 | 172,6
30,5 G1"
AP30.430.A/CSUO5SN 43,0 102,5 | 175,6
230
AP30.470.A/CSUO5SN 47,0 104,0 | 178,6

51,0 210 105,0 | 180,6
56,0 200 2500 106,0 | 182,6
61,0 180 108,5 | 187,6 39 G11/4"
73,0 170 11,5 | 194,6

AP30.820.A/CSUO5SN 82,0 160 114,5 200,6
AP30.900.A/CSUO5SN 90,0 150 2000 117,5 206,6 45 G11/2" 39 G11/4"
AP30.1000.A/CSUO05SN 100,0 140 120,5 212,6

REV.AG 17/09.15 | 83 I




@Q blue o

5 ascend | DisLi POMPALAR
hydraulics | GEARPUMPS AP30

On Kapak Saft Tipi
M Front Cover K Shaft Type
B
A 04
22 60

BEAIR

EMDRAU N Beies

114,2

120

127

' Giris — Inlet Cikis - Outlet

Ce e e eife]

27 55 M8x16 19 55 M8x16

Sikma torku 100Nm -
—\i\/;/o) /Tighten torque
<«
3 _
! .
& B o Es
Ty 7 2
N H I S}
Ml N
3| @
— LM16x1,5
Ex16 Derinlik C ——Ref. Cap : 24,64
Depth e 48 Ref. diameter
D 0,
L Koniklik : 1/8 WY
Taper g
4,75-0,02
B
Ay Kama
Woodruff key
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pump T Z Displacement | Max. Pressure | Max. Speed
PP cm®/dev(cm?rev) (bar) d/d (rpm)
AP30.170.A/CMK01SN 17,0 59,5 1241
AP30.220.A/CMK01SN 22,0 250 61,5 128,1
27,0 63,0 131,1
32,0 3000 64,5 134,1
AP30.340.A/CMKO01SN 34,0 240 65,0 1351
AP30.380.A/CMK01SN 38,0 66,5 138,1
AP30.430.A/CMKO01SN 43,0 68,0 1411
230
AP30.470.A/CMKO01SN 47,0 69,5 1441
51,0 210 70,5 146,1
56,0 200 2500 71,5 148,1
61,0 180 74,0 153,1
73,0 170 77,0 160,1
82,0 160 80,0 166,1
90,0 150 2000 83,0 1721
100,0 140 86,0 178,1

I 84 | REV.AG 17/09.15




TANDEM DiSLI POMPALAR
wWww .blueascend.com AP30 - AP20 TANDEM GEAR PUMPS

@Q blue
<> ascend
hydraulics

@11
4 Delik
Holes

128

A On Kapak Saft Tipi
Front Cover Shaft Type
H
B +0,8 47
A £0,4 32
;9 Q 2 11
// I
] [ L \
o1
Jd B S S oo
3 = N ! P\AC\\ % o
— . N . n
Ve X b L[/l = g
: EARN E=di =R
- A1 @ -
£ S
E7 & | LM14><1,5 o
D o || |-Ref. Gap: 21,59
/ D 4,8 Ref. diameter
E L Koniklik : 1/8
Taper )

PP ) Ay Kama R
C(c), D(d) ve E(e) dlgllerine tekli pompalarin tablolarindan bakiniz. Woodruff key
C (c) D (d), and E (e) in the table see dimensions of a single pump.

iletim Hacmi Maks. Basing
Displacement Max. Pressure Maks. Hiz
cm¥/dev(cm?rev) (bar) Max. Speed

Pompa Tipi
Pump Type

d/d (rpm)
AP30.170/AP20.040.A/CAB0O2SN 17,0 3,9
250
AP30.220/AP20.060.A/CABO2SN [w#X1] 5,9
230

AP30.270/AP20.080.A/CABO2SN Ay 8,0

AP30.320/AP20.095.A/CAB02SN 32,0 9,4 3000

AP30.340/AP20.115.A/CAB02SN 34,0 11,4
AP30.380/AP20.140.A/CABO2SN 38,0 13,9
210

AP30.430/AP20.160.A/CABO2SN xRV 16,0

AP30.470/AP20.190.A/CAB02SN 47,0 19,2

AP30.510/AP20.220.A/CAB02SN 51,0 21,9 210 200 2500
AP30.560/AP20.250.A/CAB0O2SN 56,0 24,8 200 190

AP30.610/AP20.280.A/CABO2SN GERY 27,9 180 180 1750

AP30.730/AP20.320.A/CAB02SN 73,0 32,0 170 170

AP30.820/AP20.340.A/CABO2SN [:¥XV 34,0 160 160

1500
AP30.900/AP20.380.A/CAB02SN 90,0 38,0 150 150
AP30.1000/AP20.400.A/CABO2SN JIVeXY 40,0 140 140

61,5 171,8 | 216,6
63,0 176,4 | 2227
64,5 180,6 | 228,0
240
65,0 183,1 | 232,2
66,5 188,1 | 239,1
68,0 192,6 | 2453
230
69,5 204,1 | 2653
70,5 208,4 | 271,6
715 | 2129 | 2787
74,0 | 220,1 | 288,0
77,0 230,1 | 301,2
80,0 237,6 | 310,7
83,0 246,9 | 322,7
86,0 2546 | 3322

REV.AG 17 /09.15 | 85 I



égb gls%eend TANDEM DISLI POMPALAR AP30 - AP30 PM%%%%%
hydraulics | TANDEM GEAR PUMPS - W@

A On Kapak Saft Tipi N
Front Cover Shaft Type |
L
H 47
B £0,8 32
A =04 11 120
98,4 211
®\ ®\ 22| 4 Delik
- e | = Holes
) ) [ | %M§
- = o @
Sikma torku 100Nm !
| /*’@* /E% Tighten torque
3 oY e ! g 7 N 8
v e ne mjgﬁ @ @§
o [ (I I o !
. : T TEHIHT
L 7 |t ¢
| M14x1,5 @
C C L Ref. Cap : 21,59
—_— —_— 4,8 Ref. diameter ‘
Ex19 gggﬂl‘lk Ex19 ggg‘[}l]lk ngg(rllk 1/8 @9
4-0,03 ( p
Ay Kama 2
Woodruff key
lletim Hacmi Maks. Basing GII‘I$ Inlet (;|k|§ Outlet
- Displacement Max. Pressure
=] T Maks. Hiz
Pgﬁgi—yg T, M;/)é. (SpE?d - H lﬂll"
rpm
AP30.170/170.A/CABO2SN 174,6 | 239,2
AP30.220/220.A/CAB02SN 180,6 247,2
AP30.270/270.A/CAB02SN 185,1 253,2
AP30.320/320.A/CAB02SN 189,6 | 259,2
AP30.340/340.A/CAB0O2SN 1911 261,2
AP30.380/380.A/CABO2SN 1956 | 2672 | 27 | 51 | MO) 19 | a0 | MO
AP30.430/430.A/CABO2SN 200,1 273,2
AP30.470/470.A/CAB02SN 204,6 | 279,2
AP30.510/510.A/CAB02SN 207,6 | 283,2
AP30.560/560.A/CAB02SN 210,6 | 287,2
AP30.610/610.A/CAB02SN 218,1 297,2
AP30.730/730.A/CAB0O2SN 228,1 311,2
AP30.820/820.A/CAB0O2SN 2371 323,2 M12 M10
33 62 x19 27 51 x19
AP30.900/900.A/CAB0O2SN 246,1 335,2
AP30.100/100.A/CABO2SN 255,1 347,2

I 86 | REV.AG 17/09.15



. - @Q blue
HELISEL DISLI POMPALAR - ascend

www.blueascend.com APH30 | HELICALGEARPUMPS | hydraulics
" £ A
A On Kapak Saft Tipi —
Front Cover Shaft Type
@
\ \
B 47 120
@11
Azo4 32 4 Delik 98,4
22 Holes
T |
O———0
L =
Sikma torku  100Nm @ I o
Tighten torque ‘
p> VY 5! &
L= g
<]
T 2
L N é o
¢
LM14X1,5
& 4.8
D L .
Ex19 Derinlik Eg; giaapr)n-etzelrl >9 B
Depth 4 -0,03
— Koniklik : 1/8 L,, .
Taper
1
Ay Kama ~
Woodruff key

Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pump T pe Displacement | Max. Pressure | Max. Speed A 04
pIyp cmdev(cmrev) (bar) d/d (rpm)

APH30.170.A/CAB02SN 17,0 59,5 1241
APH30.220.A/CAB0O2SN 22,0 250 61,5 128,1
APH30.270.A/CAB02SN 27,0 63,0 131,1
APH30.320.A/CAB02SN 32,0 64,5 134,1

3000
APH30.340.A/CABO2SN 240 65,0 135,1
APH30.380.A/CAB02SN 66,5 138,1 27 51 M10x19 19 40 M8x16
APH30.430.A/CABO2SN 68,0 141,1

230

APH30.470.A/CAB02SN 69,5 1441
APH30.510.A/CAB02SN 51,0 210 2500 70,5 146,1
APH30.560.A/CAB02SN 56,0 200 71,5 148,1
APH30.610.A/CAB02SN 61,0 180 1750 74,0 153,1
APH30.730.A/CAB02SN 73,0 170 77,0 160,1
APH30.820.A/CAB02SN 82,0 160 80,0 166,1

1500 33 62 |M12x19 27 51 M10x19
APH30.900.A/CAB02SN 90,0 150 83,0 172,1
APH30.1000.A/CAB0O2SN 100,0 140 86,0 178,1

REV.AG 17 /09.15 | 87 I



blue BEIR
éQb ascend | HELISEL DiSLi POMPALAR
hydraulics |HELICALGEAR PUMPS APH30 PMMP%
A On Kapak $aft Tipi
Front Cover Shaft Type
B 41 120
o11 98,4
Azos 4 Delik
22 Holes
Diiz Kama
Square Key
6,35x25,4
5 - 7 . 5 8
[\a) S I 5 B E— P =
~ = .
< [
T n N
o o
n
Q Q)
2 g
g LN
ﬁ'\ T
c 48 g |
D
Ex19 Derinlik
Depth
Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pump T F; Displacement | Max. Pressure | Max. Speed A 04
s omi/devicmirev) | (bar) d/d (rpm) © ; “ﬂ
APH30.170.A/CAH02SN 17,0 59,5 124,1
APH30.220.A/CAH02SN 22,0 250 61,5 128,1
APH30.270.A/CAH02SN 27,0 63,0 131,1
APH30.320.A/CAH02SN 32,0 64,5 134,1
3000
APH30.340.A/CAH02SN 34,0 240 65,0 135,1
APH30.380.A/CAH02SN 38,0 66,5 138,1 27 51 |M10x19| 19 40 M8x16
APH30.430.A/CAH02SN 43,0 68,0 1411
230
APH30.470.A/CAH02SN 47,0 69,5 1441
APH30.510.A/CAH02SN 51,0 210 2500 70,5 146,1
APH30.560.A/CAH02SN 56,0 200 71,5 148,1
APH30.610.A/CAH02SN 61,0 180 1750 74,0 153,1
APH30.730.A/CAH02SN 73,0 170 77,0 160,1
APH30.820.A/CAH02SN 82,0 160 80,0 166,1
1500 33 62 |M12x19| 27 51 |M10x19
APH30.900.A/CAH02SN 90,0 150 83,0 172,1
APH30.1000.A/CAHO2SN 100,0 140 86,0 178,1

I 88 | REV.AG 17/09.15



. - @Q blue
HELISEL DISLi POMPALAR > ascend
www.blueascend.com APH30 | HELICALGEARPUMPS | hydraulics

E(")n Kapak fod Saft Tiri

Front Cover Shaft Type

A 04 41 120
22

25 Faydall Dis Boyu
Full Thread

— @14,5

2 Delik
Holes AN

144

@101,6 -005

72

60

21,8 012

9,5 SAE J498B Spline
Evolvent Spline

Dis Dibi Diiz, Yanaktan Alistirmali 146
oD 13 Dis, 16/32 DP

C(UN-2B)xE

Involute spline
Flat root side fit 174
13 Teeth, 16/32 DP

Pompa Tipi
Pump Type

lletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
c

cm®/dev(cmrev) (bar) d/d (rpm)
APH30.170.A/CDC04SN 17,0 59,5 1241

APH30.220.A/CDC04SN 22,0 250 61,5 128,1

15/16"-12 11/16"-12

APH30.270.A/CDC04SN 27,0 63,0 131,1 30,5 49 UNF-2B 24,8 42 UNF-2B

APH30.320.A/CDC04SN 32,0 64,5 1341
— 3000

APH30.340.A/CDC04SN 34,0 240 650 | 135,1

APH30.380.A/CDCO4SN 38,0 66,5 | 138,1

APH30.430.A/CDC04SN 43,0 68,0 | 141,1 sa /16t
230 31 158 | ynpos | 305 | 49 [GnFos

APH30.470.A/CDCO4SN 47,0 69,5 | 144,1

APH30.510.A/CDC04SN 51,0 210 2500 70,5 146,1
APH30.560.A/CDC04SN 56,0 200 71,5 148,1
APH30.610.A/CDC04SN 61,0 180 1750 74,0 153,1

7 77,0 | 1601
APH30.730.A/CDCO4SN 3,0 170 ol Rl o R
65 | unr2s | 39T 58 | UnFoB
APH30.820.AICDCO4SN 82,0 160 80,0 | 166,1
1500
APH30.900.A/CDCO4SN 90,0 150 830 | 1721

APH30.1000.A/CDC04SN 100,0 140 86,0 178,1

REV.AG 17 /09.15 | 89 I



@Q blue _ -
> ascend | HELISEL DiSLi POMPALAR
hydraulics | HELICAL GEAR PUMPS APH30

On Kapak ESaﬁ Tipi
Front Cover Shaft Type

A $04 46
22

o I :
A 450 30 Faydali Dis Boyu
é/—‘\i Full Thread
%ﬁ 23
JEERN . — %
I LN
= - S

\\@K
&
23,5 |
|
[
©101,6 -0,05

f
feaseet

M DRAULIGE

BEAIR

UMIPS

@14,5

2 Delik
HoIesX

120

174

Giris — Inlet Cikis - Outlet
e ol el o] |

o~
~
o
O
k/ 9,5 SAE J498B Spline
Ex16 Derinli C Evolvent Spline
Depth Dig Dibi Diiz, Yanaktan Alistirmali
D 15 Dis, 16/32 DP
Involute spline
Flat root side fit
15 Teeth, 16/32 DP
SN iletim Hacmi Maks. Basing Maks. Hiz
Pumg T p‘; Displacement | Max. Pressure | Max. Speed A 04
J cm¥dev(cm’rev) (bar) d/d (rpm)
APH30.170.A/CDD01SN 17,0 59,5 1241
APH30.220.A/CDD01SN 22,0 250 61,5 128,1
APH30.270.A/CDD01SN 27,0 63,0 1311
APH30.320.A/CDD01SN 32,0 64,5 134,1
— 3000
APH30.340.A/CDD01SN 34,0 240 65,0 135,1
APH30.380.A/CDD01SN 38,0 66,5 138,1
APH30.430.A/CDD01SN 43,0 68,0 1411
230
APH30.470.A/CDD01SN 47,0 69,5 1441
APH30.510.A/CDD01SN 51,0 210 2500 70,5 146,1
APH30.560.A/CDD01SN 56,0 200 71,5 148,1
APH30.610.A/CDD01SN 61,0 180 1750 74,0 153,1
APH30.730.A/CDD01SN 73,0 170 77,0 160,1
APH30.820.A/CDD01SN 82,0 160 80,0 166,1
1500
APH30.900.A/CDD01SN 90,0 150 83,0 1721
APH30.1000.A/CDDO1SN 100,0 140 86,0 178,1

I 90 | REV.AG 17/09.15

27

55

M8x16

19

55

M8x16




WWW.blueascend.com

On Kapak
Front Cover

B

A 04

A

APH30

Saft Tipi
Shaft Type

51

22

29,75

5=
Sikma torku 100Nm
Tighten torque

< n
: . :
L’ 0D
gi s
| h ] E
=
Q Q
(s2] —
— 0|
wn
M16x1,5
. o | Ref. Cap : 21,59
Ex16 Derinlik <G| 8 Ref diameter
Depth
D —Koniklik : 1/5 ®\9
Taper
5-0,03 ;
Ay Kama L)
Woodruff key ™
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pump T pe Displacement | Max. Pressure | Max. Speed A o4
P Typ cm®dev(cmrev) (CED) d/d (rpm)
APH30.170.A/CGA01SN 17,0 59,5 1241
APH30.220.A/CGA01SN 22,0 250 61,5 128,1
APH30.270.A/CGA01SN 27,0 63,0 1311
APH30.320.A/CGAO01SN 32,0 64,5 1341
— 3000
APH30.340.A/CGA01SN 34,0 240 65,0 135,1
APH30.380.A/CGA01SN 38,0 66,5 138,1
APH30.430.A/CGA01SN 43,0 68,0 1411
230
APH30.470.A/CGAO01SN 47,0 69,5 1441
APH30.510.A/CGA01SN 51,0 210 2500 70,5 146,1
APH30.560.A/CGAO01SN 56,0 200 71,5 148,1
APH30.610.A/CGA01SN 61,0 180 1750 74,0 153,1
APH30.730.A/CGAO01SN 73,0 170 77,0 160,1
APH30.820.A/CGA01SN 82,0 160 80,0 166,1
1500
APH30.900.A/CGAO01SN 90,0 150 83,0 1721
APH30.1000.A/CGA01SN 100,0 140 86,0 178,1

HELISEL DISLI POMPALAR
HELICAL GEAR PUMPS

o

hydraulics

blue
ascend

o211
4 Delik
Holes

ii
¥

7 :,} > : \

145

48

Girig — Inlet Cikis - Outlet
e o e o] o]

27

55

M8x16

19

55 M8x16

REV.AG 17/09.15 | 91 I



éQb gls%een DISLI POMPALAR @EAR
hydrauli f,,' GEAR PUMPS DKP30 Hﬂv@w &H PMMP%

C A
A On Kapak Saft Tipi =
Front Cover Shaft Type
i W i
1 1
B 47 120
211
A 04 32 4 Delik 98,4
22 Holes
— |
B0
41__].— 55—
Sikma torku  100Nm @ ! @
Tighten torque ‘
I
3 ? &
/| g - =
i <
[ee]
I | R
L N Q
Q o
o
L <
M14x1,5
c 4,8
. D Ref. Cap : 21,59
Ex19 Derinlik Ref. diameter —_
Depth 4 -0,03
— Koniklik : 1/8 ,L,, -
Taper
1
Ay Kama ~
Woodruff key
- iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pompa Tipi .
Pump Type Displacement | Max. Pressure | Max. Speed A 04 G E
cmdev(cmrev) (bar) d/d (rpm) ¢
DKP30.170.A/CABO2SN 17,0 59,5 1241
DKP30.220.A/CABO2SN 22,0 280 61,5 128,1
DKP30.270.A/CABO2SN 27,0 63,0 131,1
DKP30.320.A/CAB02SN 32,0 3000 64,5 134,1
DKP30.340.A/CABO2SN 34,0 65,0 135,1
260
DKP30.380.A/CAB02SN 38,0 66,5 138,1 27 51 M10x19 19 40 M8x16
DKP30.430.A/CAB02SN 43,0 68,0 141,1
DKP30.470.A/CAB02SN 47,0 250 69,5 1441
DKP30.510.A/CAB02SN 51,0 240 70,5 146,1
DKP30.560.A/CAB02SN 56,0 230 2500 71,5 148,1
DKP30.610.A/CAB02SN 61,0 220 74,0 153,1
DKP30.730.A/CAB02SN 73,0 200 77,0 160,1
DKP30.820.A/CAB02SN 82,0 190 80,0 166,1
33 62 |[M12x19| 27 51 M10x19
DKP30.900.A/CAB02SN 90,0 1500 83,0 172,1
— 180
DKP30.1000.A/CAB02SN 100,0 86,0 178,1

I 92 | REV.AG 17/09.15



- @Q blue
DISLI POMPALAR - ascend
www.blueascend.com DKP30 GEARPUMPS | hydraulics

A On Kapak $aft Tipi
Front Cover Shaft Type
T T
B 41 120
o011 98,4
A04 4 Delik
22 Holes
Diiz Kama
Square Key
6,35x25,4
5 - 7 . 5 8
0 I T— g =
< ©
T T ) N
o~ o
n
o o
(oo} o
™ <
g n
N‘\ T
c 48 N |
S
D
Ex19 Derinlik
Depth

Pompa Tipi

iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pump Tyoe Displacement | Max. Pressure | Max. Speed A 04
PTyp cm¥dev(cm3rev) (bar) d/d (rpm)
DKP30.170.A/CAH02SN 17,0 59,5 124,1
DKP30.220.A/CAHO02SN 22,0 280 61,5 128,1
DKP30.270.A/CAHO02SN 27,0 63,0 131,1
DKP30.320.A/CAHO02SN 32,0 64,5 134,1
3000
DKP30.340.A/CAHO2SN 65,0 135,1
260

DKP30.380.A/CAHO02SN 66,5 138,1 27 51 M10x19 19 40 M8x16
DKP30.430.A/CAHO2SN 3,0 68,0 141,1
DKP30.470.A/CAHO2SN 47,0 250 69,5 1441
DKP30.510.A/CAHO02SN 51,0 240 70,5 146,1
DKP30.560.A/CAHO02SN 56,0 230 2500 71,5 148,1
DKP30.610.A/CAHO02SN 61,0 220 74,0 153,1
DKP30.730.A/CAHO02SN 73,0 200 77,0 160,1
DKP30.820.A/CAHO02SN 82,0 190 80,0 166,1

33 62 |M12x19 27 51 M10x19
DKP30.900.A/CAHO2SN 90,0 2000 83,0 172,1

— 180

DKP30.1000.A/CAHO2SN 100,0 86,0 178,1

REV.AG 17 /09.15 | 93 I



s BlEAR
égb ascend | DiSLi POMPALAR
hydraulics | GEARPUMPS DKP30 P@MP%
EOn Kapak fod Saft Tiri
Front Cover Shaft Type
B
A 04 41 120
22
25 Faydall Dis Boyu
Full Thread
— @14,5
< 2 Delik
s 9 Holes N\
— 7 kgi R
Y it i
~ 2
~ “ [
@ 2
s
S
9,5 SAE J498B Spline
Evolvent Spline
~ Dis Dibi Diiz, Yanaktan Alistirmali 146
C(UN-2B)xE @D 13 Dis, 16/32 DP
Involute spline
Flat root side fit 174
13 Teeth, 16/32 DP
. iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pompa Tipi
PuUMD Tvpe Displacement | Max. Pressure | Max. Speed A 04
p1yp cm®/dev(cmrev) (bar) d/d (rpm) c E c
DKP30.170.A/CDC04SN 17,0 59,5 1241
DKP30.220.A/CDC04SN 22,0 280 61,5 128,1
15/16"-12 11/16"-12
DKP30.270.A/CDC04SN 27,0 63,0 131,1 30,5 49 | UNF2B 24,8 42 | NF2B
DKP30.320.A/CDC04SN 32,0 64,5 134,1
———— 3000
DKP30.340.A/CDC04SN 34,0 65,0 135,1
260
DKP30.380.A/CDC04SN 38,0 66,5 138,1
DKP30.430.A/CDC04SN 43,0 68,0 141,1 1 5/8"12 1 5116"12
391 58 | UNF28 | 395 | 49 [UNF2B
DKP30.470.A/CDCO04SN 47,0 250 69,5 1441
DKP30.510.A/CDC04SN 51,0 240 70,5 146,1
DKP30.560.A/CDC04SN 56,0 230 2500 71,5 148,1
DKP30.610.A/CDC04SN 61,0 220 74,0 153,1
DKP30.730.A/CDC04SN 73,0 200 77,0 | 160,1 1 778m12 1 5812
45 65 UNF-2B 39,1 58 UNF-2B
DKP30.820.A/CDC04SN 82,0 190 80,0 166,1
DKP30.900.A/CDCO04SN 90,0 2000 83,0 1721
180
DKP30.1000.A/CDC04SN 100,0 86,0 178,1

I 94 | REV.AG 17/09.15



WWW.blueascend.com

DKP30

On Kapak ESaﬁ Tipi

Front Cover Shaft Type

B
A $04 46
22
° 950 — 30 Faydali Dis Boyu
{;‘\i Full Thread

NSy — 5%
g e

\\@K

TA
@ _
23,5

72

o

gj
g

Ex16 Derinlik/ C

©101,6 -0,05

DiSLI POMPALAR
GEAR PUMPS

o

hyd

blue
ascend
raulics

@14,5

2 Delik
HoIesX

60

120

174

Giris — Inlet Cikis - Outlet
e ol el o] |

9,5 SAE J498B Spline
Evolvent Spline
Depth Dig Dibi Diiz, Yanaktan Alistirmali
D 15 Dis, 16/32 DP
Involute spline
Flat root side fit
15 Teeth, 16/32 DP
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pumg T p‘; Displacement | Max. Pressure | Max. Speed A 04
J cm¥dev(cm’rev) (bar) d/d (rpm)
DKP30.170.A/CDDO1SN 17,0 59,5 1241
DKP30.220.A/CDDO1SN 22,0 280 61,5 128,1
DKP30.270.A/CDD01SN 27,0 63,0 1311
DKP30.320.A/CDD01SN 32,0 3000 64,5 134,1
DKP30.340.A/CDD01SN 34,0 65,0 135,1
260
DKP30.380.A/CDD01SN 38,0 66,5 138,1
DKP30.430.A/CDD01SN 43,0 68,0 1411
DKP30.470.A/CDD01SN 47,0 250 69,5 1441
DKP30.510.A/CDD01SN 51,0 240 70,5 146,1
DKP30.560.A/CDD0O1SN 56,0 230 2500 71,5 148,1
DKP30.610.A/CDD01SN 61,0 220 74,0 153,1
DKP30.730.A/CDDO1SN 73,0 200 77,0 160,1
DKP30.820.A/CDD01SN 82,0 190 80,0 166,1
DKP30.900.A/CDDO1SN 90,0 2000 83,0 1721
————— 180
0.A/CDDO1SN 100,0 86,0 178,1

27

55

M8x16

19

55

M8x16

REV.AG 17 /09.15 | 95 I



@Q blue o
5 ascend | DisLi POMPALAR
hydraulics | GEARPUMPS DKP30
On Kapak Saft Tipi
Front Cover A Shaft Type
B
A z04 51
22 29,75
p

Sikma torku 100Nm
Tighten torque

< n
z n / ‘ © o \3
0D
gi s
| h ] E
=
Q Q
(s2] —
— 0|
wn
M16x1,5
. o | Ref. Cap : 21,59
Ex16 Derinlik <G| 8 Ref diameter
Depth
D —Koniklik : 1/5 ®\9
Taper
5-0,03 ;
Ay Kama L)
Woodruff key ™
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pump T pe Displacement | Max. Pressure | Max. Speed A o4
P Typ cm®dev(cmrev) (CED) d/d (rpm)
DKP30.170.A/CGA01SN 17,0 59,5 1241
DKP30.220.A/CGA01SN 22,0 280 61,5 128,1
DKP30.270.A/CGA01SN 27,0 63,0 1311
DKP30.320.A/CGA01SN 32,0 64,5 1341
3000
DKP30.340.A/CGA01SN 34,0 65,0 135,1
260
DKP30.380.A/CGA01SN 38,0 66,5 138,1
DKP30.430.A/CGA01SN 43,0 68,0 1411
DKP30.470.A/CGA01SN 47,0 250 69,5 1441
DKP30.510.A/CGA01SN 51,0 240 70,5 146,1
DKP30.560.A/CGA01SN 56,0 230 2500 71,5 148,1
DKP30.610.A/CGA01SN 61,0 220 74,0 153,1
DKP30.730.A/CGA01SN 73,0 200 77,0 160,1
DKP30.820.A/CGA01SN 82,0 190 80,0 166,1
DKP30.900.A/CGA01SN 90,0 2000 83,0 1721
180
DKP30.1000.A/CGA01SN 100,0 86,0 178,1

I 96 | REV.AG 17/09.15

W RAULIGR

ii
¥

7 /ﬁr‘ > : \
Ho)
N

BIEAIR

UMIPS

o211
4 Delik
Holes

48

145

Girig — Inlet Cikis - Outlet
e o e o o] -]

27

55

M8x16

19

55

M8x16




blue
ascend

o

HELISEL DISLI TANDEM POMPALAR

www.blueascend.com DPH30 | HELICAL GEAR TANDEMPUMPS | hydraulics
£
A On Kapak Saft Tipi =
Front Cover Shaft Type
i W RO
1 1
B 47 120
@11
Azo4 32 4 Delik 98,4
22 Holes
— |
B0
41__].— 55—
Sikma torku  100Nm @ ! @
Tighten torque ‘
I
3 ? &
/| g - =
5 <
[ee]
1 R
L N R
Q o
o
L <
M14x1,5
c 4,8
. D Ref. Cap : 21,59
Ex19 Derinlik Ref. diameter —_
Depth 4 -0,03
— Koniklik : 1/8 L,,
Taper
1
Ay Kama ~
Woodruff key
- iletim Hacmi Maks. Basing Maks. Hiz G|r|§ Inlet Cikis - Outlet
Pompa Tipi .
Pump Type Displacement | Max. Pressure | Max. Speed A 04
cmdev(cmrev) (bar) d/d (rpm)
DPH30.170.A/CAB02SN 17,0 59,5 1241
DPH30.220.A/CAB02SN 22,0 300 61,5 128,1
DPH30.270.A/CAB02SN 27,0 63,0 131,1
DPH30.320.A/CAB02SN 64,5 134,1
3000
DPH30.340.A/CAB02SN 65,0 135,1
280
DPH30.380.A/CAB0O2SN 66,5 138,1 27 51 M10x19 19 40 M8x16
DPH30.430.A/CABO2SN 68,0 141,1
DPH30.470.A/CAB02SN 47,0 69,5 1441
— 260 T
DPH30.510.A/CAB02SN 51,0 70,5 146,1
DPH30.560.A/CAB02SN 56,0 250 2500 71,5 148,1
DPH30.610.A/CABO2SN 61,0 240 74,0 153,1
DPH30.730.A/CAB02SN 73,0 220 77,0 160,1
DPH30.820.A/CAB02SN 82,0 210 80,0 166,1
33 62 |[M12x19| 27 51 M10x19
DPH30.900.A/CAB02SN 90,0 2000 83,0 172,1
— 200
DPH30.1000.A/CAB02SN 100,0 86,0 178,1

REV.AG 17 /09.15 | 97 I



@Q blue _ -
> ascend | HELISEL DiSLi POMPALAR
hydraulics | HELICAL GEAR PUMPS DPH30

W RAULIGR

BEAIR

UMIPS

A On Kapak $aft Tipi
Front Cover Shaft Type
B 41 120
o11 98,4
Azos 4 Delik
22 Holes
Diiz Kama
Square Key
6,35x25,4
«
g 2 g
. z Au_’/ui P S - -
Q 9 -
1 | @ ©
Q o
wn
Q N
o] o
™ <
g LN
A
c 48 N
Q
D
Ex19 Derinlik
Depth
Pompa Tioi iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pump T F; Displacement | Max. Pressure | Max. Speed A 04
PTyp cm¥dev(cm3rev) (bar) d/d (rpm) c E c “
DPH30.170.A/CAH02SN 17,0 59,5 1241
DPH30.220.A/CAH02SN 22,0 300 61,5 128,1
DPH30.270.A/CAH02SN 27,0 63,0 131,1
DPH30.320.A/CAH02SN 32,0 3000 64,5 134,1
DPH30.340.A/CAH02SN 34,0 65,0 135,1
280
DPH30.380.A/CAH02SN 38,0 66,5 138,1 27 51 M10x19 19 40 M8x16
DPH30.430.A/CAH02SN 43,0 68,0 1411
DPH30.470.A/CAH02SN 47,0 69,5 1441
— 260
DPH30.510.A/CAH02SN 51,0 70,5 146,1
DPH30.560.A/CAH02SN 56,0 250 2500 71,5 148,1
DPH30.610.A/CAH02SN 61,0 240 74,0 153,1
DPH30.730.A/CAH02SN 73,0 220 77,0 160,1
DPH30.820.A/CAH02SN 82,0 210 80,0 166,1
33 62 |M12x19| 27 51 M10x19
DPH30.900.A/CAH02SN 90,0 2000 83,0 172,1
— 200
DPH30.1000.A/CAHO02SN 100,0 86,0 178,1

I 98 | REV.AG 17/09.15



o

blue

HELISEL DISLI POMPALAR ascend
www.blueascend.com DPH30 HELICAL GEARPUMPS | hydraulics
EOn Kapak fod Saft Tiri
Front Cover Shaft Type
B
A 04 41 120
22
25 Faydall Dis Boyu
Full Thread
— @14,5
< 2 Delik
A 9 Holes AN
— 7 kgi R
: ‘ 3
N 1 8
% 3
s
S
9,5 SAE J498B Spline
Evolvent Spline
R Dis Dibi Diiz, Yanaktan Alistirmali 146
C(UN-2B)xE @D 13 Dis, 16/32 DP
Involute spline
Flat root side fit 174
13 Teeth, 16/32 DP
. lletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pompa Tipi Di
Pump Type isplacement | Max. Pressure | Max. Speed A 04 G E
cm®/dev(cmrev) (bar) d/d (rpm) c
DPH30.170.A/CDC04SN 17,0 59,5 1241
DPH30.220.A/CDC04SN 22,0 300 61,5 128,1
15/16"-12 11/16"-12
DPH30.270.A/CDC04SN 27,0 63,0 131,1 30,5 49 UNF-2B 24,8 42 UNF-2B
DPH30.320.A/CDC04SN 32,0 64,5 1341
3000
DPH30.340.A/CDC04SN 34,0 65,0 135,1
280
DPH30.380.A/CDC04SN 38,0 66,5 138,1
DPH30.430.A/CDC04SN 43,0 68,0 141,1 1 5/8"12 1 511612
391 58 | UNF28 | 395 | 49 [UNF2B
DPH30.470.A/CDC04SN 47,0 69,5 1441
260
DPH30.510.A/CDC04SN 51,0 70,5 146,1
DPH30.560.A/CDC04SN 56,0 250 2500 71,5 148,1
DPH30.610.A/CDC04SN 61,0 240 74,0 153,1
DPH30.730.A/CDC04SN 73,0 220 77,0 | 160,1 1 778m12 1 5/8m12
45 65 UNF-2B 39,1 58 UNF-2B
DPH30.820.A/CDC04SN 82,0 210 80,0 166,1
DPH30.900.A/CDC04SN 90,0 2000 83,0 1721
200
DPH30.1000.A/CDC04SN 100,0 86,0 178,1

REV.AG 17 /09.15 | 99 I



@Q blue _ -
> ascend | HELISEL DiSLi POMPALAR
hydraulics | HELICAL GEAR PUMPS DPH30

On Kapak ESaﬁ Tipi
Front Cover Shaft Type

A $04 46
22

o I :
A 450 30 Faydali Dis Boyu
é/—‘\i Full Thread
%ﬁ 23
JEERN . — %
I LN
= g . S

\\@K
&
23,5 |
|
[
©101,6 -0,05

f
st

M DRAULIGE

BEAIR

UMIPS

@14,5

2 Delik
HoIesX

120

174

Giris — Inlet Cikis - Outlet
e ol el o] |

o~
~
o
O
k/ 9,5 SAE J498B Spline
Ex16 Derinli C Evolvent Spline
Depth Dig Dibi Diiz, Yanaktan Alistirmali
D 15 Dis, 16/32 DP
Involute spline
Flat root side fit
15 Teeth, 16/32 DP
SN iletim Hacmi Maks. Basing Maks. Hiz
Pumg T p‘; Displacement | Max. Pressure | Max. Speed A 04
J cm¥dev(cm’rev) (bar) d/d (rpm)
DPH30.170.A/CDD01SN 17,0 59,5 1241
DPH30.220.A/CDD01SN 22,0 300 61,5 128,1
DPH30.270.A/CDD0O1SN 27,0 63,0 1311
DPH30.320.A/CDD0O1SN 32,0 64,5 134,1
— 3000
DPH30.340.A/CDD0O1SN 34,0 65,0 135,1
280
DPH30.380.A/CDD0O1SN 38,0 66,5 138,1
DPH30.430.A/CDD01SN 43,0 68,0 1411
DPH30.470.A/CDD0O1SN 47,0 69,5 1441
— 260
DPH30.510.A/CDD0O1SN 51,0 70,5 146,1
DPH30.560.A/CDD01SN 56,0 250 2500 71,5 148,1
DPH30.610.A/CDD0O1SN 61,0 240 74,0 153,1
DPH30.730.A/CDD01SN 73,0 220 77,0 160,1
DPH30.820.A/CDD01SN 82,0 210 80,0 166,1
DPH30.900.A/CDD01SN 90,0 2000 83,0 1721
————— 200
DPH30.1000.A/CDDO1SN 100,0 86,0 178,1

I100 | REV.AG 17 /09.15

27

55

M8x16

19

55

M8x16




WWW.blueascend.com

On Kapak
Front Cover

B

A 04

A

DPH30

Saft Tipi
Shaft Type

51

22

29,75

5=
Sikma torku 100Nm
Tighten torque

< n
: . :
L’ 0D
gi s
| h ] E
=
Q Q
(s2] —
— 0|
wn
M16x1,5
. o | Ref. Cap : 21,59
Ex16 Derinlik <G| 8 Ref diameter
Depth
D —Koniklik : 1/5 ®\9
Taper
5-0,03 ;
Ay Kama L)
Woodruff key ™
Pompa Tioi iletim Hacmi Maks. Basing Maks. Hiz
Pump T pe Displacement | Max. Pressure | Max. Speed A o4
P Typ cm®dev(cmrev) (CED) d/d (rpm)
DPH30.170.A/CGAO01SN 17,0 59,5 1241
DPH30.220.A/CGA01SN 22,0 300 61,5 128,1
DPH30.270.A/CGAO01SN 27,0 63,0 1311
DPH30.320.A/CGA01SN 32,0 3000 64,5 1341
DPH30.340.A/CGAO01SN 34,0 65,0 135,1
280
DPH30.380.A/CGA01SN 38,0 66,5 138,1
DPH30.430.A/CGAO01SN 43,0 68,0 1411
DPH30.470.A/CGA01SN 47,0 69,5 1441
260
DPH30.510.A/CGAO01SN 51,0 70,5 146,1
DPH30.560.A/CGA01SN 56,0 250 2500 71,5 148,1
DPH30.610.A/CGA01SN 61,0 240 74,0 153,1
DPH30.730.A/CGA01SN 73,0 220 77,0 160,1
DPH30.820.A/CGAO01SN 82,0 210 80,0 166,1
DPH30.900.A/CGA01SN 90,0 2000 83,0 1721
200
DPH30.1000.A/CGA01SN 100,0 86,0 178,1

HELISEL DISLI POMPALAR
HELICAL GEAR PUMPS

o

hydraulics

blue
ascend

o211
4 Delik
Holes

ii
¥

7 :,} > : \

145

48

Girig — Inlet Cikis - Outlet
e o e o] o]

27

55

M8x16

19

55 M8x16

REV.AG 17 /09.15 | 101 I



). blue _ ‘
7S ascend | KODLAMA SISTEMI

hydraulics ORDERING CODE

BIEAIR

AV DRAULIGpuages

GP30 POMPALARIN KODLAMA SISTEMI
ORDERING CODE OF GP30 PUMPS

'GP30 i 082/082

m Yandan Girig-Cikis
Side Inlet-Outlet

m Arkadan Girig-Cikis
Rear Inlet-Outlet

iletim Hacmi / Displacement
cm?3/dev(cm?3/rev)

017 = 17,2 cm®/dev(rev)
027 = 27,1 cm®/dev(rev)
034 = 34,4 cm®/dev(rev)
043 = 42,9 cm¥dev(rev)
051 = 51,2 cm®/dev(rev)

B B il W D

Kegeler / Seals

N NBR
VITON

i¢ sizinti Hatti /
Internal Drain Port
Var / Available
Yok / Absent

Saft Tipi / Shaft Type

Cok Kamali Mil
Spline Shaft 6x24x25 DIN 5463

m Cok Kamali Mil
Spline Shaft 8x32x35 DIN 5462
Cok Kamali Mil
Spline Shaft B6x30x35
DIN 9611 SAE 1 3/8"
Paralel Saft
[} Paraliel Shaft Asx7x32
DIN 6885

m Konik - Kamal
Tapered key shaft 1:8

061 = 60,7 cm3¥/dev(rev)
073 = 73,0 cm®/dev(rev)
082 = 81,4 cm3/dev(rev)
100 = 99,7 cm?/dev(rev)

Doénus Yonu / Rotation

Sol Dénls / Counter-clockwise
Sag Donus / Clockwise
[G] cift Doniis / Reversible

- Kodlama Ornegi (Tekli) ; GP30.082.CST1N
Code Example (Single)

I102 | REV.AG 17 /09.15

On Kapak / Front Cover
B 3 Deliki 073 /3 Holes 073

;] 4 Deliki @80/ 4 Holes @80

[ 6 Delikii @52/ 6 Holes @52

3] 2 Deiikii @825/ 2 Holes 82,5

A Dikdortgen Kapak

Square Flange 250,78

- Kodlama Ornegi (Tandem) ; GP30.082/082.CST1N
Code Example (Tandem)



4 , 0. blue
SAFT & KAPAK TIPLERI | %5 ascend

www.blueascend.com GP30 | SHAFT & COVERTYPES | hydraulics

GP30 SAFT TIPLERI / GP30 SHAFT TYPES

[ 28,1 32 =
Sikma torku  100Nm

— 278 11 Tighten torque

%
40,03
= gi % / 4‘5‘ ,(,,,/,{
B s
- o "
Jﬁ Ay Kama ~
(. Mi4x1.5 Woodruff key
X1,

36,8
{—Ref. Cap : 21,59
Mil - Shaft Ref. diameter
8x32x35 - DIN 5462 Maks. Tork 300 Nm L Koniklik : 1/8 Maks. Tork 170 Nm
Max. Torque Taper Max. Torque

\— Mil - Shaft

6x21x25 - DIN 5463

Mil - DIN 9611 SAE 1 3/8"
B6x30x35 - Shaft

15

[
o

Maks. Tork 360 Nm Maks. Tork 250 Nm
Max. Torque Max. Torque

GP30 ON KAPAKLAR / GP30 FRONT COVERS

120 E 120 E
96
8,5
o — o
2 3
A —_— .. - as
e @ < 9
3 : == - 8 g
= g N
?12,5 3
4 Délik 13,5
Holes
80
104
1185 “ m
o11
4 Delik 98,4
Holes ~22_
0—®©
55
(=]
4l i | 3
ﬁ 77@ 5’1
- - g
@ Sl || 8
A
4,8 15,5

REV.AG 17 /09.15 | 103 I



@9 blue
<> ascend
hydraulics

Pi:

Basing
Pressure (bar)

Pompa Tipi
Pump Type

GP30.017
GP30.027
GP30.034
GP30.043
GP30.051

GP30.061
GP30.073
GP30.082
GP30.100

TEKNIK BILGILER
TECHNICAL INFORMATION

GP30

BIEAIR

EMDRAU N Beies

Maks. Basing / Max. Pressure

Min. Hiz
Min. Speed

300

iletim Hacmi Maks. Hiz
Displacement Max. Speed
cm?3/dev(cm?3/rev)
340
3000
27,1 290 310 330
34,4 280 300 320 2750
42,9 270 290 310
2500
51,2 240 260 280
60,7 220 240 260 2000
73,0 200 220 240
81,4 190 210 230 1750
99,7 180 200 220

Surekli calisma basinct

Continuous pressure

P2 : Aralikli calisma basinci
Intermittent pressure

P3 : Ani basing

BASING DEGISIMI / PRESSURE DEFINITION

200

250

300

Peak pressure

A
Ps Mak. Ani Basing / Max. Peak Pressure
P, I I \ Mak. Aralikh Calisma Basinci / Max. Intermittent Pressure
Py \ Mak. Siirekli Calisma Basinc1 / Max. Continuous Pressure
» t(s)
< > < > 2 Aralikh Calisma Arasindaki Faz
max. 30s min. 240s Pause Between Two Intermittent Cycles
GP30 Pompalarin Giig Egrileri GP30 Pompalarin Debi Egrileri
Power Curves of GP30 Pumps Flow Curves of GP30 Pumps
150 100 50 (bar) 350 350
300 300
\ - GP30.100
250 £ 250
I~ £ GP30.082
=~ 200 =2 s 200 GP30.073
~L \ 15 3 g GP30.061
[~ = GP30.051
~1 B =5 4 GP30.043
N 100 -3 & 100 GP30.034
~ o O3 ——— dp30.027
N 2 GP30:017
‘ ————
0 0 ‘ ! — ‘ ‘ !
120 100 80 60 40 20
500 1000 1500 2000 2500 3000
Giig (kW i
pf,‘f\,er ) GP30 Pompalarin Tork Egrileri Devir (d/d)
Torque Curves of GP30 Pumps Speed (rpm)
600
GP30.100
500
E GP30.082
400 Y EL
= GP30.073
¥ GP30.061
o9 300
[ g_ GP30.051
15 GP30.043
[ 200 GP30.034

I104|REV.AG17/09.15

100

GP30.027

// GP30.017

50 100 150

Basing
Pressure (bar)

200

250

300



WWW.blueascend.com

1ISO TiPI

TYPE

GP30

150

80

@12,5
4 Delik
Holes

Pompa Tipi
Pump Type

GP30.017.CRM1N

GP30.017.ARM1N

GP30.027.CRM1N

GP30.027.ARM1N

DiSLI POMPALAR
GEAR PUMPS

A 04

y blue
<> ascend
hydraulics

GP30.034.CRM1N

GP30.034.ARM1N

GP30.043.CRM1N

GP30.043.ARM1N

GP30.051.CRM1N

GP30.051.ARM1N

GP30.061.CRM1N
GP30.061.ARM1N

27,8
85 8,1
Qé—; 5
. | = 7 = @ 2%
3 S == s
S|
[? ©
\
13,5 36,8
Mil - Shaft c
8x32x35 - DIN 5462 55
80
104
lletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Displacement | Max. Pressure Max. Speed A o4
17,2 300 119,0 | 172,6 G 1/2” G 1/2”
3000
27,1 290 122,2 | 179,0
344 280 2750 124,5 | 183,6 G 3/4” G 3/4”
42,9 270 1274 | 1894
2500
51,2 240 129,5 | 1935
60,7 220 2000 133,2 | 201,0 G1” G1”
73,0 200 137,1 | 208,7
81,4 190 1750 140,0 | 214,5
G 1-1/4” G 1-1/4”
99,7 180 1458 | 226,1

REV.AG 17 /09.15 | 105 I



ég gls%een DISLI POMPALAR @EAR
h fd rauli ccz GEAR PUMPS GPR30 W@MM& P@MP%

TiPI
IS0 TYPE

A x04

150

[ 27,8
: % 85 28,1
e Iidl:wmin2

% == V_] -
— Q) 28
3 ]
‘ Q)
S
U
?12,5
4 Delik \ Mil - Shaft 13,5 36,8
Holes 8x32x35 - DIN 5462 c s

PSrr:paT IF: Displacement | Max. Pressure | Max. Speed A
17,2 300 119,0 | 173,6 G1/2" G 1/2”
3000
27,1 290 122,2 | 180,0
34,4 280 2750 1245 | 1846 G 3/4” G 3/4”

42,9 270 127,4 190,4
2500
51,2 240 129,5 | 1945

GPR30.051.ARM1N
GPR30.061.CRM1N
60,7 220 2000 133,2 | 202,0 G1 G1”

GPR30.061.ARM1N

GPR30.073.CRM1N

73,0 200 137,1 | 209,7
GPR30.073.ARM1N
GPR30.082.CRM1N

81,4 190 1750 140,1 215,5

GPR30.082.ARM1N

G 1-1/4” G 1-1/4”
GPR30.100.CRM1N

GPR30.100.ARM1N

99,7 180 1458 | 2271

106 | REV.AG 17 /09.15




WWW.blueascend.com

TiPI
UNI TYPE

150

GP30

DiSLI POMPALAR
GEAR PUMPS

@73

Pompa Tipi
Pump Type

GP30.017.CST1N
GP30.017.AST1N

iletim Hacmi

Mil - Shaft
6x21x25 - DIN 5463

GP30.027.CST1N
GP30.027.AST1N

@Q blue
<> ascend
hydraulics

A x04

7T
\ /

23,4
0,03

@52 -0,06

T

15

16

Giris — Inlet Cikis - Outlet

GP30.034.CST1N
GP30.034.AST1N

GP30.043.CST1N
GP30.043.AST1N

GP30.051.CST1N
GP30.051.AST1N

GP30.061.CST1N
GP30.061.AST1N

GP30.073.CST1N
GP30.073.AST1N

GP30.082.CST1N
GP30.082.AST1N

GP30.100.CST1IN
GP30.100.AST1N

Maks. Basing Maks. Hiz
Displacement Max. Pressure Max. Speed A 04
17,2 300 100,8 | 154,4 G 1/2” G 1/2”
3000
27,1 290 104,0 | 160,8
34,4 280 2750 106,3 | 1654 G 3/4” G 3/4”
42,9 270 109,2 | 171,2
2500
51,2 240 11,3 | 1753
60,7 220 2000 115,0 | 1828 G1” G1”
73,0 200 118,9 | 190,5
81,4 190 1750 121,8 | 196,3
G 1-1/4” G 1-1/4”
99,7 180 127,6 | 207,9

REV. AG 17 /09.15 | 107.



égb gls%eend DISLI POMPALAR @EAR

hydraulics | GEARPUMPS GPR30 MW@MM& @P@MP%

150

‘ 23,4
0,03

[
\
\

|
@52 -0,06

=
[T

M Mil -Shaft

@12 6x21x25 - DIN 5463

15,5

(@]
o

Eg::sqr;,rg: Displacement | Max. Pressure Max. Speed A 04
cm3/dev(cm3/rev) (bar) d/d (rpm)
17,2 300 100,8 | 155,4 G 1/2” G1/2”

3000
27.1 290 104,0 | 161,8

34,4 280 2750 106,3 166,4 G 3/4” G 3/4”
429 270 109,2 172,2

2500
51,2 240 11,3 176,3
60,7 220 2000 115,0 183,8 G1” G1”

GPR30.061.AST1N
GPR30.073.CST1IN

73,0 200 1189 | 1915
GPR30.073.ASTIN

GPR30.082.CST1IN

81,4 190 1750 121,8 | 197,3
GPR30.082.AST1N
G 1-1/4” G 1-1/4”

GPR30.100.CST1N

GPR30.100.ASTIN

108 | REV.AG 17 /09.15

99,7 180 127,6 | 208,9




WWW.blueascend.com

A

On Kapak
Front Cover

118,5

B1

711
4 Delik

98,4

Holes

DiSLI POMPALAR
GEAR PUMPS

GP30

Saft Tipi
Shaft Type

blue

égéascend
hydraulics

Axo04 3

22

A
%
©

©

150

)
Sikma Torku 100Nm
Tighten torque

128

23,5

7
D)

53,8

0

Pompa Tipi
Pump Type

GP30.017.CAB1N
GP30.017.AAB1N

12

42,9

iletim Hacmi
Displacement
cm?/dev(cm3/rev)

17,2

(@]

Ay Kama
Woodruff key

\ELE 174
Max. Speed
d/d (rpm)

Maks. Basing
Max. Pressure
(bar)

300 127,2 G1/2”

GP30.027.CAB1N
GP30.027.AAB1N

271

,78 0,05

L]

50,

ﬁF
;

M14x1,5

I Ref. Cap :21,59
Ref. Diameter

L Koniklik : 1/8
Taper

Girig — Inlet Cikis - Outlet

G1/2”

3000

290 76,7 133,5

GP30.034.CAB1N
GP30.034.AAB1N

34,4

280 2750 79,0 138,2 G 3/4”

GP30.043.CAB1N
GP30.043.AAB1N

42,9

270 81,9 144,0

GP30.051.CAB1N
GP30.051.AAB1N

G 3/4”

2500

240 84,0 148,0

GP30.061.CAB1N
GP30.061.AAB1N

60,7

220 2000 87,7 155,5 G1”

GP30.073.CAB1N
GP30.073.AAB1N

73,0

200 91,6 163,3

G1”

GP30.082.CAB1N
GP30.082.AAB1N

81,4

190 1750 94,5 169,0

G 1-1/4”

GP30.100.CAB1N
GP30.100.AAB1N

99,7

180 100,3 | 180,7

G 1-1/4”

REV.AG 17 /09.15 | 109 I



blue

égéascend
hydraulics

On Kapak
Front Cover

A

118,5

GEAR PUMPS

B1

o211

4 Delik 98,4

Holes

DISLI POMPALAR

GPR30

Pompa Tipi
Pump Type

GPR30.017.CAB1N
GPR30.017.CAB1N

42,9

128

iletim Hacmi
Displacement

cm3/dev(cm?3/rev)

17,2

Saft Tipi
Shaft Type

BEAIR

AV DRAULIGpuages

Maks. Basing
Max. Pressure
(CED)

300

GPR30.027.CAB1N
GPR30.027.CAB1N

271

290

(@]

Maks. Hiz

Max. Speed

d/d (rpm)

3000

A 04

73,5

Axo4

o
L/

1}
Sikma Torku 100Nm
Tighten torque

12

128,1

4 -0,03

Ay Kama
Woodruff key

Giris — Inlet Cikis - Outlet

G1/2”

L L

@50,78 -0,05

\—M14x1,5

Taper

G127

76,7

134,5

GPR30.034.CAB1N
GPR30.034.CAB1N

34,4

280

2750

79,0

139,1

G 3/4”

GPR30.043.CAB1N
GPR30.043.CAB1N

270

GPR30.051.CAB1N
GPR30.051.CAB1N

240

2500

81,9

144,9

G 3/4”

84,0

149,0

GPR30.061.CAB1N
GPR30.061.CAB1N

220

2000

87,7

156,5

G1”

GPR30.073.CAB1N
GPR30.073.CAB1N

200

GPR30.082.CAB1N
GPR30.082.CAB1N

190

GPR30.100.CAB1N
GPR30.100.CAB1N

99,7

180

1750

91,6

164,2

G1”

94,5

170,0

G 1-1/4”

100,3

181,6

G 1-1/4”

I110|REV.AG17/09.15

|- Ref. Cap :21,59
Ref. Diameter

L_Koniklik : 1/8



WWW.blueascend.com

TIPI
SAE TYPE

GP30

150

80

104

@12,5
4 Delik
Holes

80

104

N

Mil - Shaft

DiSLI POMPALAR
GEAR PUMPS

112

@Q blue
<> ascend
hydraulics

A +04

38

0,03

@80 -0,06

B6x30x35 - DIN 9611 SAE 1 3/8"

Pompa Tipi
Pump Type

GP30.017.CRS2N
GP30.017.ARS2N

iletim Hacmi
Displacement
cm3/dev(cm3/rev) (bar)

17,2

300

Maks. Basing
Max. Pressure

GP30.027.CRS2N
GP30.027.ARS2N

271

290

Maks. Hiz
Max. Speed
d/d (rpm)

3000

119,0

172,6

13,5

Giris — Inlet Cikis - Outlet

G 1/2”

G 1/2”

122,2

179,0

GP30.034.CRS2N
GP30.034.ARS2N

34,4

280

2750

124,5

183,6

GP30.043.CRS2N
GP30.043.ARS2N

270

GP30.051.CRS2N
GP30.051.ARS2N

51,2

240

2500

127,4

189,4

G 3/4”

G 3/4”

129,5

193,5

GP30.061.CRS2N
GP30.061.ARS2N

60,7

220

2000

133,2

201,0

GP30.073.CRS2N
GP30.073.ARS2N

73,0

200

GP30.082.CRS2N
GP30.082.ARS2N

190

GP30.100.CRS2N
GP30.100.ARS2N

99,7

180

1750

1371

208,7

G1”

G1

140,0

214,5

145,8

226,1

G 1-1/4”

G 1-1/4”

REV.AG 17/09.15 | 111 I



éQ gls%een DISLI POMPALAR @EAR
h fd rauli f,,' GEAR PUMPS GPR30 MW@MM& P@MP%

SAE

TYPE

150

80

104

@12,5
4 Delik
Holes

80

104

Pompa Tipi
Pump Type

lletim Hacmi

Mil - Shaft

112

A 04

38

-0,03

@80 -0,06

M30x35 - DIN 9611 SAE 1 3/8"

13,5

Giris — Inlet Cikis - Outlet

Maks. Basing Maks. Hiz
Displacement | Max. Pressure Max. Speed Azo4
17,2 300 119,0 | 173,6 G 1/2” G1/2”
3000
271 290 122,2 | 180,0
34,4 280 2750 1245 | 184,6 G 3/4” G 3/4”
42,9 270 127,4 | 190,4
2500
51,2 240 129,5 | 194,5
60,7 220 2000 133,2 | 202,0 G1” G1”
73,0 200 137,1 | 209,7
81,4 190 1750 140,1 | 2155
G 1-1/4” G 1-1/4”
99,7 180 145,8 | 2271

112 | REV.AG 17 /09.15



WWW.blueascend.com

TiPI
T2 TYPE

120

GP30

DiSLI POMPALAR

150

@73

@73

iletim Hacmi
Displacement
cmd/dev(cm?3/rev)

GP30.017.CPT2N
17,2
GP30.017.APT2N

Pompa Tipi
Pump Type

Maks. Basing
Max. Pressure
(bar)

300

GP30.027.CPT2N
27,1
GP30.027.APT2N

290

Maks. Hiz
Max. Speed
d/d (rpm)

3000

GEAR PUMPS

101,0

A 04

‘ 23,4

@Q blue
<> ascend
hydraulics

Mil -Shaft

6x21x25 - DIN 5463

@52,1

154,6

32,1

Giris — Inlet Cikig - Outlet

G1/2”

G1/2”

104,2

161,0

GP30.034.CPT2N
34,4
GP30.034.APT2N

280

2750

106,5

165,6

G 3/4”

GP30.043.CPT2N
42,9
GP30.043.APT2N

270

GP30.051.CPT2N
51,2
GP30.051.APT2N

240

2500

109,5

171,4

G 3/4”

11,5

175,5

GP30.061.CPT2N
60,7
GP30.061.APT2N

220

2000

115,2

183,0

G1”

GP30.073.CPT2N
73,0
GP30.073.APT2N

200

GP30.082.CPT2N
81,4
GP30.082.APT2N

190

GP30.100.CPT2N
99,7
GP30.100.APT2N

180

1750

119,2

190,7

G1”

122,0

196,5

127,8

208,1

G 1-1/4”

G 1-1/4”

REV. AG 17 /09.15 | 113.



oS

blue
ascend

hydraulics

TiPI

T2

TYPE

DISLI POMPALAR

GEAR PUMPS

135

GPR30

150

@73

Pompa Tipi
Pump Type

GPR30.051.APT2N
GPR30.061.CPT2N

GPR30.061.APT2N

GPR30.073.CPT2N

114 | REV.AG 17 /09.15

N

A +04

DRANLIE S

MIPS

Mil -Shaft
6x21x25 - DIN 5463

23,4

@52,1

32,1

C c
iletim Hacmi | Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Displacement | Max. Pressure Max. Speed
17,2 300 101,0 | 155,6 G 1/2” G1/2”
3000
27,1 290 104,2 | 162,0
34,4 280 2750 106,5 | 166,6 G 3/4” G 3/4”
42,9 270 109,5 | 172,4
2500
51,2 240 11,5 176,5
60,7 220 2000 115,2 | 184,0 G1” G1”
73,0 200 119,2 | 1917
81,4 190 1750 122,0 | 1975
G 1-1/4” G 1-1/4”
99,7 180 127,8 | 209,1




. , 0. blue
KODLAMA SISTEMI 775 ascend

www.blueascend.com ORDERINGCODE | hydraulics

GP40 POMPALARIN KODLAMA SISTEMI
ORDERING CODE OF GP40 PUMPS

(GP40 JIN087/087] C I S

Keceler / Seals

N NBR
VITON

— ic sizinti Hatti /
m Yandan Giris-Cikis Internal Drain Port
Side Inlet-Outlet Var / Available
Arkadan Giris-Cikis
1281 Rear Inlet-Outiet Yok / Absent

Cok Kamali Mil
Spline Shaft 6x21x25 DIN 5463

m Cok Kamal Mil
Spline Shaft 8x32x36 DIN 5462

iletim Hacmi / Displacement
cm?/dev(cm?®/rev)

063 = 63,8 cm¥dev(rev Cok Kamali Mil

) )
073 = 72,2 cmé/dev(rev) S2) gmn&ﬂ%f;geg%‘?s
087 = 86,1 cm3/dev(rev)

109 = 107,3 cm®/dev(rev)

133 = 131,6 cm®dev(rev)

151 = 148,3 cm®dev(rev)

On Kapak / Front Cover
E 3 Delikli @73/ 3 Holes @73
K] 4 Deiiki @80/ 4 Holes @80

Donis Yonu / Rotation

Sol Dénus / Counter-clockwise
Sag Donus / Clockwise
E] Cift Donus / Reversible

- Kodlama Ornegi (Tekli) ; GP40.087.CST1N - Kodlama Ornegi (Tandem) ; GP40.087/087.CST1N
Code Example (Single) Code Example (Tandem)

REV. AG 17 /09.15 | 115.



égb gls%een SAFT & KAPAK TIPLERI @EAR
hydrau |ic(§,I SHAFT & COVER TYPES | GP40 Hﬂv@wiﬂ@ PMMP%

GP40 SAFT TIPLERI / GP40 SHAFT TYPES

[ 28,1 32 5=
Sikma torku  100Nm

- 27,8 11 Tighten torque
/\}9
4003 (

— 773%2‘7— 1’ = T A
1| N ]
Ay Kama ~
Woodruff key
M14x1,5

36,8

—Ref. Cap : 21,59
Mil - Shaft Ref. diameter
8x32x35 - DIN 5462

Maks. Tork 350 Nm — Koniklik : 1/8 Maks. Tork 240 Nm
Max. Torque Taper Max. Torque
38
[ ———T 7

x Mil - Shaft B \
6x21x25 - DIN 5463 Mil - DIN 9611 SAE 1 3/8"

15 B6x30x35 - Shaft

[~
o

Maks. Tork 400 Nm Maks. Tork 300 Nm
Max. Torque Max. Torque

GP40 ON KAPAKLAR / GP40 FRONT COVERS

150 E 150 B

l {1t
Il
g @ /‘\\@ — g _ |
KN ﬁéé _4‘»%/’/?4%_ ss
82 C@O § 7$§%ﬁf§ A ‘.‘/ Ny 18
Sl i
= ! =] \?})Ze/l?k e o1 | ’
. e ? s
9%

I116|REV.AG17/09.15



o } blue
TEKNIK BILGILER > ascend
www.blueascend.com GP40 | TECHNICAL INFORMATION | hydraulics

iletim Hacmi Maks. Basing / Max. Pressure Maks. Hiz Min. Hiz

Pompa Tipi Displacement P3 Max. Speed Min. Speed

Pump Type

crigionron a5 o

GP40.063 63,8
—— ] 280 300 320

GP40.073 72,2

2750
GP40.087 86,1 260 280 300 300
GP40.109 107,3 240 260 280
GP40.133 131,6 220 240 260

2500
GP40.151 148,3 180 200 220

P1: Surekli calisma basinci P2 : Aralikli calisma basinci P3 : Ani basing
Continuous pressure Intermittent pressure Peak pressure

BASINC DEGISIMi / PRESSURE DEFINITION

Ps Mak. Ani Basing / Max. Peak Pressure
~
5
oy S P, I I \ Mak. Aralikli Calisma Basinci / Max. Intermittent Pressure
a2 P Mak. Siirekli Calisma Basinci / Max. Continuous Pressure
g3 \
7]
<
o
» t(s)
< > < > 2 Aralikh Calisma Arasindaki Faz
max. 30s min. 240s Pause Between Two Intermittent Cycles
GP40 Pompalarin Giic Egrileri e
Power Curves of GP40 Pumps GP40 Pompalarin Debi Egrileri
Flow Curves of GP40 Pumps
200 bar 150 bar 100 bar 50 bar 350 350
300 300
250 bar \ =
250 < £ 250
-~ 151cc
\ 200 E > 200 133cc
N\ ) ) 109cc
N =150 = = 150 = 87cc
]
100 E = 100 ///é e
3 \\ 50 w 50 —
0 0
120 100 80 60 40 20 500 1000 1500 2000
Giig (kW) Devir (d/d)
Power Speed (rpm)

GP40 Pompalarin Tork Egrileri
Torque Curves of GP40 Pumps

700
151cc

600
133cc
T 500
4 109cc
<~ 400
ov 87cc
= g_ 300 73cc
- 63cc
|2 200 ///
100 =
=
50 100 150 200 250 300
Basing

Pressure (bar)

REV. AG 17 /09.15 | 117.



égb gls%eend DISLI POMPALAR @EAR

hydraulics | GEARPUMPS GP40 Hﬂv@w &H P@MP%

[

TiPi l
15O EVess

i
‘
I

I p—

150

7@ 7l
15 36,8
O
* + — Y
S e
et =
" B - 7 |53 . i
:L_, g N =
IS
o
il Ll ]
y I
27,8 g
9 th
g M10 \mz,;
A 04 55 =) 4 Delik
A 40 Holes
B 2 80
96

o iletim Hacmi Maks. Basing Maks. Hiz
Pompa Tipi .
Pump Type Displacement | Max. Pressure Max. Speed Axo4
cm3/dev(cm3/rev) (bar) d/d (rpm) c c
GP40.063.CRM1N
63,8 136,3 | 203,0
I G1
72,2
2750
86,1 260 141,0
G 1-1/4”
107,3 240 1450 | 217,3
G1”
131,6 220 148,0 | 2259
2500 G 1-1/2”
148,3 180 153,3 | 232,3

G 3/4”

137,3 | 204,6

209,6

I118|REV.AG17/09.15



www.blueascend.com

TiPi

150 TYPE

186

31,3

15, 36,8

GPR40

Q9

¢

-0,03

@80 006

A 04

27,8

55

Pompa Tipi
Pump Type

GPR40.063.CRM1N

GPR40.063.ARM1N
GPR40.073.CRM1N
GPR40.073.ARM1N
GPR40.087.CRM1N
GPR40.087.ARM1N
GPR40.109.CRM1N
GPR40.109.ARM1N
GPR40.133.CRM1N

GPR40.133.ARM1N

GPR40.151.CRM1N

GPR40.151.ARM1N

iletim Hacmi
Displacement
cm?3/dev(cm?3/rev)

Maks. Basing
Max. Pressure
(bar)

15014 (DIN 5462)

N
)

blue

éQ«'Bascend
hydraulics

DiSLI POMPALAR
GEAR PUMPS

150

80

O]

AN/
[ ))“(% A

[/

M10

\ ?12,5
4 Delik

Holes

40

80

96

(@}

Maks. Hiz
Max. Speed
d/d (rpm)

G 1-1/4”
107,3 240 1450 | 2215
G1”
131,6 220 148,0 | 2305
2500 G 1-1/2"
148,3 180 1533 | 236,5

REV. AG 17 /09.15 | 119.



égb gls%eend DISLI POMPALAR @EAR

hydraulics | GEARPUMPS | GP4O MW@M&H@P@MP%

TIPI
UNI TYPE

6,6 Faydali Dis Boyu
Full Thread

15

1

1 Mil - Shaft
3)\? 6x21x25 - DIN 5463
16

A <04 3

186

31,3
=~
%

-0,03

@52 0,06

P - iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
ompa Tipi )
Pump Type Displacement | Max. Pressure Max. Speed A o4

cma/dev(cm?/rev) (bar) did (rpm)

GP40.063.CST1N

63,8 124,0 | 190,7
——————— G1” G 3/4”
72,2

125,0 192,3
2750
86,1 260 128,7 197,3

G 1-1/4”

107,3 240 132,7 | 205,0
G1”

131,6 220 135,7 | 213,6
2500 G 1-1/2”

148,3 180 141,0 | 220,0

I120 | REV.AG 17 /09.15



WWW.blueascend.com

186

iletim Hacmi
Displacement

Pompa Tipi

Pump Type
. cm?3/dev(cm?d/rev)

blue
DISLI POMPALAR y«b ascend

GPR40 GEARPUMPS | hydraulics

16,6

Faydali Dis Boyu

Full Thread

15

0,03

@52 0,06

T 7

Mil - Shaft
6x21x25 - DIN 5463

(@}

Maks. Basing
Max. Pressure
(bar)

Maks. Hiz
Max. Speed
d/d (rpm)

Giris — Inlet Cikis - Outlet

63,8
72,2

GPR40.087.CST1N
86,1
GPR40.087.AST1N

GPR40.109.CST1N
107,3

GPR40.109.AST1N

GPR40.133.CST1N
131,6
GPR40.133.AST1N

GPR40.151.CST1N
148,3

GPR40.151.AST1N

280 G1” G 34"
1250 | 1977
2750
260 128,7 | 2017
G 1-1/4”
240 132,7 | 209,2
G1”
220 1357 | 218,2
2500 G1-1/2”
180 141,0 | 2242

REV.AG 17 /09.15 | 121 I



oS

blue
ascend

hydraulics

SAE

DISLI POMPALAR

GEAR PUMPS

TIPI
TYPE

186

31,2

GP40

W RAULIGR

0,03

)H
[
280 oloe

S

I122 | REV.

A 04

112

Pompa Tipi
Pump Type

iletim Hacmi
Displacement
cmd/dev(cm?3/rev)

GP40.063.CRS2N

63,8

AG17/09.15

Maks. Basing
Max. Pressure
(bar)

\ Mil - Shaft

B6x30x35 - DIN 9611 SAE 1 3/8"

Maks. Hiz
Max. Speed
d/d (rpm)

80

BIEAIR

UMIPS

40

104

80

96

\ 212,5
4 Delik

Holes

Cikis - Outlet

G 3/4”
72,2 137,3 | 204,6
2750
86,1 260 141,0 | 209,6
G 1-1/4”
107,3 240 1450 | 217,3
G1"
131,6 220 1480 | 225,9
2500 G 1-172
148,3 180 153,3 | 232,3




- @9 blue
DISLI POMPALAR - ascend
www.blueascend.com GPR40 GEARPUMPS | hydraulics

TIP
SAE TYPE

M 38

31,2

4
0,03

186

+
[Pt

H

|
%

|
- I
@80 -0,06

80

A <04 \
Mil - Shaft

8 12 B6X30x35 - DIN 9611 SAE 1 3/8"

i iletim Hacmi Maks. Basing Maks. Hiz Girig — Inlet Cikis - Outlet
Pompa Tipi )
Pump Type Displacement | Max. Pressure Max. Speed ]
cm?3/dev(cm?3/rev) (bar) d/d (rpm) c C
GPR40.063.CRS2N
GPR40.063.ARS2N
GPR40.073.CRS2N
GPR40.073.ARS2N
GPR40.087.CRS2N
GPR40.087.ARS2N
GPR40.109.CRS2N
GPR40.109.ARS2N
GPR40.133.CRS2N
GPR40.133.ARS2N ’ ’ ’
G 1-1/2”

GPR40.151.CRS2N
GPR40.151.ARS2N

REV.AG 17 /09.15 | 123 I



The Future of Hydraulic Power
Hidrolik Gucun Gelecegi

blueascend.com

PARK MEDYA
www.parkmedya.org

www.kosgeb.gov.tr

KOS GE B Basim Tarihi: 09.11.2017

@Q blue
< ascend
hydraulics

b 4

Konya Organize San. Bol. Evrenkoy Cd.
No: 31 Selcuklu/Konya Turkiye
Tel: +90 332 239 25 41 (3 line)
Fax: +90 332 239 25 44
info@ascendustri.com




